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f\nglu-ﬂﬁ;inzzeﬁzl;anl (Juniar)

SEMESTRAL ASSESSMENT 1 (2018)

PRIMARY 3
MATHEMATICS
Booklet A
Wednesday _ 9 May 2018 1 h 45 min
Name:__ ' ( ) Class: 3.( )
INSTRUCTIONS TO PUPILS
1 Do not tumn over the pages until you are told to do so.

Follow all instructions carefully.

3 There are 18 questions in this booklet.
4 Answer ALL questions.
5

Shade your answers in the Optical Answer Sheet (OAS) provided.

This question paper consists of 7 printed pages (inclusive of cover page).
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Section A

Cuestions 1 to 6 carry 1 mark each and questions 7 to 18 camy 2 marks each,
For each question, four options are given. One of them is the correct answer,
Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the

Optical Answer Shest (OAS),

{30 marks)

1.

In 3871, the valus of the digit 9is__

1)
2)
3
)

2]

a0
900
2000

Find the sum of 1353 and B850,

1)
2)
3)
4)

7109
200

a20d
B2

Sublract 1905 from 4000,

2)
3)
4}

3108
3150

Page AZof T
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bx4=

1) 4+4+4+4+4
2) 4x4x4x4x4
3) 5+5+5+5+5
4) 5x5x5x5x5

372x8=

1) 2476
2) 2796
3) 2966
4) 2976

240 + 460 = tens

1 7
2) 70
3) 700

4y 7000

Page A3 of 7
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A packet of 63 sweets is shared equally among 9 children. How
many sweets does each child get?

1) 7
2) 54
©3) 72
4 4

Gopal had his lunch at 11.30 am. He took 30 minutes to finish his
lunch. At what time did he finish his lunch?

1 11.00am.
2}y  12.00 am.
3) 11.00p.m.
4}y 12.00 p.m.

2,4_0,1

B-"8°878

What is the missing number in the box?

H
2}
3)
4)

0 ~N & O

Page Ad of 7
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10.

1%

12.

The difference between 2 numbers is 2308. One of the number is
3714. Which of the following is the other number?

1)
2)
3)
4)

1414
1416
5012
6022

Mr Tan sold 2505 fewer apples than Mr Lim. Mr Lim sold 4825

apples. How many apples did Mr Tan and Mr Lim sell?

1)
2)

3)

4)

2275
2320

7145

7330

There are 1065 girls and 1349 boys in a school. 890 pupils wear
spectacles. How many pupils did not wear spectacles?

1)
2)
3)
4)

1524
1542
2414
2441

Page ASof 7
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13,

After distributing 7 boxes of sweets, Brenda has 14 sweets left. Each

box contains 16 sweets. How many sweets does Brenda have at first?

1)
2)
3)
4)

98

112
114
126

14, Tom and Christine have 72 stamps altogether. Tom has 8 ti_m‘es as

18.

many stamps as Christine. How many stamps does Tom have?

1)
2)
3)
4)

Jonathan eamed $130 on Monday. He earned $150 each day for the
next 4 days. How much did he earn altogether in 5 days?

1

- 2)

3)
4)

$600
$730
$750
$1400

Page AGof7
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16.  .John has 45 cards. Peter has 3 times as many cards as John. How
many cards do they have altogether?

1) 90
2) 135
3) 180
4) 225

17.  -Kelly bakes 322 cakes. She wanis to pack all the cakes into boxes.
Each box can hold 3 cakes. What is the least number of boxes she
need?

1) 107
2) 108
3) 963
4) 966

18,  Alice had $50 more than Siti. Siti used $15 to buy a neckiace. Inthe
end, Alice had twice as much money as Siti. How much did Siti have
at first? |

1 $40
2) %65
3) $80
4)  $110

End of Bookiet A

Page A7 of 7
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Anglo-@linese Schaol

(Euniur).

SEMESTRAL ASSESSMENT 1 (2018)

PRIMARY 3
MATHEMATICS
Bookiet B
Wadnesday _- 9 May 2018
Name: { } - Class: 3.(
INSTRUCTIONS TO PUPILS

1

2
3
4

Do not turn over the pages until you are told fo do so.

Follow all instructions carefuily.

" There are %ﬁquesﬁons in this booklet.
g

Answer ALL questions.

1 b 45 min

) Parent's Signature:___

Passible Marks
Section
Marks Obtained
A 30
B 30
C 20
Total 80
i

This question paper consists of 13 printed pages (inclusive of cover page).
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Section B

Questions 19 to 24 carry 1 mark each.

Questions 25 to 36 cany 2 marks each.

Show your working clearly and write your answers in the boxes provided. For
questions which require units, give your answers in the units stated. (30 marks)

18.  Wiite seven thousand, one hundred and ninety-nine in numerals.

20. Whatis 100 more than 37247

21. What is the missing number? - .

56 + ' =8

Page B2 of 13
Sub-Total :
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22, What time is shown on the clock below?

p.m.

L2
R T T
What is the missing fraction in the box?

24.  Adrian bought some cupcakes for $54. Each cupcake costs $8. How
" many cupcakes did he buy?

Page B3 of 13
Sub-Total :
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25

28,

27.

Complete the number pattern.

4950, . 0460, 5715, 5970

~Look at the numbers below. Add 170 to the greatest number.

3608, 3068, 3680, 3860

What is the greatest 4-digit odd number that can be formed with ali the

digits?

Page B4 of 13

Sub-Total :
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28. What is the remainder when 297 is divided by 47

29.  Awange the fractions from the greatest to the smallest

6 J s
| wa
~N| =,
D=

(greatest)

30.  inabox, there are 3456 red buttons. There are 275 fewer red buttons
than blue buttons. How many blue buttons are there?

Page BSof 13
Sub-Total :
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. How many more rectangles must be shaded so that e of the ﬁgure is

shaded,

32. The sum of two numbers is 7025. The smaller number is 3018. What

is the larger number?

33. Some boys and girls went for a playdate overthe weekend. There were
' 4 times as many boys as girls, 17 girls went for the playdate, how many

more boys than gifs were there?

Page B6 of 13

Sub-Total :
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34 There were 38 boys and 75 girls in the school hall. Each of them had
4 sweets. How many sweets did they have altogether?

35. Krishna has $100 and Sharon has $78. How much money must
~ Kirishna give to Sharon so that they have an equal amount of money?

36.  Atabookshop, a packets of 3 pens cost $2. How many pens can June
buy with $18?

Page B7 of 13 ‘
Sub-Tetal :
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Section C

Questions 37 and 40 carry 3 marks each.
Questions 41 and 42 canry 4 marks each. For each question, show your working
clearly as marks will be given for working and relevant statements.

{20 marks)

37. Ashiey bought a mobile phone and a camera for $1738. The camera
cost $998. How much more did the camera cost than the mobile

phone?

Ans: {31

Page BB of 13
Sub-Total :
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38. Thene were some passengers on a bus at the beginning. After 8
passengers alighted from the bus and another 32 passengers boarded
the bus, there were 62 passengers onthe bus. How many passengers

were there on the bus at first?

Page BY of 13

Ans: [3]

Sub-Total :
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39, Anartist had 687 beads. He created an art plece by pasting 9 beads
on each art piece and he had 111 beads left. How many art pieces did

the artist create?

Page B10 of 13

Ans: [3]

Sub-Total :
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40.  Aden, Brenda and Carol had some books. Aden and Brenda had 406
books altogether. Carol had 120 books. Brenda had 3 times as many
books as Carol. How many books did Aden have?

Page B11 of 13

Ans: [3]

Sub-Total ;
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41.  Gavin and Jery shared 912 stamps. After Gavin gave Jerry 156
stamps, Gavin had 3 times as many stamps as Jerry.

(@) How many stamps did Jerry have in the end?

(b} How many stamps did Jerry have at first?

Page B12 of 13

Ans: (a) __{2]

(b) (21

Sub-Total :
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42. A car has 4 wheels and a motor cycle has 2 wheels. There are 28 cars
and motor cycles at a car park. Given that the total number of wheels
is 80, find the number of motorcycles at the car park.

Ans: (4}

End of BookletB

Page B13 of 13
' Sub-Total :

i
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ANSWER KEY

YEAR : 2018

LEVEL  : PRIMARY 3

SCHOOL : ANGLO — CHINESE SCHOOL (JR)
SUBJECT : MATHEMATICS

TERM :SA 1

SECTION A

o

Q1 Q2 1Q3 Q4 |1 Q5

[y
i

Q6 Q7 Qs Q9 Q10

Q11 Q12 Q13 Q14 |3 Q152

B |t | ot | (2
RS EE-GR SR S

W W ||

Q16 Q17 Q18

SECTION B

Q19) 7199
Q20) 3824

Q21)7

Q22) 1.50pm -
Q23) =

Q24) 9

Q25) 5205

Q26) 4030

Q27) 7423

Q28) 1

11 1 1
20~ - - =
Q9)3,3,%,5

Q30) 3731
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Q31) 4
Q32) 4007
Q33) 51
Q34) 452
Q35) $11
Q36) 27

SECTION C

Q37) 1738 — 998 =740
998 — 740 = $258

Q38)62-32=30
30+8=38

Q39) 687 — 111 =576
576 +9=64

Q40) 120 x3 =360
406 — 3606 =46

Q41a) 912 = 4=228
Q41b) 228156 =72

Q42) (Assume all are motorcycles) 28 x 2 =56
Extra cars: 90 - 56 = 34
Noofecars:34+-2=17
No of motoreycles: 28 —17=11 _

&
END
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CATHOLIC HIGH SCHOOL
SEMESTRAL ASSESSMENT ONE (2018)
PRIMARY THREE

- MATHEMATICS

Name ( )

Class : Primary 3

Date : 9 May 2018 Secign A o
Duration : 1 h 45 min Section B

’ Section C j‘l;
Parent’s Signature: Total Marks 30

INSTRUCTIONS TO CANDIDATES
Do not turn over this page until you are told to do so.

Follow all instructions carefully.

Answer all questions.

For section A, shade your answers in the Optical Answer Sheet (OAS)
provided. c

This booklet consists of 17 printed pages excluding the cover page. .
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Section A

Questions 1 to 15 carry 2 marks each. For each question, four options
are given. One of them is the correct answer. Make your choice (1,2, 3
or 4). Shade the correct oval (1, 2, 3 or 4) on the Optical Answer Sheet
(OAS). All diagrams are not drawn to scale. (30 marks)

1. In 8245, the digit 2 is in the place.

(1) ones

{2) tens

(3) hundreds

(4) thousands ( )

2. Which of the following numbers is the greatest?

(1) 9431
(2) 9413
(3) 9314
(4) 9341 | ( )

3. Add 3162 and 5087.

(1) 1925

(2) 2925

(3) 8149

4) 8249 ( )

1 (Go on to the next page)
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The value of the digit 6 in 7645 is

(1 ©
(2) 60
(3) 600
(4) 6000

5264 is 30 more than

(1) 5234
@2) 5261
(3) 5267
@) 5294

Find the difference between 5409 and 329.

(1) 5080
(2) 5120
(3) 5728
(4) 5738

What is the remainder when 87 is divided by 6?

(1) 14
@ 17
3 3
@) 4

(Go on to the next page)
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Which one of the following has the same value as 4 x 8?

(1) 4+4+4+4
(2) 8+8+8+8
(3) 4x4x4x4
(4) 8x8x8x8 T )

Multiply 432 by 7.

(1) 2814
(2) 2824
(3) 3014

. (4) 3024 ( )

10.

There were 3340 flowers in a shop. 210 flowers were sold. How
many flowers were left in the shop?

(1) 1130
() 1240
(3) 3130
(4) 3550 _ ( )

11.

263+ 5= R3

(1) 52
2) 55
3) . 258
(4) 268 ( )

3 {Go on to the next page)
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12.

On Monday, Amanda made 1508 paper stars. On Tuesday, she
made 364 paper stars. How many paper stars did she make
altogether?

(1) 1862
(2) 1872
(3) 4148
4) 5148 ( )

13.

A bookstore sold a pen for $3. lan bought 9 pens. How much did
he pay altogether?

(1) %6

2 $12

(3) $3

4) $27 ( )

14.

Box A had 8 marbles. Box B had twice the number of marbles in
Box A. What was the total number of marbles i in Box A and B?

(1) 10
2) 16
(3) 24
(4) 32 ( )

4 (Go on to the next page)
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15.

The graph below shows the number of books read by five girls,

Books Read

Number of Books

Who read 8 fewer books than Sarah'?

(1)

@)

(3)
(4)

Joyce
Grace
Esther
Audrey

END OF SECTION A

5 - {Goon 'to the next page)
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Section B Do not write

in this space
Questions 16 to 21 carry 1 mark each. Show your working clearly in
the space and write the correct answers in the spaces provided. For

questions which require units, give your answers in the units stated.
All diagrams are not drawn to scale. (6 marks)

16.  Write four thousand, five hundred and eight in numerals.

Ans;

17.  Arrange the following numbers in order, beginning with the
greatest.

3961, 9316, 1639, 6319

greatest smallest

18. + 1300 = 1386

6 - {Go on to the next page)
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18.  Find the product of 9 and 7. Do not write
in this space
Ans:
20. Divide 48 by 8.
Ans:
21.  What is the missing digit in the box?
4 3 2 8
11?217 4
3 0 5 4
Ans;
Total marks for questions 16 to 21
6
7 (Go on to the next page)
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Questions 22 to 35 carry 2 marks each. Show your working clearly | Ponotwiite
and write your answers in the spaces provided. For questions which in this space
require units, give your answers in the units stated. All diagrams are
not drawn to scale. (28 marks)

22. Complete the number pattern below. .
925 , 945 , ? , 985, 1005, 1025 , 1045

23. is 15 less than 525.

_Ans:

24.  Find the quotient when 823 is divided by 4

Ans:

8 (Go on to the next page)
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25.  What is the smallest 4-digit odd number that can be formed | Do > ot wako
using the digits 9, 4, 1 and 3? in this space

Ans;

26. Mrs Ng had $3258. She bought a computer which cost
$2314. How much money did she have left?

Ans:$

27. There are 10 rows of chairs in the classroom.  There are 8

chairs in each row. How many chairs are there in the
classroom?

9 (Go on to the next page)
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28, A blouse cost $18. A dress cost thrice as much as the %ﬁ;""’i‘e
blouse., How much more did the dress cost than the blouse? | ™ s space

Ans:$

29. Mandy had 2520 stamps. She had 440 fewer stamps than
Celine. How many stamps did Celine have?

Ans:

30. Minah made 5 paper hearts in a day. How many paper
hearts would she make in 7 days?

Ans:

10 (Ge on to the next page)
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31.

Angie had some money at first. After her mother gave her
$235, she now had $1058. How much did Angie have at
first?

Ans:$

32.

Mrs Chong gave 189 cookies to her pupils. Each pupil
received 7 cookies. How many pupils did Mrs Chong give the
cookies {o0?

Ans:

Do not write
in this space

33.

Peter and Nicholas shared a sum of money equally. After

Nicholas gave $25 to Peter, how much more did Peter have
than Nicholas?

Ans:$ | 3

11 (Go.on to the next page)
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The bar graph below shows the number of visitors at an art gﬁgtwrﬂe
exhibition from Monday to Friday. space
Study the graph carefully and answer questions 34 and 35

Number of visitors at an art exhibition
250

200
Number I
of I
visitors 150 .
100 |
" I |1
ol

Monday Tuesday Wednesday Thursday Fﬁday

34. How many fewer visitors visit the art exhibition on Monday
than on Wednesday?

Ans:

35. On which day were ihere 4 times as many visitors as
Thursday? .

Ans:

Total marks for questions 22 to 35
: 28
END OF SECTION B

12 {Go on to the next page)
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Section C Do not write

In this space
For Questions 38 to 40, show your working clearly and write your
answers in the spaces provided. The number of marks available is
shown in brackets [ ] at the end of each question or part-gquestion.
All diagrams are not drawn to scale. (16 marks)

36.  Mrs Tan bought a sofa and a bed. The sofa cost $3600. The
bed cost $1500 more than the sofa. How much did Mrs Tan
pay aitogether?

Ans: 3]

13 (Go on to the next page)
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37.  There were 4872 children in the hall at first. 2120 of them | Do notwrite
were boys and the rest were girls. Another 167 giris entered | ™ S Pace
the hall. How many girls were in the hall in the end?

Ans: [3]

14 (Go on to the next page)
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38. Rina baked some cookies. She packed them into 125 boxes | Do notwrite
of 8 cookies each. She then had 4 left. How many cookies | ™ s space
did she bake?

Ans: i3]

15 {Go on to the next page)
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39.

There are some rulers, pens and erasers in a box. There are ,?,‘;,:‘;' write
474 rulers. There are 63 fewer pens than rulers. There are space .
131 fewer erasers than pens. How many erasers are there in
the box?

Ans: [3]

16 (Go on to the next page)
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There are 894 apples, oranges and mangoes in a box. There | Donotwrits

are 324 mangoes. There are 5 times as many apples as | ™" Pec®
oranges.

a) How many apples and oranges are there altogether?

b) How many oranges are there?

Ansz a) 12
Ans: b) [2]
End of Paper

17 - {(Go onto the next page)
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SCHOOL : CATHOLIC HIGH PRIMARY SCHOOL

LEVEL : PRIMARY 3
SUBJECT : MATH
TERM : 2018 SA1
CONTACT:

BOOKLET A

BOOKLETB

Q16) | 4508

| Q17) | 9316, 6319, 3961 , 1639
Q18) [1386-1300 =86

Qi9) |9X7=63

Q20) |6

Q21) |2

Q22) | 965

Q23) |525-15=510
Q24) | 205

Q25) | 1349

Q26) | $3258— $2314 = $944
Q27) |10X8=80

Q28) |$18x3=$54

$54 — $18 = $36

Q29) | 2520 + 440 = 2960
Q30) |5x7=35

Q31) 1058 - 235 = $823
Q32) |27

Q33) | $25+$25 = $50

Pgil
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Q34) [220-140=80
Q35) | Friday
Q36) | Bed : $3600 + $1500 = $5100
Total : $5100 + $3600 = $8700
Q37) | Girls at first : 4872 — 2120 = 2752
Girls in the end: 2752 + 167 = 2919 girls
Q38) | How many cookies she packed:125 x 8 = 1000
Total : 1000 + 4 = 1004 cookies
Q39) |474—63 = 411
411 - 131 = 280 erasers
Q40) |a)6u=570

b)1u =570 +6 =95

Pg2
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Namé.: ( )

Class: Primary 3

CHIJ ST NICHOLAS GIRLS’ SCHOOL (PRIMARY)

2 4 4 ¥

Primary 3 Mathematics

2018 Semestral Assessment One

Booklet A

8 May 2018

TOTAL TIME FOR BOOKLETS A AND B: 1 HOUR 48 MINUTES

Do not tum over this page until you are told to do so.
Follow alf instructions carefully.
Answer all questions.

This booklet consists of 6 printed pages including the caver page.
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Section A 19 x 2 marks)

For sach question, four options are gheen. One of the oplions i the comect
arawer. Shade e corect oval (1, 2, 3 or 4) on the Opliced Answer Shest.
Please use only 2B pancl and SHADE the oval complataly.

1. What is eight thousand, two hundred and four writhen in numerala?
(1) B24
(4} 8024
(3} G204

(4} 8240

2 Incogs thediptSisinthe  place.
(%} thousands
(2} hundreds
(A tans

(4} anes

a3 B 100 more than 1237,
What [z the mEsing number in the blank?

(1) 237

{2 1137
{3) 1337

(4) 2237

hMaod =3 harma dnr? Wicit cralahirbrr ©n


Rum
Stamp


4 3000-644=
{1) 2355
(@) 2356
(3) 2366

(4) 2466

5. Add 1517 to 3380,
(1) t883
(2) 2897
(3) 4897

(4) 4997

6.  Whict: of the following is not the samme as 8 x 57
(1) S groups of &
(2 8+8+8+3+8
(3 8x8x8x&x§

(4) 5+5+5+5+5+5+65+5§

Need a home tutor? Visit smiletutor.sg



A baker has 63 cupcakes. He packs 7 cupcakes in each bax.

How many boxes does he need?

{t) 8
(2) 9
(3) 56

(4) 441

What is the product of 324 and 82

{1} 1944
(2) 1924
(3) 318

(4) 54

What is the quotient when 558 is divided by 9?2

(1) 1
(2} 60
(3) 61

(4} a2
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10.

11.

12.

The sum of the values of the digit 1 and the digit § in 5917 is .

(1} 51
{2) 501
(3) 5001

(4} 5010

Look at the number pattern below. -
102, 112, 106, 16, 110, 120, 124, 118

Find the missing number.

(1) 108
) 114
(3) 126
(4) 130

Azri is thinking of 2 number. After he sublracts 30 from the rrumber
and adds another 157, he: gels 2268. What is the number he is
thinking of?

{1) 2081

(2) 214t

(3) 2395

(4) 2455
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13. Catherine wrote 720 words in her composition. She wrote 135 words

14,

15.

mere than Rani. How many words did Rani write?

{1).855
() 615
(3) 595

(4} 583

Mr Wong bought 48 eggs. 4 eggs were rotfen and bad to be thrown
away. He then packed the rest equally into 6 trays. How marny eggs
were left unpacked?

(1) 44
(@) 2
3} 7

(4) &

Kathy invited 8 friends to a tea party. She prepared 3 lollipaps for
each. fiiend. 2 friends did not wm up. She gave all the lollipops
equally to these filends who tumed up for the party. How many

{1 &6
2 2
(3} 12
4} 4
*End of Booklst A*
6
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Name: { )

Class: Primary 3

CHit ST NICHOLAS GIRLS' SCHOOL (PRIMARY)

% %

Primary 3 Mathemafics

2018 Semestral Assessment One

Booklet B
8 May 2018

Booklet A : f 30
Booklet B - ! 50
- Total: - I 80

Parent's/Guardian’s Signature

- TOTAL TIME FOR BOOKLETS A AND B: 1 HOUR 45 MINUTES

Do not tum over this page untit you are told to do so.
Follow all insiructions carefully.
Arswer all questions.

This booklet consists of 13 printed pages including the cover page.
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Section B (15 x 2 marks)

Write down your answers. in the spaces provided. For questions which require units, give | Bonat

17.

18.

your answers in the units stated. Showe alf warkings clearly. write in
this
- space
16.  Look at the numbers below.

Arrange the numbers from the greatest to the smallest.

Ans

greatest’

6137=6000+__ = +7
What is the missing number?

5665 + 2335 = tens -
What is the missing number?

Ans:
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18, There were 913 men and 860 women at a concert. How many adults were thera | Do not
writs in
altogether? this

20. Find the missing number.

56 = x7

Ans:

21 A table costs $273. A sofa costs 4 times as much as the table. How much does
the sofa cost? -

Ans:§
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22, Afloristhas 752 stalks of roses. She ties 8 stalks of roses in:  bunch. " | bonot
- weite in

How many bunches of roses wilt she have?

Ans :

23. Logk at the numbers below.

2350 - 1279 2396 | 4823 1§

Find the difference between the greatest number and the smaflest even number.

Ans:

24. I am a 2-digit nwmber. [ am in the multiplication table of . | am between 25 and
40. The digit in my ones place is twice the digit in my tens place. What nuraber

am k?
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25. Look at the iterns below. F Do not

: \mte in
Washing machine this
Mini Refrigerator "
Ny
$154 f

Ms Uma spent $700 on 2 of the items. Which items did she buy?

Ans : and

26. Use-all the digits below.

s L 2 L1 e

What is the greatest 3-digit odd number that can be divided by 57 .
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27.  Valerie collects stickers. She pastes the stickers in her sticker book as shown | Donet

below. e n
 epoce
| suw| |
; - o 3R v g«
PERlleen| | So0||ves
| i w0
Page 1 | Page 2 - Page 3 Page 4
The nurber of stickers on each page follows a pattem.
a) How many stickers does page 6 have?
b) Which page has 30 stickers?
Ans:3a) I
b) Page

28. A set of spoon, fork and knife cost $12. Geetha bought 9 such sets. She paid the
cashier $150. How much change did she receive? '

$f2

Ans:. %
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Two pu;';lils: described the number below to their teacher. Do not

write in:
 fhis
' space
3398 |
Look at the statements below.
Write (T) for true and (F) for false in the boxes.
Pupit Statement TIF |
Jason The digit in the thousands place is the same as the digit

 in the hundreds place.

Linda The digit in the tens place is 1 more than the digit in the
' ones place. :

A delivery man has to deliver 130 parcels. He can deliver at most 7 parcels
every trip. What is the smatlest nurber of trips he must make to deliver all the
parcels?
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- Do not
- wiite in
For questions 3% to 36, show your workings clearly and write your answers in the spaces | this
provided. The number of marks available is shown in brackets [ | at the end of each | *-°°
question or part-question.

31. There were 472 children at a funfair. There were 70 more bays than gits.
How many girls were there at the funfair?

Ans: [3}
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32. A caron of durians and a bag of papayas weigh 20 kg altogether. The carhan of mqf
. ' e i

durians weighs 4 times as much as the bag of papayas. What is the mass of the | this
canton of durians?

Ans : [3]
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33. Zakir wanted to buy a lapfop that cost $2178. He had saved $560. His mother Do not
gave him some money but he stilt needed $1031. How much money did his this "
mofher give him? i

Ans : [3]
10
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34.  Mdm Chin sold 4 similar belts and 3 similar wallets for $432 altogether. Do nat
The 4 belts cost $120. How much: did 1 wallet cost? - = i“l::e "
Ans [3]
11
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35.  Jenny and Marcus had 280 crayons altogeﬁ‘ze( Aftet Marcus gave 36 crayons to | Denat
ite
Jenny, Jenny had thrice as many crayons as Marcus. How many crayoens did gss 3
Marcus have at first? space
Ans : [4]
12
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A train carmied 470 passengers from Station A to Station B. At Station 8, same | Donot
passengers alighted and 64 passengers boarded the train. There are now g;'sh "
391 passengers on board the train, How many passengers alighted the trair at space

Station B?

Ans : [4]

“*End of Paper**

13
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ANSWER KEY

YEAR 2018
LEVEL PRIMARY 3
SCHOOL CHI1J ST NICHOLAS GIRLS’
SUBJECT MATHEMATICS
TERM SA1l
Section A
Q1 Q2 Q3 Q4 | Q5 Q6 Q7 Q8
3 1 3 2 3 3 2 1
Q9 Q10 Q11 Q12 Q13 Q14 Q15
3 4 2 2 4 2 4
Section B

Q16 2609 , 2096 , 1906

Q17 130

Q18 800

Q19 1773 adults

Q20 8

Q21 §1092

Q22 94 bunches of roses

Q23 2473

Q24 36

Q25 Washing machine and Toaster

Q26 205

Q27 (a)
(b)

18 stickers

Page 10
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Q28

Q29

$42

Pupil Statement

T/F

Jason

in the hundreds place.

The digit in the thousands place is the same as the digit

Linda

ones place.

The digit in the tens place is 1 more than the digit in the

Q30

29 trips

Section C

Q31

Q32

Q33

Q34

Q35

Q36

472 + 70 = 542
542 +2 =271
271 -70 = 201 girls

20+ 5=4
4x4=>16kg

$1031 + $560 = $1591
$2178 - $1591 = $587

$432 - $120 = $312
$312 -3 = $104

280+4=70
70 + 36 = 106 crayons

391 - 64 =327
470 — 327 = 143 passengers

End
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HENRY PARK PRIMARY SCHOOL
2018 SEMESTRAL EXAMINATION 1
' MATHEMATICS

L

Name:

PRIMARY 3

Class: Primary 3

Duration of Paper: 1 h 45 min

Marks;
Section A (MCQ) ” 4
R 13
Section B (Open-Ended)
| 45
Section C (Problem Sums)
22
Total
* 80

- Parent's Signature
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~ Section A: Multiple Choice Questions {13 marks)
Questions 1 to 5 carry 1 mark each. Questions 6 to 8 carry 2 marks each.

Choose the correct answer and write its number in the brackets provided.
You are required to shade the correct oval of your answer (1, 2, 3 or 4) in the
Optical Answer Sheet (OAS) provided.

1. What does the digit 8 in 8381 stand for?

(1) 8

(2) 80

(3) 800

(4) 8000 ( )

2. Which of the following numbers is the closest to 50007

(1) 4680
(2) 4980
(3) 5010
(4) 5100 ( )

3. Which of the following has the same value as 4 fives?

(1) 4+ 4+4+4

(2) 5+5+5+5

(3) 4x4x4x4x4 :

(4) 5x5x5x5x5 . i )

4,  What is the product of 357 and 3?

FPage 1
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5. - Mark has sorfle money as shown below,
- How much money does Mark have aitogether?

(1) $10.90

(2)$11.60

(3)$12.30

(4) $12.60 A )

Page 2
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What is the missing number in the following number pattern?

7146, 7142, ? , 7136, 7134, 7130, 7128, 7124

(1) 7132
(2) 7134
(3) 7138
(4) 7140

At a restaurant, 2741 chicken burgers were sold on Sunday,
835 fewer chicken burgers were sold on Monday than on Sunday.
How many chicken burgers were sold on both days?

‘(1) 19086
(2) 3576
(3) 4647
(4) 6317

Te 0 A0 2 3ed
Which of the following numbers has a reminder when correctly
divided by 77

(1)28
(2) 49
{3) 63
(4) 97 ( )

Jane had $90. She pa!d $14.50 for a pair of shoes and $26 85 for a
dress. How much money does Jane have left?

(1) $41.35
(2) $48.65
(3) $63.15 |
(4) $75.50 - S | S
(Gb on to Section B)

Page 3

Need a home tutor? Visit smiletutor.sg




A Section B: Open-Ended Questions (45 marks)

Questions 10 to 14 carry 1 mark each. Write your answers in the boxes provided,
For questions which reguire units, give your answers in the units siated.

10. What is 4 hundreds more than 88617

11. Find the sum of 2418 and 1026

12. Find the produciof 6 and 9

13.  Find the quotient when 368 is divided by 4

14. Esther has a total of 47 ten-cent coins. How much money does she have?

$

Page 4

Need a home tutor? Visit smiletutor.sg



Questions 15 to 34 carry 2 marks each. Show your working clearly and write your answers ~
in the spaces provided. For questions which require units, give your answers in the units

stated.

15, What is the missing number in the number line shown below?
?

o

1000 2000 3000 4000 5000

16. Use the following digits to form the greatest 3-digit even number.
Each digit can only be used once,

3 B 9

17. There are 967 fiction books and 3142 non-fiction books in the library.
How many fiction and non-fiction books aré there altogether?

Page b
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18. Find the difference between the greatest number and the smallest number shown | _

below.

1423

1432

1502

1482

18.  Study the table shown below. What are the values of (a) and (b) in the table?

Number of spiders

1

2

3

4

5

(b)

Number of legs

16

(@)

32

40

72

(a)

(b)

20.  Mrs Tan had 72 lollipops. She gave the lollipops to 8 children. Each child received
qual number of lollipops. How many loltipops did each child receive?.
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21. What is the gquotient and remainder when 784 is divided by g?

22. Fred bought 24 packets of red buttons and 16 packets of white buttons.
There are 6 butions in each packet. How many buttons did Fred buy altogether?

23. A bag of apples costs $3. Mr Ng bought some bags of apples and paid $18 in totat.
How many bags of apples did Mr Ng buy?

Page 7
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24 Ali paid a total of $6 for one marker and one pen. The marker costs twice as much
as the pen. What is the cost of the marker?

25. Asrange the numbers in order beginning with the greatest

[ 3425J [ 4325

j( 3542 ][ 3452 j

26. In the number pattern shown below, find the value of A and B.

850

| 845

810

825

840

855

835

830

Page 8
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27. Mary bought some sweets. She packed 5 sweets into a bag. After paéking 8 such -
bags, she had 4 sweets left. How many sweets did Mary have at first? '

-~

0%
28. Alice thoughtitwo numbers between 25 and 35. These two numbers can be divided
exactly by 4. What are the two numbers that Alice thought of?

and

29. Tommy baked 633 cupcakes. He packed all the cupcakes into boxes of 5
How many cupcakes were left unpacked?

Page &
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30. Jeremy thought of two numbers. The sum of the two numbers is 2113. -
The difference between the two numbers is 535. What are the two numbers?

and
31, Rick had 600 more marbles than Benny at first,
Rick then gave Benny 100 marbles,
a) Who has more marbles now, Rick or Banny?
(a)
Doy
b} How many more marbles had hep
(b) - more

32. Jane had some pens. She threw 18 pens away as they were spoilf
&he then bought another 26 pens. in the end, Jane had 93 pens.
How many pens did Jane have at first?

Page 10
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33. Each statement below is either true or false. For éach statement; put a tick { v} in.
the correct colymn. : .

Jareth has a coftection of 108 marbles.
He wants to give each of his friends 5 marbles.

Statement ' - ~ |True |False

(a) Jareth has enough marbles to give to 22 friends.

(b) Jareth buys 12 marbles to add to his collection.
Now, he has enough marbles to give 24 friends
5 marbies each.

34, Claire has $35. She has an egual number of 5-doliar and 2-doliar notes.
How.many 2-doliar notes does she have?

Page 11
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NAME: _ .  CLASS: Primary 3

Section C: Problem Sums {22 marks}

Read the problem sums carefully before solving it. Show your working and write yo'ur word
statements clearly. The number of marks available is shown in brackets [ ] at the end of
each question or part-question. :

35. Alex has 1095 stamps. Bryan has 430 more stamps than Alex. :
Calvin has 269 fewer stamps than Alex.

{a) How many stamps does Bryan have? [2m] - Workin
(b) How many stamps does Calvih have? [2m]
lage 12
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" 36.. Mrs Devi has some pink and green pens. She has 8 packs of pink pens.
There are 12 pink pens in-each pack. '

{a) How many pink pens does Mfs Devi have? [2mj Workin:

(b} Mrs Devi has 29 more pink pens than green pens.
How many pens does she have altogether? {2m]

Page 13
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37. Miss Tan paid $72 for some muffins. The muffins were packed in boxeé of 2.
Each box cost $8, How many muffins did Miss Tan buy? )

~[3m]

Working

Page 14
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38. Mrs Goﬁ' bought o cartons of peaches. There were 12 peéches in each carton.

{a) How many peaches did Mrs Goh buy altogether? {2m] Workin

(c) Mrs Goh paid $126 for the 8 cartons of peaches.
How much did 1 carton of peaches cost? 12mj

Pasge 15
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-39. There were 3095 pupils in a schoot 1198 pupils were boys and the rest were glris
How many more girls than boys were there in the school?
" [3m]

Working

Fage 16
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40. Jasmine uSed some white and grey square tiles to form the figures shown below.

Figure 1 ‘ Figure 2 | Figure 3

The table below shows the number of tiles used in each figure.

Figure | Numbér of white tiles | Number of grey tiles | Total number of tiles
1 - 4 2 6
2 5 ' 4 9
3 6 6 - 12
4 7 (ai) (aii)

a)' Based on the information in the table given , find
(ai) number of grey tileS. - : [1m]
(aii) total number of tiles. [1m}]

b) Jasmine followed the same pattern and used some tiles to form Figure 8.
What was the total number of tiles she use for Figure 97 [2m}

- END OF PAPER -

Page 17
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'ANSWER KEY
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YEAR 2018
LEVEL PRIMARY 3
SCHOOL HENRY PARK PRIMARY
SUBJECT MATHEMATICS
TERM: SA1
Q1 Q2 Q3 | 4 Q5 Q6 Q7 Q8 Q9
2 3 2 4 3 4 3 4 2
10) 9261 11) 3444
12) 54 13) 92
14) $4.70 15) 3400
16) 936 17) 4109
18) 79 19) (a) 24
b)) 9
20) 12 21) 87R1
22) 240 23) 6
24) 44 ."25)- 4325 ,-3542 , 3452 , 3425
26) Ais 870 27) 44
B is 825
28) 28 and 32 29) 3




30

32)
34)

35)

36)

37)

- 38)

39)

40)

289 and 1324 2 31) (a) Rick

(a)

(b)

(b) 400 more

85 33) (a) False
' (b) True
5
(a) 1095+ 430=1525
Bryan has 1525 stamps.
(b) 1095-269 =826
Calvin has 826 stamps.
(a) 9x12=108
Mrs Devi has 108 pink pens.
(b) 108-29=79
108 + 79 = 187
She has 187 pens altogether.
72+-8=9
9x2=18

Miss Tan bought 18 muffins.

9x 12 = 108- -
Mrs Goh bought 108 peaches altogether.

126 +9=14

1 carton of peaches cost $14.

3095-1198 = 1897

. 1897 - 1198 = 699
‘There were 699 more girls than boys in the school.

(ai) 8 (ait) 15
(b) 12+18=30
The total number of tiles she used for Figure 9 is 30.
End
2
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MARIS STELLA HIGH SCHOOL (PRIMARY)

SEMESTRAL ASSESSMENT 1
Primary 3 MATHEMATICS

8 MAY 2018
BOOKLET A

17 questions

30 marks

Total time for Booklets A and B: 1 h 45 min

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO.
FOLLOW ALL INSTRUCTIONS CAREFULLY.

ANSWER ALL QUESTIONS.
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SECTION A: 30 marks

Questions 1 to 4 carry 1 mark each. Questions 5 to 17 carry 2 marks each.

For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the Optical
Answer Sheet.

1. In 4952, the digit 9 has the same value as

(1)
(2)
(3)
(4)

9x1
9x10
9x100
9x 1000

2. 9804 is the same as

(1)
(2)
(3)
(4

900 +80 + 4
900 + 800 + 4
9000 + 800 + 4
9000 + 800 + 40

3. The product of 23 and 8 is

(1)
2)
(3)
4)

31

164
178
184

4. Divide 74 by 6. The remainder is

(1)
(2)
3)
4

—

14
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5. 3tens + 68 hundreds =

() 71

(2) 683

(3) 710

(4) 6830

6. is 100 more than 3925.

(1) 3825

(2) 3915

(3) 4025

4) 4125

7. Arrange the numbers in order, from the greatest to the smallest,

3540, 3450, 5340, 4530

greatest smallest
(1) 3450, 3540, 4530, 5340 _
(2) 5340, 3540, 4530, 3450 "
(3) 4530, 5340, 3450, 3540
(4) 5340, 4530, 3540, 3450

8. The difference between 2018 and 108 is

(1) 1910
2) 2110
(3) 2118
(4) 2126
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9.

10.

1. .

12.

7x9=

What is the missing number in the box?

(1)
(2)
3)
(4)

50
63
66
76

The sum of two numbers is 6982. One of the numbers is 234.

What is the other number?

(1)
(2)
(3)
(4)

4642
6748
6752
7216

Omar has two $10 notes, four 20¢ coins and three 5¢ coins in his wallet.
What is the total amount of money in his wallet?

(1)
(2)
(3)
4)

$20.85
$20.95
$28.15
$29.05

Gretchen sold 5 times as many pears as Larry. Larry sold 380 pears.

How many pears did they sell altogether?

(1)
(2)
(3)
(4)

76
385
1900
2280
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13. Mrs Teo gave 4 stickers to each of her 8 students. She had 7 stickers left.
How many stickers did she have at first?

14. What is the vailue of * below?

15.

(1)
(2)
(3)

(4)

(1)
(2)

(3)

4)

19
25
32
39

72+9

* 2

16

A

John is thinking of a 4-digit number.
None of the digits is 0.

The sum of all the digits is 11.
The digit in the hundreds place is smaller than the digit in the tens place
What number is John thinking of?

(1)
(2)
3
(4)

1067
1523
2144
3218
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16.  Mindy baked 1284 chocolate muffins. She baked 230 fewer banana muffins
than chocolate muffins. How many muffins did she ba}(e altogether?

17.

(1)
(2)
(3)
(4)

1054
1514
2338
2798

Willy has 7 coins shown below.

He used 4 of these coins to paS( for a pen. He did not get back any change.

™

(2)
(3)

(4)

. $1.40 .

$1.30
$1.50
$1.90

“What could be the cost of the pen?

End of Booklet A
Go on to Booklet B
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MARIS STELLA HIGH SCHOOL (PRIMARY)

SEMESTRAL ASSESSMENT 1
Primary 3 MATHEMATICS
8 MAY 2018
BOOKLET B
23 questions
50 marks

Total time for Booklets A and B: 1 h 45 min

CLASS : PRIMARY 3

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO.
FOLLOW ALL INSTRUCTIONS CAREFULLY.

ANSWER ALL QUESTIONS.

MARKS OBTAINED :

BOOKLET A: /30

BOOKLET B: /50

TOTAL : /80

Parent’s Signature:
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SECTION B (32 marks)

Questions 18 to 21 carry 1 mark each. Questions 22 to 35 carry 2 marks each.

Show your workings clearly in the space provided for each question and write your
answers in the blanks provided. For questions which require units, give your answers in
the units stated.

18. Write six thousand, seven hundred and twelve in numerals.

Answer:
19. In 2348, which digit is in the hundreds place?

Answer:
20. Express 2805 cents in dollars and cents.

Answer: $

21. Use all the digits below to form the greatest 4-digit odd number.

2 0 5 3

Answer;
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22. Tanny holds up a card which says | 4197

He describes this 4-digit number in two sentences shown below.
Write 'True’ or 'False’ for each of the sentences.

(i} The 4-digit number is an even number.

(i) The value of the digit in the thousands place is 1000.

Answer: (i)

(it)

23. Amelia spent $52.85 on a calculator. She gave the cashier a $100 note.
How much was her change?

Answer: $
24. Study the number pattern below.
389,399,499,509, X | Y 79
What are the numberjs' represented by X and Y?
Answer; X:
Y:

Need a home tutor? Visit smiletutor.sg



25. A durian seller had 4500 durians. He threw away 67 rotten durians and sold
1768 durians. How many durians had he left?

Answer:
26. What numbers do A and B represent?
8IA}l3 9
— 2 1 4 3
6 3 9|B
Answer: A=
B=

27. Mr Tim wants to buy a computer which costs $2389. He has $1089 now.
How much must he save so that he has enough money to buy the computer?

Answer: $
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28. Ahmad had 158 cards. He kept 80 cards for himself and gave the remaining
cards equally to Bala and Chris. How many cards did Ahmad give Bala?

Answer;

29. Sally has 360 beads. She shares them equally with 3 of her friends.
How many beads does each of them get?

Answer:

30. A baker has 374 donuts. How many boxes, each containing 9 donuts, can the
baker get at most?

Answer;

9 e
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31. Wayne worked at XYZ bookshop and eamed $763. He earned $7 an hour.
How many hours did he work?

Answer; h

32. The canteen sells fruits at the prices shown below.

apple orange banana watermelon

40¢ 45¢ 50¢

Thomas bought two different fruits with 1 fifty-cent coin and 3 ten-cent coins
exactly. Which two fruits did he buy?

Answer: and

33. There were 3287 visitors to the zoo on Sunday. There were 237 more children
than adults in the zoo that day. How many aduits were there?

Answer: -

10
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34. Sandy bought 3 times as many sweets as Alan. She bought 240 more sweets
than Alan. How many sweets did they buy altogether?

Answer:

35. A small van can carry 8 people. There are 75 people going on a trip together.
At least how many such vans are needed for the trip if everyone takes the van
and sets off for the destination together?

Answer:

P
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SECTION C (18 marks)

Questions 36 and 37 carry 3 marks each. Questions 38 to 40 cairy 4 marks each.

For each of the questions below, show your number statements, workings and final
statements clearly. For questions which require units, give your answers in the units
stated.

36. Tom collected 412 tokens at a camival,  Working Column
Pat collected 27 fewer tokens than Tom.
Sam collected 84 more tokens than Pat,
How many tokens did Sam collect at the camival?

Answer:

s
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37. Doris has 125 beads and Pete has 65 beads.

How many beads must Doris give Pete so that they have

an equal number of beads in the end?

Answaer:

Working Column

13
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38. Mr Tan has 856 water bottles. Working Column
He sold 473 water bottles to Shop X at $2 each and the rest
to Shop Y at $3 each.

{a} How many water bottles did he sell 1o Shop Y?
(b) How much money did he collect from Shop Y?

Answer: (a)

(b)

14
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38. Mary has 3 pieces of $10 notes and 12 fifty-cent coins in Working Column

her piggy bank. Her brother has 4 times as much in his
piggy bank.

(a) How much does Mary have in her piggy bank?
(b} How much does her brother have in his piggy bank?

Answer: (a)

(b)

15
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40. David bought 13 buns and 10 eggs on Sunday. Working Column

He starts eating them on Monday.

Each day, he eats 3 buns and 2 eggs.

On which day will David have an equal number of
buns and eggs left?

Answer:

End of BookletB !

16
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ANSWER SHEET

EXAM PAPER 2018 (P3)
SCHOOCL : MARIS STELLA
SUBJECT : MATHEMATICS
TERM  :SA1

a1 | a2 Q3 a4 Qs Q6 a7 as Q@ [ a0
3 3 4 2 4 3 4 1 1 2
a1 | o12 Q13 Q14 Q15 Q16 Q17
2 4 3 1 3 3 1
18)671.2 19)3 20)$28.05 21)5203 22)i)False ii)False
23)$47.15  24)X: 609  Y:619 25)2665 26)A: 5 B: 6
27)$1300 28)39 29)90 30)41 31)109 h
32)orange and watermelon 33)1525 34)480 35)10

36)412 ~ 27 =385
385 + 84 = 469
37)5+10+15=30
38) a)856 — 473 = 383
b)383 x $3 = $1149
39) a)$30 + $6 = $36
b)$36 x 4 = $144
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METHODIST GIRLS’ SCHOOL (PRIMARY)

Founded in 1887

MID-YEAR EXAMINATION 2018
PRIMARY 3
MATHEMATICS

BOOKLET A

Total Time

Sections A to C: 1 hour 45 minutes

INSTRUCTIONS TO CANDIDATES

Do not turn over this page until you are told to do so.
Follow all instructions carefully.
Answer all questions.

klﬂm -
s3NS \ { )

Class:  Primary 3.
Date: 4 May 2018

This booklet consists of 6 printed pages including this page.
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Section A

Questions 1 to 4 carry 1 mark each.

Questions 5 to 16 carry 2 marks each.

For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the oval (1, 2, 3 or 4) on the Optical Answer
Sheet. ' ' {28 marks)

1 Which one of the following has the digit 2 in the tens place?

(1) 2584
(2) 4825
(3) 5482
(4) 8245

2 How many tens are there in 3 7107

(1) 1
2) 10
3) 371
(4) 710

3  Whatis 5 thousands, 8 tens and 18 ones in numerals?

(1) 579
2y 5079
(3) 5819
(4) 5719

4  Complete the number pattern.
2946,2926, 2906, [ |, 2866

(1) 2706
(2) 2886
(3) 2926
(4) 2986

(Go on to the next page)
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5

7

8

3

Find the difference between 3 951 and 5 042

(1)
(2)
(3)
#

1091
1191
2911
8993

Find the product of 161 and 7

(1)
(2)
(3)
()

23
168
727
1127

A packet of 54 sweets is shared egually among 8 children.
How many sweets does each child get?

(1) 80
(2) 48
3) 9
4) 8

What is the quotient when 596 is divided by 87

(1)

94

@ 74

(3

64

4) 4

(Go on to the next page)
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9

10

11

At a funfair, Rani sold 257 cupcakes and had 148 cupcakes left.

How many cupcakes did she have at first?

(1)
(2)
(3)
(4)

111
109
385
405

Joe saves $635 in a month. How much does she save in 5 months?

(1)
2)
{3)
(4)

What is the missing number?

$7.15 +

M
(2)
(3)
(4)

3127
$ 640
$ 3185
$ 3175

$6.95

$12.85
$13.95
$27.15

= $20

{Go on to the next page)
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12 What is the amount of money shown in the purse?

AR

$50 310

Sy
$10 $10 A
>

(1) $84.20
(2) $93.20
(3) $120.83
4) $121.82

13 Afammer had 1 741 eggs. 562 of the eggs were duck eggs. The rest were
chicken eggs. How many more chicken eggs than duck eggs did he have?

B

(1) 617
2) 1179
(3) 1741
4) 2303

{Go on to the nexi page)

Need a home tutor? Visit smiletutor.sg



14

15

16

What is the value of the @ 2
3 ¥ s
+ 4 6. 4
8 2 3
1 5
(2) 6
3) 8
4) 4
When my number is divided by 3, | have a quotient of 15 and

a remainder of 2.
What number am 7

(1)
(2)
(3
4

7

33
43
47

MNuha and Lily have 5 563 marbles altogether. After they gave away 123
marbies, Lily has 4 times as many marbles as Nuha. How many marbles does

Nuha have now?

(1
(2)
{3)

£ AN
{4)

1088
1 380
1422
2720

Go on to Bookiet B
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PRIMARY 3
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Total Time
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INSTRUCTIONS TO CANDIDATES

Do not turn over this page until you are told to do so.
Follow all instructions carefully.
Answer all questions.

Name: | ( 9

Class:  Primary 3.
Date: 4 May 2018

30

This booklet consists of 9 printed pages including this page.
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Section B

Questions 17 to 22 carmy 1 mark each.

Questions 23 to 34 carry 2 marks each.

Write your answers in the spaces provided.

For questions which require units, give your answers in the units stated. (30 marks)

17  Write 7,894 in words.

18  What is the missing number in the patiemn below?
999, 2 000, 3 001, __,5003

Ans:

19 6578-425=

Ans:

{Go on 1o the next page)
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20 In 2 496, the digit 9 is in the place.

Ans:

21 Use all the digits below to form the smallest 4-digit odd number.

OL0A0A0,

Ans:

22 Study the pattern balow. Circle the number that is wrongly placed in this
pattern.

8, 16, 24, 30, 40, 48, 56

23 Mingli packed 239 sweets in bags of 7. How many sweets are left unpacked?

Ans:

{Go on to the next page)
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24  Alice has § coins in her pocket shown below. The totai value of the coins is
$1.15. What is the value of the fifth coin?

. T T —

Ans: cents

25 Janeis 12 years old. Her cousin is twice her age. How old is her cousin in 8
years’ lime?

Ans:

{Go on to the next page)
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26 Factory A, B and C made a total of 659 toys. Factory A and B made 447 toys.
Factory B and C made 335 toys. How many toys did Factory B make?

Ans:

27 A certain number of marbles is shared equally among a group of 7 pupils and
each pupil received 8 marbles.
The same number of marbles is shared equally among a second group of
pupils and each pupil received 4 marbles.
How many pupils are there in the second group?

Ans:

{Go on to the next page)
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28 D+Q+Q+Q Q=25
C+ O+ Q0.+ 0 = 2

What is the value of ( ?

Ans:

28 Gina had some money at first. She bought a bag for $881 and gave the rest of
her money equally to her 3 children. Each child received $56. How much
money did Gina have at first?

Ans: $

(Go on to the next page)
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30 5x = 8x75

What is the missing number in the box?

Ans:

31 Sally has 2 074, Mary has 1 596 more stickers than Sally. How many stickers
does Mary have?

Ans:

32 Nina bakes 6 702 muffins for a charity fair. She packs them info boxes.
Each box can hold 8 muffins. How many boxes does she need to pack all her
muffins?

Ans:

(Go on to the next page)
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33. Mrs Lim has $27. She wants to buy 2 different items from the departmental
store. Name the two items that she can buy with the money she has.

Blouse Shorts Cap Dress
$16.80 $15.70 $10.50 $18.20
Ans: . and

{Go on to the next pags;
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34  Study the picture below.
It shows lamp posts placed at 2 m apart.
The total distance from the first lamp post to the last lamp post is 14 m apart.
How many lamp posts are there?

¢ RS

2m

T 3
r

14 m

Ans:

Go on to Booklet C

(Go on to the next page)
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Section C

For questions 35 to 40, show your working clearly and write your answers in the space
provided. The number of marks available is shown in brackets | 1at the end of each
question or part-question. (22 marks)

35 There are 2 004 boys in a school. There are 179 more boys than giris.
a) How many girls are there in the school?

b) How many children are there in the school?

Ans: a) 1

by . [2

{Go on to the next page)

Need a home tutor? Visit smiletutor.sg



3
38 There were 4 classes going on a leaming journey. Each class had 35 pupils.

One adult accompanied every 10 pupits. What is the least number of aduits
needed for the leaming journey?

Ans: 3

(Go on to the next page)
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37 MrWong and Mr Tan sold a total of 972 fishballs. Mr Wong sold 372 fewer fishballs than
Mr Tan. How many fishballs did Mr Wong sell?

Ans: 4]

(Go on to the next page)
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38 At first, Dawn had $541 more than Jim. After Dawn bought a mobile phone,
.she had $98 less than Jim.
a) What is the cost of the mobile phone?
b) Jim had $99.90, how much money had Dawn left?

Ans: a) 12]
b) 12}
{Go on to the next page)
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39 Aiotal of 72 pears and apples are placed equally into 8 baskets. There are 4
pears in each basket. How many apples are there altogether?

Ans: [4]

(Go on o the next page)
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40 Aflorist sold 3 types of flowers. She soid 3 times as many tulips as roses. She
sold 40 more sunflowers than roses. She sold a total of 590 flowers altogether.
How many roses did she sell?

Ans: {4}

End of Paper
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ANSWER KEY

YEAR : 2018

LEVEL : PRIMARY 3

SCHOOL : METHODIST GIRLS’ SCHOOL (PRIMARY)

SUBJECT : MATHEMATICS ’
TERM : SA1

BOOKLET A

Q1 [Qz |03 |4 [Q5 |6 [Q7 @8 [qQ9 [qio

2 3 2 2 1 4 3 2 4 4

Q11 [Q12 [Q13 [qQ14 [qQ15 [Q16

2 1 1 1 4 1

BOOKLET B
Q17) seven thousand , eight hundred and ninety-four.
Q18) 4002

Q19) 6153

Q20) Tens

Q21) 2081

Q22) 30

Q23) (1)

239 =7 = 34 Remaining 1

Q24) 20 cents

1.15-0.95=0.20

Q25) (32)

Now:

Jane: 12 y.o.

Cousin: 24 y.o.

In 8 year times, cousin age =24 +8=32

Q26) (123)

A: 659 - 335 = 324
C:659 - 447 =212
B:659-324-212 =123

Q27) 14
7XxX8=256
56 -4 =14
Q28)9

Q29) ($1029)
3x 56 = 168
168 + 861 = 1029
Q30) 90
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Q31) (3670)
2074 + 1596 = 3670

Q32) (838)
6702 + 8 = 837 Remaining 6
837 +1 =838

Q33) Shorts and Cap

Q34)8

1gap=2m

7 gaps=14m
No.lamppost=7+1=8

BOOKLET C
Q35)a) (1825)
2004 - 179 = 1825
b) (3829)

2004 + 1825 = 3829

Q36) (14)
4 x 35 = 140
140 = 10 = 14

Q37) (300)
972 - 372 = 600
600 = 2 = 300

Q38)a) ($639)
541+ 98 =639
b) ($1.90)
99.90 - 98 = 1.90

Q39)(40)
8x4 =32
72-32=40

Q40) (110)
590 - 40 = 550
550 + 5 =110

THE END

3
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for Questions 1 - 15.

Write your name, register number and class in the space provided.
Do not turn over the page until you are told to do so.

Follow all instructions carefully.
Answer all questions.
Shade your answers in the Optical Answer Sheet (OAS) provided
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A
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B

30

Cc
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Total
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Class:Pr3 _
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Section A : Multiple-Choice Queétions {30 marks)

Questions 1 to 15 carry 2 marks each. For each question, four options are
given. Only one of them is the correct answer. Make your choice (1, 2, 3
or 4) and shade the correct oval on the Optical Answer Sheet (OAS).

1.  Which of the following has the digit 6 in the thousands place?

&) 9 086
2) 8 469
(3) 7 605
(4) 6 987 ( }
2. 78562- = 1986
(1) 9 838
(2) 8138
(3) 6 134
(4) 5 866 ( )

3. Which of the following is the largest 4-digit odd number?

(1) 7132
@) 7217
3) 7 825
@) 7 954 _ «

4, = How many even numbers are there between 313 and 3337

(1) 9

@ 10

@ 12

@ 20 « )

Need a home tutor? Visit smiletutor.sg



Which of the following has the same value as the digit 4 in 4 7267

Q)]
(2)
(3)
)

()
(2)
(3)
(4)

4x1
4 x10
4 x 100
4x1000

is 300 more than 4 269.

1269
3 968
4 239
4 569

Jerry wanted to buy an eraser at 35 cents. He paid the cashier $1.00.

How much change did he receive?

Wiite 32 hundreds and 4 ones in numerals.

(1)
2)
(3)
(4)

$1.35
$0.75
$0.65
$0.35°

3 240
3204
360
324

The product of 63 and 7 is

(1)
(2
3)
4

441
70
56
9
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10. What is the quotient when 83 is divided by 77

(1) 6
@) 11
(3) 76
(4) 90 ( )

11. The sum between two numbers is 789. The smaller number is 321.
What is the difference befween the two numbers?

(1) 147

@ 468

(3) 642

(4) 1110 ( )

12. How many roses can Jack get for $12?

SALE

1 rose for $2
Buy 3 and get 1 Free

()
()
(3
@

PO~ d®
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A3.

14.

15,

5 boys participated in a race. Jonathon was first and he was right in front of Sam.
Nick was behind Gary and Paul was in front of Gary.

Who came in last?

g} Gary

{2) Nick

(3) Paul

4)  Sam ( )

There were 56 pages in a workbook.

John completed 3 pages of the workbook which had 9 questions in total.

There were equal number of questions on each page, how many questions were
there in the workbook altogether?

- (1) 3
(2) 27
(3) 168
) 504 ¢ )

John had $70 less than his sister.
John received $20 from his friend while his sister spent $10.
How much more money does his sister have than him in the end?

(1) $90
2 - $80

(3) $50

4 $40 ( )
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Section B : Short Answer Questions {30 marks)

Questions 16 to 25 carry 1 mark each. Questions 26 to 35 carry 2 marks each.
For each question, show your working clearly in the space below and write your
answer in the box provided. Give your answer in the unit stated.

16. Wiite four thousand, three hundred and ninety-four in numerals.

17.  What is the missing number in the following number pattern?

(- {7 -

18. What is the remainder when 379 is divided by 67

19. Use all the digits below to form the smatlest 4-digit number.

5,3,6.,0
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Arrange these numbers in order. Begin with the smallest number.

Smallest

21, Find the difference between 8 553 and 9 437,

22.  John bought 9 similar boxes of sweets. There were 567 sweets altogether.
How many sweets wers in each box?
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23.

What is the total amount of money shown above?

24. Find the sum of 3 497 and 2 875.
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25.

...
N N A
ol | o
|1 O
O~ w

What is the missing number in the box?

26. A number when divided by 8 gives a quotient of 6 with remainder 3.
What is the number?

27.  One pair of pants costs $12. One shirt costs $8.
How much do two pairs of pants and two shirts cost?
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28,

29,

30.

A bus can only carry 40 people. What is the smallest number of buses needed
to carry 134 people? =~

Pamela baked 85 cookies in the moring and 135 cookies in the afternoon.
She gave 55 cookies to her friends in the evening.
How many cookies does she have left in the end?

Which number between 10 and 20 can be exactly divided by 8 with no
remainder?

Need a home tutor? Visit smiletutor.sg



31, John spends $5 each day. How much would he have spant in 21 days?

32. Candice has $8 worth of coins. She spent 10 twenty cant coins.
How much does she have left?

33, There were 250 men &t an evenlt. There were threa times as many women as
men. How many women were there?

19
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35.

A shopkeeper was selling some sheets of stickers at the following rate.

Number of sheets of stickers Cost
1 $2
2 $3

What is the most number of sheets of stickers can Jonathon buy with $237

Stephanie collected 20 stamps and badges in total. Each stamp cost $2 while
each badge cost $3. The fotal cost of the stamps and badges was $48.

How many stamps were thera?

LK
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Section C: (5 x 4 marks)

Answer all the ciuestions. All number sentences, statements and workings
must be clearly shown.

36.  Abby and Brandon shared 4 000 marbles. Abby received 300 marbles fewer
than Brandon. How many marbles did Brandon receive?

37.  Kelly had 5 bags of ribbons. There were 15 ribbons in each bag. She repacked
the ribbons into packets of 3. How many packets of ribbons did she have?

12
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38. Abby and Betty spent a fotal of $350 at a supermarket.
Abby spent $96.
‘How much more money did Betty spend than Abby?

39. Isaac has $28. He wants to buy 12 boxes of strawberries that cost $8 each.
How much more money does he need in order to buy the 12 boxes of
strawberries?

13
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40. Atable cost two times as much as a chair.
Two tables and three chairs cost $280.
How much does each table cost?

End-of-paper

. checked your#

J  work?

14
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EXAM PAPER 2018 (P3)
SCHOOL : NAN HUA
SUBJECT : MATHEMATICS

ANSWER SHEET

28)34 - 40=3 R14
3+1=4

29)135 + 85 =220
220-55=165

TERM  :SA1
ORDER CALL :
a1 Q2 a3 Q4 as Qs a7 Qs Q9 Q10
4 4 3 2 4 4 3 2 1 2
Q11 Qil12 Q13 Ql4 Q15
i 3 2 3 4
16)4394 17)1400 18)1 19)3056 20)7018 , 7108, 8170,
8701
21)884 22)63 23)$119.20 24)6372 25)6
26)6 x 8 =48
48 +3 =51
27)12 +8=20
20 x 2 =$40
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30)16
31)21 x5 = $105
32)10 x 20 = 200
600 — 200 = 400
Ans: $4
33)350 x 3 = 1050
34)23 ~3=7R2
7x2=14
1x1=1
14+1=15
35)20
36)4000 — 300 = 3700
3700 =-2 = 1850
1850 + 300 = 2150
37)15x5=75
75 ~3=25
38)350 - 96 = 254
254 - 96 = 5158
39)12 x 8 =96
96—~28=68
40)1 unit = $280 = 7= $40
2 units = $40 x 2 = 580
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NANYANG PRIMARY SCHOOL

FIRST SEMESTRAL EXAMINATION
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PRIMARY 3

MATHEMATICS
(BOOKLET A)

Total Duration for Booklets A and B: 1 hour 45 minutes
Additional materials: Optical Answer Sheet (OAS)

INSTRUCTIONS TO PUPILS

1. Do not turn over this page until you are told to do so.

2. Follow all instructions carefully.

3. Answer ali questions.

4. Shade your answers in the Optical Answer Sheet (OAS) provided.

Name: ( )

Class: Primary 3 ( )
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Questions 1 to 20 carry 2 marks each. For each question, four options are
given. One of them is the correct answer. Make your choice (1, 2, 3 or 4) and
shade your answer on the Optical Answer Sheet. (40 marks)

1. in the number 6789, the digit is in the hundreds place.

)
@
3
(4)

© ® N o

2. Write 5078 in words.

(1)  Five thousand, seven hundred and eighty

(2) Five thousand, seven hundred and eight
{3)  Five thousand and seventy-eight

(4) Five thousand and eighty-seven

3. Arrange the following numbers in order, starting from the smallest
number.

4321 4213 4312 4123

(1) 4321,4312, 4213, 4123
(2) 4321,4123,4213 4312
(3) 4123, 4213, 4312, 4321

(4)  4123,4321,4213, 4312
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What is the difference belween 9420 and 23877

What is 72 divided by 97

What is the product of 819 and 77

(1) 7033
2) 7143
(3) 7167
4) 7807
(1 6
2 7
3) 8
4 9
(1) 5616
(2) 5673
(3) 5733
(4) 6093

How many groups of four are there in 847

1
2
(3
4)

12
21
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Jeremy had 3 one-dollar coins and 5 five-cent coins.
He bought a pen for $1.95. How much money did he have left?

(1) $1.05 (2) $%$1.10
(3) $1.30 4y $2.80
Study the number pattern below.,
2023 2143 2263 2383 ?

What is the missing number?

(1) 2395
(2) 2403
(3) 2503
(4) 2523

What is the missing number in the box?

? - 2852 = 2569
(1) 283
(2) 4321
(3) 4311
(4) 5421
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1.

12.

13.

School A has 5732 chairs.
School B has 3647 chairs.

How many more chairs does School A have than School 82

(1) 2085
() 2115
(3) 2179
@) 9379

Xuan Ren has 4365 cards.
Belle has 251 cards fewer than Xuan Ren.
How many cards do they have altogether?

£

(2)
3
4)

There were 4 sweets in a packet.
Ramesh bought 9 such packets.

4114
4616
8479

8981

He then gave all the sweets equally to 6 friends.

How many sweets did each friend get?

(1)
(2)
3)
4)

5
6
19
36
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14.

15.

16.

Mrs Tan baked 167 muffins to give to her students.
Each student received 6 muffins.
How many muffins were left?

(1)
(2)
(3)
4)

1
26
3
27

There are 420 rubber bands in each bag.
There are 4 such bags of rubber bands.
How many rubber bands are there altogether?

(1) 105

(2) 168

(3) 1680

(4) 1684

Samantha had 329 candles.

She packed them into boxes of 8 candles.
How many more candles would she need to fill up the
last box of 8 candles?

(1)
@
3
@

1
7
33

41
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17:

18.

19.

Teck Meng has 9 crayons.
Peter has 8 more crayons than twice the number of crayons that Teck

Meng has.
How many crayons do they have altogether?

(1) 19
@ 25
@) 26
4 35

Solve the following equation.

$2.30 + $1.00 = $8.80 - ?

What is the missing amount of money?

(1) $4.20
(2) $4.60
(3) $6.50
(4 $6.90

Niven bought 2 pens which cost $1.15 each and 2 books which cost
$2.25 each,

Ha paid the shopkeeper with a ten-dollar note.

How much change did he receive?

(1) $3.20 (2) $3.40
(3) $4.55 (4) $6.80
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20.  Siti visited the sports store. She had $70 to buy 3 of the items below.
She bought a baseball cap and 2 other different items.

Table Tennis Bat - T-shirt $40.50
$26.50 . $1750

Baseball Ca Swimming Goggles
$25.50 P $30.50

Which other 2 items did she buy?

(1) Tennis Shoes and Swimming Goggles
(2) Tennis Shoes and Table Tennis Bat
(3) T-shirt and Swimming Goggles

(4) T-shirt and Table Tennis Bat
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NANYANG PRIMARY SCHOOL
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1. Do not turn over this page until you are told to do so.
2, Follow all instructions carefully.

3. Answer all questions.

4. Write your answers in this booklet.

Name: ( )
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understanding in this matter as any delay in the confirmation of marks will lead
-to delays in the generation of results.
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Questions 21 to 40 cairy 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. (40 marks)

21.  What is the missing number in the box below?

3000 + ? +80 +9 = 3089

Ans:

22.  Wiite nine thousand, four hundred and sixty-five in numerals.

23. a)Convert $1.45 to cents.
b) Convert 2345¢ to doliars.

Ans: (a) ¢
(b) $

24.  MrLee sold 7156 fans on Monday.
He sold 2843 fans on Tuesday.
What is the total number of fans he sold on both days?
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25. A fruck can camry 7 washing machines.
How many washing machines can 4 such trucks carry aftogether?

26. What s the missing number in the box?

210x3= ?

Ans:

27. Whatis the quotient when 723 is divided by 67

Ans:
28. Look at the number cards below.
6 3 9 0 4
What is the smallest 4-digit odd number which can be formed with the
5 digits shown above?
~ Use each digit once only.

Ans:
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29. On Monday, Mr Yong did 50 push-ups.
On Tuesday, he did 55 push-ups.
On Wednesday, he did 60 push-ups.
He continued fo do push-ups in the same pattern for the next few days.
On which day would he do 75 push-ups?

Ans:
30. Felicia bought 5411 beads.
She bought another 3278 beads.
How many beads did she buy In afi?
Ans:

31. Sulinbhas 9782 toy cars.
Ravi has 3641 fewer toy cars than Su Lin.
How many toy cars does Ravi have?
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32. Kim Yong bought a music player for $49.90 and a pair of headphones
for $24.90.

He paid the cashier with 2 fifty-dollar notes.
How much change did he receive?

Ans: $

33. Fabien had the following coins and notes in his wallet.

Andrea has $21.
How much more money did Andrea have than Fabien?

Ans: $
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34. There were 7 boxes of chocolate.
Each box had 8 pieces of chocolates.
Each teacher was given 4 pleces of chocolate.
All the chocolate were given to the teachers aqually.
How many teachers were there?

35. Ricky has 121 marbles.
Eric has 5 times as many marbles as Ricky.
How many more marbles does Eric have than Ricky?

Ans:

36. The canteen sold 756 bags of fishballs last week.
Each bag had 6 fishballs.

What was the total number of fishballs sold last week?

Ans:
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37. There were 860 children who attended a concert.
The number of boys who attended was 4 times as many as the number
of giris who attended.
How many girls attended the concert?

38. Amin baked 329 cookies.
Amin baked 97 cookies less than Jessica.
Jessica baked 58 more cookies than Mary.
How many cookies did Mary bake?

39. Eachice tray can freeze 9 cubes.
Denise freezes 2 trays of ice each day.
How many cubes of ice will she get in 4 days?
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Sara rolled 3 six-sided dice.

There are 1, 2, 3, 4, 5 or 6 dots on each face of the die.

She got a sum of 12 dots.

The number of dots on the first die is the same as the number of
dots on the second die.

How many possible ways could Sara get the sum of 12 dois?

R0
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For questions 41 1o 45, show your working clearly and write your answers in
the spaces provided. The number of marks available is shown in brackets [ ]
at the end of each question or part-question. (20 marks)

41. Doreen baked 280 cupcakes.
She sold 120 cupcakes.

(a) How many cupcakes were not sold?

(b) She then packed the remaining cupcakes into some boxes.
She packed 8 cupcakes into each box.
How many boxes did she use to pack her cupcakes?

Ans: (a) {2]

(b) [2]
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42.

There were a total of 252 balloons in a carnival.
The number of red balloons was twice the number of biue balloons.
The number of green balloons was twice the number of red balioons.

(a) How many biue balloons were there?

Ans: (a) {2}

(b) 2
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43. A shirt cost $79.90.
A tie cost $35.50 less than the shirt.

(a) How much did the tie cost?

(b) Dyian bought the shirt.
‘He gave the cashier some money and received $20.10 In change.
How much money did he give the cashier?

Ans: () 2]

(b) 2]

10
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A machine printed 2859 worksheets on Monday.

It printed 3059 worksheets on Tuesday.

It printed 3259 worksheets on Wednesday.

It printed 3459 worksheets on Thursday. _

it printed some worksheets in the same pattern on Friday.

(a) How many worksheets did the machine print on Friday?

{b) 4000 worksheets are needed on Friday.
How many more worksheets must the machine print on Friday?

Ans: {(a) {2]

(b) [2}

1
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45. (a) WMr Pang has a total of 6 five-cent coin(s), ten-cent coin(s) and
twenty-cent coin(s).
The coins give a sum of 80¢.
Circle the coins that Mr Pang has. 1]

(b) Mrs Chan has 6 pieces of 5-dollars notes and 2-dollar notes
altogether.
She had a total of $24.
How many 5-dollar notes does she have?

Ans: (b) [3]

End of Paper

12
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ANSWER SHEET

EXAM PAPER 2018 (P3)
SCHOOL : NANYANG
SUBJECT : MATHEMATICS

TERM  :SA1
ORDER CALL :
a1 @2 | a3 Q2 | os a6 | a7 as @@ | aio
2 3 3 1 3 3 3 3 3 4
Q11 Q12 Qi3 Qla Qls Qle Ql7 Qls Q19 Q20
1 3 2 i 3 2 4 2 1 4
21)900 22)9465 23)a)145 b)$23.45 24)9999 25)28
26)630 27)120 28)3049 29)Saturday

30) 5411 + 3278 = 8689
31) 9782 - 3641 = 6141
32)$50 x 2 = $100
$49.90 + $24.90 = $74.80
$100.00 — $74.80 = $25.20
33) $21.00 - $13.85 = $7.15
34)7 x8 =56

56 —-4=14
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35)121 x 5 = 605
605 — 121 = 484
36)756 x 6 = 4536
37)660 -~ 5=132
38)329 + 97 = 426
426 - 58 = 368
39)2x4=8
8x9=72
40)3
41) a)280 - 120 ='1'60
b)160 + 8 =20
42} a) 7u =252
lu=252 -+ 7=36
b)du 36 x 4 = 144
43) 3)$79.90 - $35.50 = $44.40
b)$79.90 + $20.10 = $100.00
44) a)3459 + 200 = 3659
b)4000 — 3659 = 341
45) a)20, 20,20, 20
b)a
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RAFFLES GIRLS’ PRIMARY SCHOOL Your-
Score
SEMESTRAL ASSESSMENT 1 gy
2018 80
marks
Parent's
Name: ( ) Class:3( ) Signature
07 May 2018 MATHEMATICS Duration: 1 h 45 min

SECTION A (28 marks)

Questions 1 to 6 carry 1 mark each.

Questions 7 to 17 carry 2 marks each.

For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade your answer (1, 2, 3 or 4) on the OAS
provided.

1. What is five thousand and eighty-nine in numerals?
(1) 5089
(2) 5098
(3) 5809

(4) 5890

2. Find the sum of 234 and 3605.
(1) 1345
(2) 3431
(3) 3839

(4) 5945

Page 1 of 22
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3.  Whatis the length of the pencil as shown in the diagram below?

8° 7

{f)8cm
{2) 9 cm
(3)3cm

4) 11 cm

4.  Find the mass of the mangb on the weighing scale.

(1)202g
(2)220 g
(3)225 g
(4)250 g

Page 2 of 22
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5. Whatis the product of 8 and 6087

(1) 76
(2) 616
(3) 4864
(4) 5284

6.  Study the figure below carefuily.
How many more triangles than circles are used in the figure?

Q0

A4

(1) 11
(29
(3)7

(4) 4

7. Whatis 2177 + 5257

(1) 1652
(2) 2692
(3) 2702
(4) 7427

Page 3 of 22
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8.

Find the value of 672 x 9.

(1) 648
(2) 681
(3) 5438
(4) 6048

How many 50-cents coins are needed-to make up the sum of money as shown

below?

(1) 10
) 11
(3) 20
(4) 22

Page 4 of 22
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10. The time shown on the clock below is

(1) 5 minutes past 9
(2) 5 minutes to 9
(3) quarter past 9
(4) half past 9

11, Julia wanted to buy the following items from XYZ deparimental store.
How much more money would she need if she had only $100?

$108.50

(1) $8.50
(2) $11.50
(3) $87.00

{4) $97.00

Page 50f 22
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12.

13.

| have 6 in the ones place.
I am smaller than 80 hundreds.
The digit in the hundreds place is
twice the digit in the tens pilace.

What number am 1?

(1) 7246
(2) 7426
(3) 8246
(4) 8426

Peter swam for haif an hour after breakfast. He got up from the pool as shown
on the clock below. What time did Peter start swimming?

(1) 11.45 am.
(2) 11.45 p.m.
(3) 12.45 am.

(4) 12.45 p.m.

Page 6 of 22
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14.  Lily had 7 boxes of cupcakes. Each box had 38 cupcakes.

15.

She sold 158 cupcakes. How many cupcakes did she have left?
(1) 108
(2) 113
(3) 203
(4) 266

Look at the 3-D figure below.

How many flat surfaces does it have?
(1)5
(2)2
(33

4)4

Page 7 of 22
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16. Cindy has the following amount of money. She wants to get some ice-cream
COnes.

Buy 2 for §3,
get 1 free

What is the most number of ice-cream cones that she can get?

(1} 6
2) 9
3)8
(4) 4

Page 8 of 22
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17.

The picture graph below shows the number of books read by five pupils in
Primary 3.

Sunny

Each @ stands for 5 books.

How many fewer books did Uzzi read than You Ming?

(1) 10
(2) 20
(3) 30
4) 4

Page 9 of 22
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SECTION B { 32 marks)

Questions 18 to 23 carry 1 mark each.

Questions 24 to 36 carry 2 marks each.

Write your answers in the spaces provided.

For questions which reguire units, give your answers in the units stated.

All diagrams are nof drawn to scale. Marks will be awarded for relevant working.

18. Wrile 9814 in words.

19. What is the difference between 2453 and 87897

Answer:

20. 315+7=

Answer;

21, What is the total amount of money shown below?

w1620 SINGAPON L

Page 10 of 22
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22. The clock shows the time that Isaac goes to bed at night.

What time does Isaac go to bed?

Answer; p.m.

23. Mary started her violin lesson at 3.30p.m. Her lesson lasted 30 minutes.
What time did her lesson end? .
Tick (V) the correct answer in the box below.

24. Limei collected 5203 stamps. Jack collected 1764 stamps.
How many more stamps did Limei collect than Jack?

Answer:

Page 11 0f 22
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25. Arrange the following numbers in order, beginning \;vith the greatest.

3528 3258 3825 3285

Answer:

(Greatest)

26. Divide 539 by 6.

Answer:

27. Look at the figure below.

A=
S,

LN

There are fewer triangles than the sum of circles
and rectangles.

Page 12 of 22
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28. What is the missing number in the box?

4540, 4040, 3640,

, 3140, 3040

Answer;

29. Form the smallest even number by using ali the cards given below.,

AU E

Answer:
30. Look at the items below carefully.
Toaster Rice-cooker Hairdryer
$40.90 $79.90 $100
Joy went shopping with $130.

She bought two of the items above and had less than $10 left.

Which two items did Joy buy?

Answer:

and

Page 13 of 22
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31. Jenny had $15. She bought a slice of cake and two cans of soft drink.

Cake
$2.40 per slice $1.95 each
How much money did Jenny have left?
Answer: $

32. A piece of ribbon was cut into four pieces, A, B, C and D of different lengths.
A was shorter than B. C was shorter than B but longer than A.
D was longer than B.

Arrange the pieces, A, B, C and D in order. Begin with the longest piece.

Answer: . , '
fongest

Page 14 of 22
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33. The picture graph below shows the number of stamps that five boys have.

Boys Number of stamps

Aaron

Ben

Charlie

Danny

Eric

Eachy < b stands for 4 stamps

How many stamps must Charlie give to Ben so that both of them have the
same number of stamps?

Answer:

34. 4006 people visited the zoo on Saturday. 958 more people visited the zoo on
Saturday than on Sunday. How many visitors visited the zoo on both days?

Answer;

Page 15 of 22
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35. A baker made 3784 fruit tarts. He packed them into boxes of 8. He sold 400
boxes. How many fruit tarts did he have left?

Answer:

36. Fatimah had a rol! of ribbon 450 cm. She used 288 cm {o wrap some parcels.
She then cut the remaining ribbon info equat pieces of 9 cm each. How many
such pieces did she get?

Answer:

Page 16 of 22
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ECTION C (2 rks

For question 37 to 42, show your working clearly in the space provided for each
question and write your answers with suitable units in the spaces provided. All
dlagrams are not drawn to scale. Marks will be awarded for refovant working,

The number of marks availabie Is shown in brackets [ ] at the end of sach
question or part-question.

A7, MrWong bought a digilal camera and a laptop,
#) How much did the wo ilems cost?
b} How much change did he get if he gave the cashier $25007

Angwer: a) [1]

th i

Page 17 of 22
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38. A sports dealer sold 3 baskets of tennis balls.
There were 198 tennis balls in each basket.
After that, he had 409 tennis balls left.

a) How many tennis balls did he seli?
b) How many tennis balls did he have at first?

Answer: a} {1}

b} 2)

Page 18 of 22
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39. Look at the diagram below.

Find the mass of 6 such apples.

Answer; (3]

Page 19 of 22
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40. Misha and Lilian have 350 beads altogether.
Lilian and Tina have 273 beads altogether.
Tina has 95 beads. How many beads does Misha have?

Answer: {3)

Page 20 of 22
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41. A fruit seller had 2050 apples. He threw away 98 apples that were rotten and
packed the remaining apples into boxes of 5 apples.

{a) How many boxes of 5 apples were there?
(b) How many apples were left unpacked?

Answer: a) (3]

b) i1

Page 21 of 22
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42. Chris bought an equal number of pens and pencils. She spent a total of $18.
Given that a pen cost $1.80 and a pencil cost $0.60 less than a pen, how many
pencils did Chris buy?

Answer: [4]

Page 22 of 22
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SCHOOL RAFFLES GIRLS’ PRIMARY SCHOOL
LEVEL : PRIMARY 3

SUBJECT : MATH

TERM : 2018 SA1

CONTACT :

BOOKLET A

BOOKLET B
Q18} | Nine thousand, six hundred and fourteen
Q19) |6336
Q20) |45
Q21) | $107.15
Q22) |8.30p.m.
Q23)
i
Q24) | 5203 — 1764 = 3439
Q25) | 3825, 3528, 3285, 3258
Q26) | 89RS
Q27) |5
Q28) | 3640 — 300 = 3340
Q29) | 1348
Q30} | Toaster and Rice-cooker
Q31) | $2.40 + $1.95 + $1.95 = $6.30
$15 - $6.30 = $8.70
Q32) |D,B,C,A
Q33) |6

Pgl
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Q34) | 4005 — 958 = 3047
4005 + 3047 = 7052
Q35) (3784 = 8=473
473 -400 =73
73 x 8 =584
Q36) | 450288 = 162
162+9=18
Q37) | a)$1782 + $627 = $2409
b)$2500 — $2409 = $91
Q38) |a)198 x 3= 594
b)594 + 409 = 1003
Q39) | 200 ~4=50
50 x 6 = 300
Q40) |273-95=178
350 — 178 = 172
Q41) | 2050 - 98 = 1952
1952 +5 = 390 R2
a)390
b)2
Q42) | $1.80 — $0.60 = $1.20

$1.80 + $1.20 = $3.00
$18 -$3=6

Pg2
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Section A (25 marks)
For questions 1 to 15, four options are given. One of them is the correct answer.
Make your choice {1, 2, 3 or 4). Shade your answers on the Opfical Answer Sheet.
Questions 1 to § carry 1 mark each while questions 6 o 15 carry 2 marks each.

1.

In 3605, the digit 6 stands for

()
(2)
3

4

6

60
600
6000

7 nines =

(1)
)
3
“

49
54
56
63

6x5 =

(1)
()
()
%)

What is the distance from the library to Danny’s house?

(1)
@)
3)
@)

54+5+5+5+5+5
5x5x5x5x5x5
6+6+6+6+6+6
6xBx6Ex6x6x6

m o m] [
Ebrary
235m
485 m
720m
955 m
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5.  The mass of the birthday present is . g.

1) 18
@ 33
(3). 330
4) 360

6. —Whatis the value of 15 hundreds, 14 tens and © ones?

(1) 38

(2) 1409
(3) 1523
4) 1849 -

7. The number just before 3758 is

(1) 3757
(2) 3759
(3) 3769
(4) 3858

8.  Subtract 4895 from 9000,

(1) 4005
(2) 4105
(3) 4195
@4) 5195
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10.

11,

12.

Eden gave away 4709 stamps to his friends and had 301 stamps left.
How many stamps did he have at first?

(1} 4000
(2) 4408
(3) 5010
(4) 5110

Find the remainder of 544 + 6.

n 1
Q) 2
@) 3
@) 4

Alan has 11 marbles. Bala has 8 times as many marbles as Alan.
How many marbles do they have altogether?

(1) 19
) 30
(3) 88
@) 99

Deena is 9 years old. Her father is 4 times as old as her,
How old wilt her father be next yeatr?

(1) 36
@) 37
(3) 40
@) 41
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13. Carla baked 300 cookies. She sold the cookies in bags of 7.
How.many bags of cookies did she sell at most?

(1) 42
@2) 43
(3) 48
@) 49

14—A-rope is 200 cm Jong. Aribbon is 105-cm long.
How much longer is the rope than the ribbon?

(1) 85cm
@) 95cm
(3} 125cm
(4) 305cm

15. __A pail has a capacity of 1 fitre. 5 cups of water were used to fill the pail to its
brim, what is the capacity of each cup?

(1) 200ml
2) 250 mi
(3) 500 ml
(4) 1000 ml
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Section B (35 marks) _
Questions 16 to 20 carry 1 mark each. Questions 21 to 38 carry 2 marks each. |Do not write
Write your answers in the spaces provided. Show your workings clearly. |in this space
For questions which require units, give your answers in the units stated. '
16. -4000 + 507 + 60 =
Ans:
17. 54+ 9=
Ans;
18. Express 8070g in kilograms and grams.
Ans: kg g
19. 4km406m +2km755m=
(Express your answer in m)
Ans: _ m
6 (Go on to the next pége)
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. 20. Find the mass of the ball. Do not write
' in this space
Ans: g
21. 8503 -969=
Ans:
.22, 77 morathan 880 is
Ans:
23. What is the missing number in the box?
2412, 3412, , 5412, 6412
Ans;
7 (Go on to the next page)
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24. Subtract 6 tens from 758.

Ans:

Do not write
in this space

25 There were 4920 boys-and 3302 girls at a carnival.

How many children were there altogether?

Ans:

26. Mr Tan bought 5000 oranges for his shop. He sold some oranges and

had 217 oranges left. How many oranges did he sell?

Ans:
27. Complete the table below.
Numberofspiders | 1 | 2 | 3 | 4 ] | 9 {10
Number of legs 8 (@) | 24 } 32 | by | 80
Ans: (a)
(®)
8 (Go on to the next bage)
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28. Find the product of 749 and 4. Do not write
in this space
Ans:
29. Find the quotient when 935 is divided by 9.
- Ans:
30. Gerald had 56 cards. He shared his cards with 7 friends.
How many cards did each friend recgive?
31. Devi made 29 bracelets for a donation drive. Ellie made 3 times as many
bracelets as Devi. How many bracelets did Ellie make?
——— Ans:
9 {Go on to the next page)
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32. Use the numbers 4, 7 and 28 {o form two eqguations. Do not write
_ in this space
' ( { 1
o UL
_ J
__ (
o [ UG
L
33. 5«x = 605
Ans:
34. The mass of a tin of biscuits is 1250g more than the mass of the bar of
chocolate. What is the mass of the tin of biscuits?
(Express your answer in @)
chocolate
170g
Ans: g
35. A botile contains 350m! of medicine. Mother takes 15ml of the medicine 3
times a day. How much medicine is left in the bottle at the end of the day?
Ans: ml
10 (Go on to the next page)
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Section C {20 marks)

. Questions 36 to 40 carry 4 marks each. Show your working-clearly and wiite your |Do not write
answers in the spaces provided. The number of marks available is shown in }in this space
brackets{ ] at the end of each question or part-gquestion.

36. The mass of a coconut is 1638g. It is 523g heavier than a papaya,
What is the total mass of the coconut and papaya?
(Express your answer in g)

11 {Go on to the next page)
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37. Mr Andrews bought 6 identical rocking chairs for $870. Do not write
. . in this space
Mr Rogers bought 4 of the same rocking chairs:
How much dig Mr Rogers pay for his rocking chairs?
Ans: {4]
12 {Go or'to the next page)
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38. There are some coloured beads in a box. 0 not write
The number of biue beads is 3 times the number of green beads. F‘i this space
The number of green beads is 146 fewer than the number of red beads.
There are 1051 beads altogether. How many green beads are there?

Ans: R

13 (Go on to the next page)
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39. There are 74 cookies in Jar A. The number of cookies in Jar B is 4 times Dc; 1?'0t wiite
. in this space
the number of cookies in Jar A. Jar C has twice as many cookies as Jar B. - = 5P
Find the number of cookies in Jar C.
_ Ans:
14 {Go on to the next page)

Need a home tutor? Visit smiletutor.sg



40. Mr Salim sold 2829 fruits on Friday. He sold 350 more fruits on Saturday than 'Po not write
on Friday. He sold 1002 fewer fruits on Sunday than on Friday. How many in this space _
fruits did he sell over the weekend?

Ans: [4]

End of paper
¢ 15
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ANSWER KEY

YEAR : 2018

LEVEL  :PRIMARY 3
SCHOOL : ROSYTH SCHOOL
SUBJECT : MATHEMATICS
TERM :SA 1

SECTION A

oy
F=%
i

Q1 Q2 |4 Q3 Q4 Q5

oy
(#57
=

Q6 Q7 Q8 Q9 Q10

[
et | G
b

Q11 Q12 |2 Q13 Qi4 Q15| 1

SECTION B

Q16) 4567
Q17) 6

Q18) 9 kg 70g

Q19) 7161m

Q20) 300g

Q21) 7534

Q22) 957

Q23) 4412

Q24) 698

Q25) 8222

Q26) 4783

Q27a) 16

Q27b) 72 l
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Q28) 2996

029) 103

Q30) 7

Q31) 81
Q32a)4x7=28
Q32b)28+7~=4
Q33) 121

Q34) 1420g
Q35) 305ml

SECTION C

Q36) 1638 - 523 = 1115
1638 + 1115 = 2753

Q37) $870 + 6= 145
$145 x 4= $580

Q38) I

-!ll'
Red ln«s;
IR’I‘

1051 ~ 146 =905
905 = 5=181
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Q39) A: 1 unit
B: 4 units
C: (4x2) 8 units
lunit = 74 cookies

8 units = 74 x 4 =592

Q40)

Friday I 2829

Saturday I

Sunday I '

el R ]

1002 ‘

oo ow o wl

Saturday: 2829 + 350 = 3179
Sunday: 2829 — 1002 = 1827
Weekend: 3179 + 1827 = 5006

END
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(CK / WC / KO / MS / DSIM / CHIA

FIRST SEMESTRAL ASSESSMENT 2018

PRIMARY 3
MATHEMATICS
BOOKLET A
Name : { ) 7 May 2018
Class : Primary 3SY/C/GI/SE/P Parent’s Signature

There are 15 questions in this booklet.
SECTION A

Total Time : 1 h 45 min (Booklet A and B)

INSTRUCTIONS TO CANDIDATES

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO.

FOLLOW ALL INSTRUCTIONS CAREFULLY.

ANSWER ALL QUESTIONS.

CHECK THAT ALL MCQ ANSWERS ARE SHADED CORRECTLY IN THE OAS

This question paper consists of _5 printed pages. (Inclusive of cover page)

SINGAPORE CHINESE GIRLS’ SCHOOL

Need a home tutor? Visit smiletutor.sg



Need a home tutor? Visit smiletutor.sg



Section A (30 marks)

Questions 1 - 15 carry 2 marks each. For each question, 4 options are given.
One of them is the correct answer. Make your choice (1, 2, 3 or 4).
Shade the correct oval in the Optical Answer Sheet (OAS).

1. The digit '8’ in ‘7089’ stands for

(1 8
2 80
(3) 800
4) 8000

2. Which of the following is the same as 40527

(1) 40+5+2

(2) 400 +50 +2

(3) 4000 +5 +2

(4) 4000 + 50 + 2

3 The sum of 895 and 5106 is

(1) 4211
2) 5001
(3) 5991
(4) 6001

4. 6310 is 100 more than

(1) 5310
(2) 6210
(3) 6410
4) 7310
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Which ofthefollc;mng has lhem;é_l-nie value 3 x 67

e

(M
(2)
3
(4)

3+3+3
3+3+3+3+3
6+6+6
6+6+8+6+6+6

Find the quotient of 99 + 5.

)
2)
&)
4)

How many cents are there in $15.25?

8
@)
3
(4)

Express 2020cm in m and cm.

{1
@
3
(4)

19
18
3

1525
1500
525
25

2m2cm
2m20cm
20m2cm
20m20cm
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10.

11.

12.

()

Wiich digit does © represent?

4000

-1 906

@09 8
(ty 1
2 2
3% 3
@ 4

How many even numbers are there between 131 and 1377

(1)
(2)
(3)

b W N -

2 fifty-doflar notes + two-doliar notes

(1) 58
(2 50
3) 29
4) 4

Jane bought a story book for $17.80.
She received $2.20 as change:
How much did she give the cashier?

() $15.60
@ $19.00
(3} $20.00
@) $2060

[

$158
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14.

15.

Mimi gave the librarian $10 to pay for her library fine.

She received 25¢ from the: librarian.
How much was her fine?

()
@
@
)

$9.75
$9.85
$10.25
$15.26

Cathy is. 1 m 8 cm taif.

She is 5 em shorter than John.
How tall is John?

€1 103cm

) t13em

(3) 175¢em

(4) 185cm

The length of the whiteboard in the classroom is about

1)
@)
3}
(4)

2cm
2m
20 cm
20m

END OF SECTION A
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F CK / WC [ KO / MS / DSIM{ CHIA

FIRST SEMESTRAL ASSESSMENT 2018

~ PRIMARY 3
MATHEMATICS
* BOOKLET B
Name : {
Class : Primary3SY/CIG/SE/P 7 May 2018
a&“:{:: d Max Mark |  Parent’s Signature
Booklet A Section A 30
F i !
Section B '
' BookletB 30
s | SectionC 20
Total 80

There are 21 questions in this. booklet.
SECTIONB and C

Total Time : 1 h 45 min (Booklet A and B)

INSTRUCTIONS TO CANDIDATES.

BO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO.

FOLLOW ALL INSTRUCTIONS CAREFULLY,

ANSWER ALL QUESTIONS,

This question. paper consists of _18_ printed pages. {Inclusive of cover page)
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Section B: { 30: marks

Questions 16 to 30 carry 2 marks each. Write your answers in the

spaces provided. For questions which require units, give your answers in the
unifs stated.

16. Write 5740 in words.

Ans:

17.  Form the smalfest odd number using alf given digits below.

6] [3] [1] [2]

Ans:

18.  What is the missing number in the number pattern, below?

4155, 4175, 4195, . 4235

Ans:

19.  Find the product of 8 and 308.

'_'Bg
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20. What is the missing operation sign{ + , — , x , + }? ;Do nat write
" I this:colum
6 x 7 =21 f?}2
Ans:
3
21.  Whatis the remainder when 709 is divided by 87
Ans:
22. lLook at the following diagram.
What is the missing rumber?
Ans:
6

[
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23.  Whatis the difference between the values. of the digit ‘6’ in 9653 and 67247 Do-not wiite:
tre this. colarmr

-

Ans;

24. | am a 4-digit number.
The digit in the thousands place is 3.
The digit in. the ones place is 5 more than the digit in the thousands place.
The value in the hundreds place is twice the digit in the thousands place.
The digit in the tens place is. 2 less than the digit in the hundreds place.
What number am i?

Ans:

25. A number when divided by 6, the quotient is 93 and the remainder is 5.
What is this number?
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The graph helow shows the number of muffins Mrs Liny sold in a week. . Donekwrte

Study the graph below carefully and answer Q26 & Q27.

| I this: columa

. Days. of the week |

Number of muffins

Monday

SEEEEes

Tuesday

SSeeee

Wednesday

EEEEE

Thursday

&8ss cee

Friday

felspeiete feis I I

tach % represents 5 muffing

26.  The most number of muffins were sold on

27.  How many fewer muffins were sold en Wednesday than on Thursday?

Ams:

Ans:

28. If Mrs Bala has $15, what is the greatest number of oranges she can buy?

1 for 50¢

5 for $2.00

Ans:

Need a home tutor? Visit smiletutor.sg
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29. Beity had 240 sweets. She gave 7 sweets to each of her friends. | Donot \n;ri;
In this colu

How many friends did she give the sweets to? |

|

Ans:
30. Mother paid a total of $16.00 for a blueberry pie and two packets of french fries. :
How much. did each packet of french fries cost?
blueberry pie
$8.00
i
|
Ans: $
4
End of Section B

5
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1
Questions 31 to 34 carry 3 marks each. Questions 35 to 36 carry 4 marks each [ Dorotwite

- 1o thig. colury
Show your workings clearly and write your answers in the spaces provided. :

-

3t. 725 people attended a concert in January.
340 more. people attended the concert in February than in January.
How many people attended the concert in the two months?

Ans: I3}
32, Petercoliected 450 stamps.
He collected 3 times as many stamps as his sister.
Howmany stamps did they collect alfogether?
Ans: 131
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33. Mr Lee and Mr Ali sold 1950 tickets altogether. S
 Daey
Mr Lee sold 350 tickets more than Mr Al sl
How many tickets did Mr Ali sell?

9%

34. Joanne has 90 more stickers than Linda.
How many stickers must Joanne give Linda so that Joanne will have 10 more
stickers than Linda? '

Ans: [3]
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35. John and Tir had an equal pumber of matbles. | oonctwste”
John gave Tim 10 marbles. i thiscolomn
Tim had 60 matbles in the end.

(a) How many marbles did Tim have at first?

(b) How many marbles did John have in the end?

Ans: (a) 2} |

Ans: (b} [2} :

Need a home tutor? Visit smiletutor.sg



36. Mr Raju made a totat of 5 toy cars. and toy scoolers altogether. Donol write
I 13t L
He fixed 14 wheels onto the toy vehicles. i eslmn. 2
How many toy cars did he make?

Ans: 43

END OF PAPER
g
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ANSWER KEY

YEAR : 2018
LEVEL : PRIMARY 3.
.SCHOOL : SINGAPORE CHINESE GIRLS’ SCHOOL
SUBJECT : MATHEMATICS
TERM : SA1
Section A
Q1 2 Q6 1 Q11 3
Q2 | 4| Q7 | 1| Q12 | 3
Q3 4 QS8 4 Q13 1
Q4 | 2| Q9 | 2 | Q14 | 2
Qs | 3 | Q10 | 3 | Q15 | 2
Section B

Q16) Five thousand, seven hundred and forty

Q17) 1263
Q18) 4215
Q19) 2464
Q20) x
Q21)5
Q22) 10
Q23) 5400
Q24) 3648
Q25) 563
Q26) Friday
Q27)15
Q28) 37
Q29) 34
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Q30) $4

Section C
Q31) February: 725 + 340 = 1065

Both months: 1065 + 725 = 1790

Q32) 450 + 3 =150
150 + 450 = 600

Q33) 1950 — 350 = 1600
1600 = 2 = 800 tickets

Q34)90-10=80
80 + 2 = 40 stickers

Q35a) 60 — 10 = 50 marbles

Q35b) 50 — 10 = 40 marbles

Q36) Assume all are toy scooters;
Total: 5x2=10
Extra: 14-10=4
Difference: 4-2=2
Opposite: 4 + 2 =2 toy cars

END
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Auglo-Qlinese School (Junior)

SEMESTRAL ASSESSMENT 2 (2018)

PRIMARY 3
MATHEMATICS
Booklet A
Monday 29 October 2018 1 h 45 min
Name:
INSTRUCTIONS TO PUPILS

1

g B N

Do not turn over the pages until you are told to do so.

Follow all instructions carefully.

There are 18 questions in this booklet.

Answer ALL questions.

Shade your answers in the Optical Answer Sheet (OAS) provided.

This question paper consists of 8 printed pages (inclusive of cover page).
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Section A

Questions 1 to 6 carry 1 mark each. Questions. 7 to 18 carry 2 marks each.

For each guestion, four options are given. One of them is the cormrect answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval (1,2, 30r4) on the
QOptical Answer Sheet (OAS). (30 marks)

1. In 8167, the value of the digit 6 is

2) 60
- 3) 600
4) 6000

2, What is the value of 3 thousands, 5 hundreds and 2 ones?

1) 352
2) 3052
3) 3502
4) 3520

3. What is the missing number in the number patiern?

3413, 3403, 3393, , 3373

1) 3363
2) 3383
3) 3403
4) 3483

Page A2 of 8
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Which of the following has the same value as 8 x 87

1) 6+B6+8+6+6+65+E+6
2) S+B+B+B+8+B+3+8
J) OGxGxExBubBxGxEx6
4) BxBxBxBxExS

Which of the following is the same a8 2 m 9 cm?

1y 2Bcm

21 208cm
3y 2000 cm
4y 2080 em

Which of the following fractions is not in its simplest form?

2%
2 3
3 %
4 5

Page A3 of 8
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Rum
Stamp


?

+ 9=23R5

What is the missing number in the box?

1)
2)
3)
4)

202
207
212
252

Six angles are marked inside the figure. How many of them are acute

angies?
1) 1
2) 2
3) 3
4) 4

Lisa baked 3050 cookies. She baked 525 cockies more than Jody.

How many cookies did Jody bake?

1
2)
3)
4)

2425
2525
3425
3525

Page A4 of 8
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10.

11.

Which figure has more than one pair of parallel lines?

1)

2)

3)

4)

eycali

Arrange the fractions from the smaliest to the greatest.

N

2)

3)

4)

5
9
Smallest
1
2 ]
5
9 +
2
3 1
1
2 ]

1
2

N |

|

wien

o3 N

Wind

Greatest

Wit o]}

N

WIN

Page A5 of §
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ko

12.  Mimi bought a dress which costs $28.70. She gave the cashier three

$10 notes. How much change did she receive?

1)
2
3)

54)

$1.30
$2.70

- $18.30

$18.70

13.  Adrian took 70 minutés to complete a race. Ranny reached the

finishing line 12 minutes before Adrian. What was the total time
taken by the two boys?

1)
2)
3)
4)

1 hr 22 minutes
1 hr 28 minutes
1 hr 52 minutes
2 hr 8 minutes

14.  John bought 2 kg of grapes. He threw away 98 g of rotten grapes,

What was the mass of grapes left?

1)

2)
3)
4)

1kg 2g

1kg 2049
1kg 902¢
2kg 98g

Page A6 of 8
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15.  The clock shown below is 15 minutes faster. What is the actual time
then?

Li]

1) 954am.
2) 10.09am.
3) 10.24 am.
4) 1.10am.

16. The figure below is made up of 4 identical squares. The length of
each square is 7cm. What is the area of the figure?

Tem

1) 7em?

2} 49cm?
3) 56cm?
4) 196cm?

Page A7 of 8
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17.  Mrs Chen has 347 cupcakes,_She wants to pack all the cupcakes
into boxes. Each box contains 8 cupcakes. What is the least
number of boxes Mrs Chen need to pack al! the cupcakes?

1) 40

2) 43 :
3) 44

4) 46

of

18. The table shows the number of different types of books in a Class
Library.

: Types of Books found in Class Library
60

Cornedy Action Thriller Drama 8ci-Fi

What is the total number of Comedy and Sci-Fi books in the Class

Library?
1) 45
2y 70
3) 80
4 175
End of Booklet A
Page A8 of 8
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Auglo-Glyinese Srhool (Junior)

SEMESTRAL ASSESSMENT 2 (2018)

Mcnday

Name:

INSTRUCTIONS TO PUPILS

1

2
3
4

Do not turn over the pages untii you are told to do so.

Follow all instructions carefully.

There are 24 questions in this booklet.

PRIMARY 3
MATHEMATICS

Booklet B

29 October 2018

Class: 3

Answer ALL questions.
Possible Marks
Section
Marks Obtained

A 30

30

20

Total 80

This question paper consists of 14 printed pages (inciusive of cover page).
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Section B —

Questions 19 to 24 carry 1 mark each. Questions 25 to 36 carmry 2 marks
each. Show your working clearly and write your answers in the boxes
provided. For questions which require units, give your answers in the units
stated. (30 marks)

19.  Wirite eight thousand and forty-five in numerals.

9%

20. Find the sum of 1359 and 3734.

21. Find the product of 708 and 9.

Page B2 of 14 Sub-Total :
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23.

24,

What is 6512 g in kg and g?

What is the difference between '1% and % ?

One side of a square is 8 cm. What is the perimeter of the square?

8c
< s

- Page B3 of 14

cm

Sub-Total : *
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1 5 .|?
-+ - ==
=3 12 3

What is the missing number in the box?

26. In the figure below, there are 4 marked angles a, b, ¢ apd d. Which
of these angles are larger than a right angle?

27. Mr Tan had 756 stickers. All the stickers were shared equally among

7 students. How many stickers did each student get?

Page B4 of 14 Sub-Total :
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...... : ) TS o
28. Draw a line passing through point C paraliel to line AB.

2708
29, Peter has 5708 Singapos_‘e stamps. He has 995 more foreign stamps

than Singapore stamps. How many stamps does Peter have
altogether?

Page B5 of 14 Sub-Total :
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30. Use the digits 0, 3, 7 and 8 to form the greatest odd number between
3000 and 8000. Each digit can only be used once.

31. The difference between two numbers is 2169. The smaliler number is
980. What is the sum of the two numbers?

32. Mabel had some beads. She used 248 beads to make some
necklace and 135 beads to make some bracelets. She had 78 beads

left. How many beads did she have at first?

Page B6of14 Sub-Total :
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33. Ali bolight a pair of soccer boots. He paid with seven ten-doflar note,
7 three two-dollar notes and three twenty-cent coins. How much was
the pair of soccer boots?

34.  Jennifer read 5 books in 3 hours. For the first-4 books, she took 25
minutes to read each book. How many minutes did she take to read
the 5th book? '

min

35. The breadth of a rectangle is 4 cm. The length is 3 times its breadth.
What is the area of the rectangle?

I 4cm

Page B7 of 14 i Sub-Totat :
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36. The bar graph shows the number of boys and girls at the canteen

from Monday to Fri'day.
Friday
Thursday
Girls
Wednesday
Tuesday - Boys
Monday
0 10 20 30

40 50

a) How many more girls are there on Thursday than on Tuesday?

b) Which day has the greatest difference between the number of

boys and girls?

Page B8 of 14

Sub-Total :
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Section C

For questions 37 to 42, show your working clearly and write your answers in
the spaces provided. The number of marks available is shown in brackets [ ]
at the end of each question or part-question : (20 marks)

37. The total mass of Aaron and Ben is 105 kg. The total mass of Cedric
and Ben is 131 kg. What is Ben's mass given that the total mass of the
3 boys is 184 kg? |

Ans; {3]

Page B9 of 14 Sub-Total -
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e

38. Mr Lim had 56 chickens and some ducks, He sold 24 ducks. He then
had 3 times as many ducks as chickens. How many ducks did Mr Lim
have at first?

o

Ans: 13]

Page B10 of 14 Sub-Total :
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A

39, Sam has 4 times as many marbles as Lincoln. Muthu has 28 more
marbles than Lincoln. Sam and Lincoln have 395 marbles altogether.
How many marbles does Muthu have?

of

Ans: 3]

Page B11 of 14 Sub-Total :
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W

40, Justina has an equal number of blue and red paper strips. Each blue -
strip is 2 cm long and each red strip is 5 cm long. The totat length of
ali the blue and red strips is 84 cm. How many blue strips are there?

-

oF

Ans: J3]

Page 812 of 14 Sub-Totéi :
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41,

Adam bought some packets of raisins at a shop. A packet of raisins
cost $3. 2 packets of raisins were given free for every 5 packets
bought. Adam walked out of the shop with a total of 16 packets,

a) How many packets of raisins were given to Adam for free?
b) How much did Adam spend in total?

Ans: (a) [1]
(b). (3]
Page B13 of 14 Sub-Total :
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42.

Leslie buys 2 similar coats and a shirt for $532. A coat costs three

times as much as a shirt.

a) What is the cost of a shirt?
b} How much do the two coats cost altogether?

oF

Ans:(a)_ 2]
(b). 12
End of Booklet B
Page B14 of 14 Sub-Total ;
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ANSWERKEY

YEAR : 2018

LEVEL :PRIMARY 3

SCHOOL : ANGLO-CHINESE SCHOOL (JR)
SUBJECT : MATHEMATICS

TERM :SA2

BOOKLET A

Q1 |2 Q2 [3 Q3 [2 Q4 |1 Q5 |2
Q6 |3 Q7 |3 Q8 |3 Q9 (2 [o10]3
Q114 0121 Q13 |4 Q14(3  [0Q151
Q164 Q173 Q182

BOOKLET B

Q19) 8045

Q20) 5093

Q21) 6381

Q22) 6 kg 512g

Q23)

Q24) 32em

Q25)2

Q26)d and a

Q27) 108
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Q29) 6411
Q30) 7803
Q31) 3149
Q32) 461
Q33) $76.60
Q34) 80min
Q35) 48cm’
Q36a) 10
Q36b) Friday

SECTION C

Q37) 3 boys = 184 kg
Cedric + Ben = 131 kg
Aaron = 184 - 131 =53 kg
Ben > 105-53=52kg

Q38) After selling = 3u Ducks, 1u chicken
lu =156
3u=56x3
=168
168 +24 =192
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Q39) Sam - 4u
- Lincoln = 1u
Su > 395
lu> 395+5=179
79 +28 =107

Q40)5+2 ="7cm
84-+7=12
12+2=6

Q41a)5+2=7
16 +7=2 (R2)
2x2=4

Q41b) 16 packets, 4 are free
16 -4=12
12 x 3 =836

Q42a) 1 coat = 3u
1 shirt 2 1u
2 coats + 1 shirt > 3x2+1="7u
Tu =532
lu=532+7
=$76

Q42b) 76 x 6u = $456

END
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CATHOLIC HIGH SCHOOL |
SEMESTRAL ASSESSMENT TWO (2018)
PRIMARY THREE
MATHEMATICS

Name : ( )

Class : Primary 3

Section A
Date : 29 October 2018 30
Duration : 1 h 45 min Sesthon B 34
Section C /
Parent’s Signature: L ik 80

INSTRUCTIONS TO CANDIDATES
Do not turn over this page until you are told to do so.

Follow all instructions carefully.
Answer all questions.

For section A, shade your answers in the Optical Answer Sheet (OAS)
provided.

This booklet consists of 19 printed pages excluding the cover page.
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Section A

Questions 1 to 15 carry 2 marks each. For each question, four options are
given. One of them is the correct answer. Make your choice (1, 2, 3 or 4),
Shade the correct oval (1, 2, 3 or 4) on the Optical Answer Sheet (OAS).
All diagrams are not drawn to scale. (30 marks)

1. What is three thousand, four hundred and forty in numerals?

(1) 3040
(2) 3400
(3) 3440
(4) 3444 ( )

2.  Whatis the value of digit 6 in 73627

(1) 6

(2) 60

(3) 600

(4) 6000 ( )

3. Which of the following numbers is the smallest even number?

(1) 2391
(2) 2392
(3) 2029
(4) 2930 { )

1 {Go on to the next page)
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What is the remainder when 839 is divided by 57

&)
()
3
(4)

O N -

What is the sum of 1899 and 27607

(1) 861
(2) 1139
(3) 4559
(4) 4659 ( )

5 groups of 9 =

(1) 5+9

(2) 9+5

(3) 9x9x9x9x9

4 9+9+9+9+90 ( }

Find the product of 312 and 6.

(1) 1872
2) 318
(3) 306
(4) 52 { )

2 (Go on to the next page)
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8. In the figure below, name a pair of parallel lines in the square

grid.
G A
F H -
E B
D C
(1) DFand BA
(2) DFand AE
(3) GFand AE
(4) CHandBA ( )
9. 3 _1

8~ |?]%%
What is the missing fraction in tbe box?

1
M 3

1
@ 3

1
3) 3

5 ( )
@) 3

3 {Go on to the next page)

Need a home tutor? Visit smiletutor.sg



10.

There were 9000 spectators watching a football match. 856 of
them were female spectators. How many male spectators were
there?

(1) 8144
(2) 8154
(3) 8244
(4) 9856 ( )

1.

In the figure below, which of these angles is an acute angle?

(1) <«a
(2) b
(3) <«c
(4) «d ( )

12,

A bookshop sold a highlighter and a pen for $3. Claire bought |
6 highlighters and 6 pens. How much did Claire pay altogether?

(1) $12
(2 $15
(3) $18
(4) $36 : ( )

4 (Go on to the next page)

Need a home tutor? Visit smiletutor.sg



13.

Figure ABCD is made up of identical rectangles. What fraction of

B

ABCD is not shaded?
A
D

(1 2

@ 5

@ 3

@ =5

14.

How many minutes are there in 3 h 15 min?

(1)
)
3)
4)

16 minutes

180 minutes
195 minutes
315 minutes

{Go on to the next page)
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15.

A glass of orange juice cosis $2.50and a glass of lemon juice
costs $1.80. Claire bought 2 glasses of orange juice and a glass
of lemon juice. How much did she pay?

0
(2)
(3)
4)

$4.30
$5.00
$6.10
$6.80

END OF SECTION A

6 (Go on to the next page)
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Section B Do not writo

in this
Questions 16 to 21 carry 1 mark each. Show your working cleasly in e
the space and write the correct answers in the spaces provided. For
questions which require units, give your answers in the units stated.
All diagrams are not drawn fo scale. (6 marks)

16.  Express g in its simplest form.

Ans:

17.  Complete the following number pattern.

1750, 1850, 1950, ? , 2150, 2250
Ans:
18. 7m4d4cm= ? cm
Ans: cm
7 (Go-on to the next page)
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Do not writ
19. Find the difference between 2270 and 1654. | o m’:‘m:e

Ans:

20. Find the area of the square shown below.

8 cm

3
h 4

Ans: cm?

21.  What is the missing number in the box?

2

1

3
4

Ans:

Total marks for questions 16 to 21

8 (Go on to the next page)
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Questions 22 to 35 catry 2 marks each. Show your working clearly | Do not wite
and write your answers in the spaces provided. For questions which | ™ s space |
require units, give your answers in the units stated. All diagrams are

not drawn to scale. (28 marks)
22.  Arrange the foliowing fractions in order. -
Begin with the greatest.
L 2 1
10 * 5 * 2
Ans: ) ,

greatest " smallest

23. Whatis the quotient when 918 is divided by 77

Ans:

24. The difference between two numbers is 785. The bigger
number is 1072. What is the other number?

9 (Go on to the next page)
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25. Inthe sum below, a digit is missing from the box. Do not write
What is the missing digit? n this space
2 3 ? 7
+ 3 1 8 5 -
5 5 6 2
Ans:
26. Derrick and Evan shared some stickers equally. After Dervick
gave Evan 47 stickers, how many more: stickers does Evan
have than Derrick?
Ans:
10 {Go on to the next page)
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The bar graph below shows the number of trading cards that 4 boys | Do notwite
have. Study the graph carefully and answer questions 27 and 28, | ™t space

- Trading Cards Owned

0 5 10 15 20 25 30 35 40
Number of trading cards

27. How many fewer trading cards does Miguel have compared
than Lennon?

Ans:

28.  How many trading cards do the 4 boys have altogether?

Ans:

11 (Go on to the next page)
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29. When a number is divided by 4, it has a remainder of 2.

The number is between 20 and 25. What is the number? Do not write
in this space

30. 100 g of cherries cost $2.
What is the cost of 1 kg of cherries?

Ans:$

31. Find the mass of the bag of sugar. E

Ans: ka g

12 {6Go on to the next page)
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32. A shopkeeper had 297 story books. He wanted to pack them

. Do not write
equally into 8 boxes. How many story books were left in this space
unpacked?

Ans:
33. Figure EFGH below is made up of 3 identical rectangles.
Find the perimeter of figure EFGH.
E 6cm F
3 cm
H G
Ans: " cm
13 {Go on to the next page)
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Laurence took 1h 55 min to finish his homework. He ended | e oo

at 2.15 p.m. What time did he start doing his homework?

Ans: p.m.

Jacob bought 9 packets of potato chips. He planned to eata
, packet every 3 days. How many days would he take fo finish
- eating all the packets of potato chips? _

Ans:

Total marks for questions 22 to 35
28

END OF SECTIONB

14 {Go on to the next page)
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Section C Do aot wrte

inthis s
For Questions 36 to 40, show your working clearly and write your P
answers in the spaces provided. The number of marks available is
shown in brackets [ ] at the end of each question or part-question.
All diagrams are not drawn to scale. (16 marks)

36. Rita collected some beads. She gave 45 of them away and
packed the remaining beads into 5 bags. There were 67
beads in each bag. How many beads did Rita collect?

Ans: [3]

15 {Go on to the next page)
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37.

The capacity of a beaker is 240 ml. Do riot waite

2 such beakers of water can fill a jug completely. in s space
6 such jugs of water can fill a tank completely.
What is the capacity of the tank?

Wiite your answer in litres and millilitres.

Ans: [3]

16 {Go on fo the next page}
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38.  Mary, Laura and Joyce baked some cookies. Do not write
Mary baked twice as many cookies as Joyce. f this space
Laura baked thrice as many cookies as Mary.
Laura baked 405 more cookies than Joyce.
How many cookies did Mary bake?
Ans: [3]
17 {(Go-on to the nexi page)
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39. Alan had $50. He bought a pair of shorts and a blouse. go ﬂ?gm
A blouse cost $12 more than a pair of shorts. He received pa
$2 change. How much did a pair of shorts cost?

Ans: (3]

18 {Go on to the next page)
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40. Rectangles and dots are arranged to form the figures below. | Do notwite

Study the pattern of the figures as shown below. in this space
K e o e o o
. . . '”-
¢ e o ® ¢ o
Pattern 1 Pattern 2 Pattern 3
Pattern Number of Number of dots
Number rectangles
1 1 3
4 a) b
) @

a) Fill in the missing number of rectangles for Pattern 4.
b) Fill in the missing number of dots for Pattern 4.
¢) How many dois are needed for Pattern 10?

Ans: ¢c) - [2]

END OF PAPER

19
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SCHOOL

CATHOLIC HIGH PRIMARY SCHOOL

LEVEL : PRIMARY 3

SUBJECT :  MATH

TERM 2018 SA2

CONTACT : )
BOOKLET A

BOOKLETB
Q16) |23
Q17) | 1950 + 100 = 2050
Q18) | 7m =700cm
700cm + 4cm =704 cm
Q19) |[2270-1654 =616
Q20) | 8cm x8cm = 64cm2
Q21) |3x3=9
Q22) [7M0,% ,2I5
Q23) (918 - 7=131R1
Q24) |[1072-7865 = 287
287 + 785 =1072
Q25) |7
Q26) [47x2=94
Q27) [35-16=19
Q28) |16+ 35 + 30 + 23 )
=51+ 53 =104
Q29) |22
Q30) [($2x10=%20

Pg1l
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Q31) | 1kg 250g
Q32) |297=-8=37TR1
Ans: 1
Q33) |6+9+6+9=30cm
Q34) |12.20 p.m.
Q35) (9x3=27 -
Q36) |67 x5=335
335 + 45 = 380
Q37) |[240x2=480
480 x 6 = 2880
2880mi = 2 L 880ml
Q38) | 405+ 5=281
81x2=162
Q39) |$50-$2=948
$48 -$12=36
$36 <2 =518
Q40) |a)4
b)9
cM0-3=7
7x2=14
14+7=21.

Pg2
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Section A {15 x 2 marks|

For sach quastion, fowr oplions aee gven. One of the opltisns i¢ the correcd snewer. Shada the
mmtﬁmﬂunmmﬂ Angweer Shavel. Please uge only 28 penc and shade fhe
OV .

1 2 thousands 2 tens is the same as

(1} 202
(2 2002
{3 2020
(@) 2200

2. iz 10 ke=s than 4902

(f) 5082
(2 4302
(3} 4800

(4} 3902

J. Whatl is the valee of 3008 + 51677

(1] A158
(2] 8168
(3} 8255

(4] 825

Meed a home tutor? Visit smiletutor.sg


Rum
Stamp


4. Amirah has 7 boxes of cupcakes. There are 8 cuﬁbakes: in each box. How many
cupcakes does Amirah have altogether?
(1} 56
(2) 49
(3) 48
4) 15

5 Skm9m= m

(1) 509
(2) 580
(3) 5009

(4y 5900

8. How many minutes are there in 2 h 18 min?

(1Y 218 min
{2) 138 min
{3) 120 min
{4y 102 min

Need a home tutor? Visit smiletutor.sg



Arrange the following fractions from the smallest to the greatest.

(1)

2

(3)

(4)

LN

smallest

Wik A= A=

oo

D

oo

Do win

WM

greatest

2
3
S
12

How many of the marked angles in the figure below are greater than a right angle?

M
(2)

4)

/.
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9.

10.

11.

The figure below is a square. The length of AB is 8 cm. What is the area of the square?

0]
2
(3)
{4)

64 cm?
32 cm?
16 cm?

8 cm?

8cm

>

The difference between two numbers is 870. The smaller number is 1780.

Find the sum of the two numbers.

(M
(2)
(3)
{4)

2450
3120
4130

4230

Jinny has $249. Karthi has three times as much as Jinny. How much do they have
altogether?

(1)
(2)
3)
)

$255
$408
$747

3006

Need a home tutor? Visit smiletutor.sg



12. Look at the mode! given: below. The length of Bar A and Bar B is the same.

13.

Bar B is made up of 3 equal parts.

Bar A

Bar B

What is the value of the shaded pari?

(1)

(2)

(3)
(4)

18

21

22

27

A movie staris at 7.25 p.m. It is now 15 minutes to seven. How long will it be before the

movie starfs?

1)

)
3
(4)

10 min
25 min
40 min

45 min
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The bar graph below shows the amount of money coliected for charity by some Primary 3
classes.

Amount of money collected for charity

Amount
)

Class

14. How much more was the greatest amount of money collected than the feast amount of
money collected?
1) $840
(2) $580
{3) %320
(4) $260
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15. The figure below is made up of 24 rectangles. How many more rectangles must be

5
shaded fo show Py ?
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Section B {15 x 2 marks) Do not
write in
Wiite down your answers in the spaces provided. For questions which require units, | this space
give your answers in the units stated. Show all workings clearly.

16.  Whatis the value of 9003 — 12767

Ans :

17.  What is the missing number in the paftern below?

4930, 4690, 4450 ,4216,1 2 |,3730

Ans

18. + $395 = $10

Ans: %
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19.

20.

21.

The mass of a bag is shown on the kitchen scale below. What is the mass of Do not

the bag?

Ans ;

+
coln
Il

~J

|-

Ans

Look at the letters below. Which 2 letters have both perpendicular and

paraltel lines?

HAMLET

Ans

write in
: this space

kg g

and
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22.  What is the area of Figure A below? Do not
write: in
| this space

1cm
F i = = i
1cm
1!

Ans : cm?

23. A number when divided by 5 has a quotient of 38 and a remainder of 3.
What is the number?
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24.  May has 58 stickers. Lynn has 5 fimes as many stickers as her. How many | Do nof
stickers will Lynn have to give May so that both of them have the same number | Write in
of stickers? thig space

Ans :

25.  Mindy’'s watch is six minutes. slow. Her watch shows 5.00 p.m. now. What is
the actual time?

Ans: p.m,

Need a home tutor? Visit smiletutor.sg



Use thé bar graph below to answer gquestion 26. - Donot
The bat graph shows the number of pupils visiting the different statfons af the Lower | wWiite in
Prinary Fun Day. : _  this space

Lower Primary Fun Day

Station A |

Station B |
Stations

" Station C

Station D

£
3
s
¥
1
1
3
1
'
1
1
1
'
1
1
’
'
]
1
1
1
1
'
'
1
'
|
[}

: 1 " N ] 3 ] 4
T T T 3 ] ¥ 1

0 50 100 150 20c 250 300 350 400 450 500

Number of Pupils

26.  Siation D has twice as many pupils as Station

Ans :
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27, What is the missing number? ' Bo not
 write iny
- ihis space

L9 | )
10 -

12 18

Ans. :

28.  Which of the 2 figures below have the same perimeter?

1 cm ) - -

;‘.

i

Ans: Figures and
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29.

Mrs. Devi paid $24 for some apples.

5 apples for $3

Each statement below is: either true or false ftom the information given.
For each statement, put a tick (') in the correct column.

. Do not
write in
this space

Statement

~ True False

Mrs Devi bought 40 apples.

If Mrs Devi had bought 30 apples instead, she
would have spent $4 less.
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30.  Nurul has 17 notes in her piggy bank. There are only $2 and $5 notes in her Do not
piggy bank. The total value of the notes is $49. How many $5 notes are there write in
in her piggy bank? this space
Ans :
9

Need a home tutor? Visit smiletutor.sg



Do not
write in
For questions 31 to 36, show your workings clearly and write your answers in the | this
spaces provided. The number of marks available is shown in brackets [ ] atthe end | space
of each question or part-question.

Section C (20 marks)

31. There are 960 boys in a hall. There are 395 more boys than girls in the same
hall. How many children are there in the hall altogether?

Ans : [3]

10
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32. Chong and Jill have 180 cookies alftogether. Chong has 30 cookies more thanj Do not
Jill. How many cookies does Jill have? | :\rf‘rlge in
 space

Ans [3]

11
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33. Pravin, Hadi and Lamy have 442 starﬁps aliogether. Larry-has four times as many | Do not
stamps as Hadi. Pravin has 34 more stamps than Hadi. How many stamps does :::ge n
Hadi have? space

Ans : [3]

12
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34. Xiaoling hangs 10 Eght bulbs at an equal distance apart on a wire. The distance | Do not
between the 27 and the 9 fight buib is 280 cm. What is the length of the wire ‘t‘i"]‘;ge in

used for hanging the 10 light bulbs? space

I

g light bulb

2" light bulb

Ans :

13
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35. Molly had 808 mi of apple juice for a party at first. She bought another Do_ nqt
10 bottles of apple juice for the party. Each botfle contained 330 mi of apple ;’l‘fge n

juice. She served the apple juice. to her guests and had 530 ml of apple juice space
left.

(a) What was the fotal ameunt of apple juice she had for the party?

(b} How much apple juice was served to the guests?

Ans: (a) 121

{b) (2}

14
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36.

The figures below are formed by sticks. They follow a pattem. ' Do not

Figure 1 Figure 2

The table below shows the number of sticks used for the first four figures.

Figure 3

write in
this:
space

AN

Figure 4

Figuré_ Number 1 2 3 4 5 8 ..
Numberof sticksused | 6 | 11 | t6 | 21 2
{a) How many sticks are used to form Figure 67
(b) Which figure has 66 sticks?
Ans: (a) f21]

End of Paper

15

(byFigure __ 12]
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ANSWER KEY

YEAR - 2018

LEVEL : PRIMARY 3

SCHOOL : CHIJ ST NICHOLAS GIRLS’

SUBJECT - MATHEMATICS

TERM - SA2 3
Section A

Q1 Q2 Q3 Q4. Q5 Q6 Q7 Q8
3 2 4 1 3 | 1 4
Q9 Q10 Q11 Q12 Q13 Q14 Q15
1 4 4 2 3 2

Section B

Q16 7724
Q17 2070
Q18 $6.05

Q19 4kg 600 ¢

=oJ I |

Q20
Q21 Hand E
Q22 8cm?

Q23 193

Q24 116 stickers
Q25 5.06 p.m.
Q26 A

Q27 15
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Q28 FiguresP and S
Q29 V' True

V' False
Q30 5
Section C

Q31 960 - 395 = 565
960 + 565 = 1525 children

Q32 180-30=150
150 + 2 = 75 cookies

Q33 442 -34=408
408 ~ 6 = 68 stamps

Q34 9-2=7
280 +7=40
T 2x40=80
280 + 80 = 360 cm

10 x 330 = 3300

Q35 (2
3300 + 800 = 4100

4100 ml = 4 £ 100 ml

(b) 4100 - 590 = 3510

3510 ml = 3 £ 510 ml

Q36 (a) 2x5 =10
21 + 10 = 31 sticks
(b) 66—6=060

60 +5=12
12 + 1 = Figure 13

End
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HENRY PARK PRIMARY SCHOOL
2018 SEMESTRAL EXAMINATION 2

MATHEMATICS
PRIMARY 3
Name: A ) Parent’s Signature
Class: Primary 3
Duration of Paper: 1 h 45 min
Marks:
Section A (MCQ)
' 13
Section B {Open-Ended)
45
Section C (Problem Sums)
22
Total
80
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Section A: Multiple Choice Questions {13 marks)
Questions 1 to 5 carry 1 mark each. Questions 6 to 9 carry 2 marks each.

Choose the correct answer and write its number in the brackets provided,
You are required to shade the correct oval of your answer (1, 2, 3 or 4) in the
Optical Answer Sheet (OAS) provided.

1. Which of the following has the smaliest vaiue?

(1) 8x4
2) 7x7
(3) 93 ( )
(4)6x9

What is the mass of the bag of potatoes shown above?

(1)3300 g

(2) 2700 g

(37009 { )
(4)270 g

Page 1
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: 1
Which of the foliowing is not an eguivalent fraction ofz ?

Which of the following clocks shows 20 minutes o 127

(1) (2)

® @

Page 2
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Which of the foliowing marked angles is greater than right angle?

(1)

-
A

-

o

(3)

(4)

Jacob has 438 stickers. Rachet has 187 fewer stickers than Jacob.
How many stickers does Rachel have?

(1)635
(2) 361
(3) 341 ( }
(4) 241

Page 3
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in which column can the number 76 be found?

Column A Column B Column C Column D
4 8 12 16
20 24 28 32
36 40 44 48
{(HA
(2)B
(3)C
(4)D { )

What is the difference between 3982 and 60007
{1)2018
(2) 2128
(3) 3982
{4) 9982

The figure below is made up of seven squares of side 1 cm.

What is the perimeter of the figure?

1ch

{1)7 cm

(2) 14 cm
{(3)16 cm
{4)22 em

Page 4

(Go on to Section B)
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Section B: Open-Ended Questions (45 marks)

Questions 10 to 14 carry 1 mark each. Write your answers in the boxes provided.
For questions which require units, give your answers in the units staled.

3
10. Express 3 in its simplest form.

11, Express 3080 ml in litres and millilitres.

12. Sally started doing her homework at the time shown on the clock.
It took her 2 h 30 min to finish her homework.
What time did she finish doing her homework?

p.m.

Fage 5
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13.  How many 20-cent coins are needed to make $67

14. Name a pair of paraliel lines shown in the figure below.

B_|

N

Page 6
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Questions 15 o 34 camry 2 marks each. Show your working clearly and write your answers
in the spaces provided. For guestions which require units, give your answers in the units
stated.

15. Find the sum of 7 hundreds and 52 tens.

16. Whatis the quotient and remainder when 398 is divided by 77

17. Use the following digits to form the greatest 4-digit even number.
Each digit can only bs used once. -

9 - 3 6 4

Page 7
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18. Faizal had 48 stickers. Meena had 6 times as many stickers as Faizal. How many
more stickers did Meena have than Faizal?

2 1
19. Find the difference between 3 and e Give your answer in the simplest form.

20. The length of a pool is 6 m. its breadth is 3 m. What is the area of the pool?

L )

3m

&

L J

6m

Page 8
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21. The bar graph below shows the favourite food of the students in Primary 3Y.

Favourite Food of Students in Primary 3Y

Burger [RENE
Spaghetti

Noodles IR

Type of Food

Prata B

Omeletie Rice Kl

0 5 10 45 20 25 30 35 40
Number of Students :

(a) Whatis the most popular food among the students in Primary 3Y7?

(b} How many more students fike burger than omelette rice”

Page 9
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22. Look at the number pattem shown below.
What is the missing number in the box?

(o) (7 (7] (o) (rer) (7

23. There were 1086 men at a furniture exhibition. There were 389 more women than
men at the furniture exhibition. How many men and women were at the furniture
exhibition altogether?

24. A box has 249 red buttons. There are 8 times as many blue buttons as red butions.
What is the total number of red and blue buttons in the box altogether?

Page 10
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25. Each statement below is either true or false or not possible to teli. For each
statement, put a tick { v } in the correct column.

Students from Primary 3P donated money to some old folk’s homes. £ach student
donated $6. There were fewer than 35 students in Primary 3P.

Not

Statement True | False | possible
to tell

{a) The total amount of money collected from the
students in Primary 3P was more than $180.

(b) The total amount of money collected by Primary
3P from the donation drive can he shared
equally by 3 different old foli’s homes.

26. An egg seller had some eggs. 228 of them were rotten and he threw them away. He
then bought 495 more eggs. In the end he had 1085 eggs aitogether. How many

eqgs did he have at first?

27. Ming bought a t-shirt and 2 identical pairs of shosts for $60. Each t-shirt cost twice
as much as each pair of shorts. How much did he pay for each pair of shorts?

s

Page 11
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28.  Arrange the fractions in order, beginning with the smallest.

smaliest

20. What s the missing number in the box?

2
3

30. Meiling poured all the water in her water bottle into containers A and B without
spilling. The amount of water in containers A and B is shown below.

—1 ¢ _{

Container A Container B

How much water was there in Meiling's water bottle at firsi?

mi

Page 12
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31, Find the perimeter of the figure shown below.

13 cm

5cm

9 cm 23cm

cm

a2  ABis a straight line. Draw a line perpendicular to line AB through point C.

Page 13
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33. The sum of two numbers is 4385. One of the numbers is 497 smaller than the other
number. What is the smaller number?

34. The graph below shows the number uf visitors at the library on Monday.

Number of Visitors

Given that 27 boys visited the library on Monday, what was the total number of
visitors who went to the library on Monday?

Page 14
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Section C: Problem Sums {22 marks)

Read the problem sums carefully before solving it. Show your working and write your word
statements clearly. The number of marks available is shown in brackets [ ] at the end of

each guestion or part-question.

35. Ahmad had 992 stickers at first, .
He had 4 times as many stickers as Samantha.

(a) How many stickers did Samantha have? [2m] Working

{b) Samantha then gave 126 stickers {o Ahmad.
How many stickers did Ahmadr_.\in the end? [2m]
have

Page 15
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36. Atfirst, there were a total of 1498 black cups and white cups in a box.
214 cups were broken during delivery and were removed from the box.
in the end, there were three times as many white cups as black cups in the box,

(@) How many cups were not broken? [2m]

{(b) How many black cups were there in the box in the end? [2m]

Page 18

Workin
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37. 3Sandra left her house for work at 8.55 a.m.

{a) Sandra’s brother left the house for work 45 minutes later Working
than Sandra. What time did her brother leave the house for
work? [2m]

{b) Sandra reached her workplace and started work at 7.45 a.m.
She left her workplace for funch at 12.30 p.m. How long had
she worked before she left for iunch? [2m]

Page 17
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38. Gabriel bought a new storybook. Every day, he reads only 8 pages of the storybook.

(a) How many days will Gabriel take to finish reading 152 pages of the
storybook? [2m)]

Working

(b) Given that Gabriel started reading the storybook on
Wednesday, on which day of the week will he finish reading
these 152 pages of the storybook? [2m]

Fage 18
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Cindy went to ABC restaurant. She bought two different items from the
menu as shown below. She gave the cashier $50 and received $16.25 as change.
Which two items did Cindy buy? {3m}

ABC RESTAURANT
MENU

XY

A plate of A plate of French A regular pizza A cupcake

spaghetti fries
$12985 $8.90 $20.80 $6.45

Workin

Page 1S
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40, Buttons are arranged neatly on a long piece of cloth as shown below.
All the buttons are placed at an equal distance apart.

1 /cloth .
© o o )
1st 2nd 3rd

15th

12cm

The distance between the first button and the third button is 12 cm. What is the
distance between the second button and the fifteenth button? [3m]

Workin

- END OF PAPER -

Setters: Ms Siti Fasihah, Ms Rajesheela, Mrs Heng En Oi

Page 20
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ANSWER KEY

YEAR 2018
LEVEL PRIMARY 3
SCHOOL HENRY PARK PRIMARY
SUBJECT MATHEMATICS
TERM SAZ
Q1 Q2 Q3 Q4 Qs Q6 Q7 Q8 Q9
3 2 2 2 4 4 3 1 3
1
10) g 11) 3480 ml
12) 7.35p.m 13) 30
14) AD// BC 15) 1220
16) 56R 6 17) 9634
18) 240 %
20) 18 m? 21) (a) Spaghetti
(b) 15
22) 5067 23) 2561 -
24) 2241 25) (a) Not possible to tell
- (b) True
26) 818 27) $15
2 1 5
28) Ty e z 29) 3
30) 900 ml 31) 48 cm
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32)

34)

35)

36)

37

)

39)

40}

33) 1944

135 L
(a) 992 4=248
Samantha had 248 stickers.
(b) 992+ 129=1121
== Ahmad had 1121 stickers in the end.
(a) 14985 214 = 1284
1284 cups were not broken.
(b) 12B4+4=2321
There were 321 black cups in the end.
{a)  Her brother left the house at 7,40 a.m for work.
ih)  She worked 4h 45 min before she left for lunch.
(3) 152+8=19
Gabriel will take 19 days to finish reading 152 pages of the
storybook. -
ib)  He will finish reading the 152 pages of the storybook on

- Monday.

350 - $16.25 = $33.75
$12.95 + $20.80 = §33.75
Cindy bought a regular pizea & a plate of spaghetti.

i2+2=68
15-2=13
13x6=78
The distance between the second button and the fifteenth button is
78 cimi.
End
i
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Section A: 30 marks

Questions 1 to 4 carry 1 mark each.

Questions 5 to 17 carry 2 marks each.

For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4).
Shade the correct oval (1, 2, 3 or 4) on the Optical Answer Sheet. .

1.

In 3526, the digit

N

; (4

(1 5

2) 2

3) 3

(4 6

The digit 6 in
2684

(2) 4268

(3) 6842
8426

is in the hundreds place.

has the greatest value.

Which set of numbers is arranged from the smallest to the greatest?

(1)
(2)
(3)
(4)

7606, 7006, 9607, 9706
9964, 9794, 8864, 8684
6038, 6380, 8306, 8630
9876, 9767, 9786, 9798
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What is the equivalent fraction represented by A?

(1)

(2)

(3)

(4)

Find the sum of 2645 and 4778.
What is the digit in the hundreds place?

WIN

A

R1

1 7
@ 2
3) 3
4) 4
809 +4=
(1) 22
(2) 202
(3) 204
(4) 808
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1

+ -

4
5
(1) P
6
(2) P
6
(3) 2
8
@

®]l~

Which one of the following fractions is represented by the letter Y in the

number line below?

0
2
(1) 5
3
@
4
(3) 10
8
(4) 10

-
’*—«‘
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O.

10.

How many angles in the figure shown below are smaller than a right angle?

(1)
(2)
(3)
(4)

A O N ©

The masses of an apple and a pineapple are shown below.

What is the total mass of these two fruits?

(1)
(2)
3)
(4)

805 g
850 g
905 g
950 g
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11.

12.

Timothy and Jimmy worked on a project together at 8.30 a.m.

They stopped at 12.45 p.m. for one hour funch.

After that, they continued to work on the project untii 2.45 p.m.

How long did they spend working on the project? -

(1)
(2)
(3)
4

4 h 15 min
5h 15 min
6 h 15 min
10 h 15 min

Which one of the foliowing rectangles has the smallest area?

(D
(2)
3)
(4)

7 cm

4cm

12 cm

10 cm

3cm

2cm

T O w >

6 cm D

5cm
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13.

14.

Mr Koh bought the two toys shown below.
He gave $100 to the cashier.
How much change did he receive?

(1)
(2)
(3)
(4)

$14.25
$15.25
$53.15
$85.75

James had 79 stickers. He had 14 stickers more than Sally,
Sally used 26 stickers. How many stickers did Sally have in the end?

(1)

@

(3)
(4)

39
65
67
93
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16.  The bar graph below shows the number of durians a fruit seller sold last week.

Sale of Durians
50 +
45 Fm e
40 +
35 Femmmmmmmmmemeeoeo oo “ae
30 £
Number -
of -
durians
sold

Monday Tuesday Wednesday Thursday Friday

Day of the Week

The number of durians sold on Tuesday is twice as many as that sold on

(1) Friday

(2) Monday

(3) Thursday
(4) Wednesday
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16.

17.

Mrs Tan bought 2 watermelons during a sale.
How much money did she save?

(1)
(2)
(3)
(4)

watermelon

Sale
Now $3.80

$2.20
$4.40
$7.60
$9.80

Adam, Betty, Clara and Denzel are running a race.
Adam is 70 m ahead of Betty.

Betty is 40 m behind Clara.

Denzel is 20 m behind Adam.

Who is in the 3™ position?

(1)
(2)
(3)
(4)

Adam
Betty
Clara

Denzel

End of Booklet A
Go on to Booklet B
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" Section B: 32 marks

Questions 18 to 21 carry 1 mark each. Questions 22 to 35 cany 2 marks each.

Show your working clearly in the space below each question and write your answers
in the spaces provided. For questions which require units, give your answers in the
units stated.

18.  What is the correct amount on the cheque in numerals?

“‘ 1rFa:
i I &7
ALGASE2C

] TEER A ST, A

Answer: $

19.  Paul emptied the water from Container B into the two beakers shown below.
What was the volume of water in Container B?7

Answer: mi
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20.

The figure below is made up of 6 identical squares.
What fraction of the figure is shaded?
Give your answer in the simplest form.

Answer:

21.

Use a ruler to draw a fine_parallel to line XD. The line has to pass through
the point given in the grid below.
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22.  Study the equations below carefully.

A represents the number

Answer:
23. Find the digits represented by A and B.
AlO © O
- 4 3 7 |B
£ i

4 6 2 9

Answer: A=

B=

. A
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24, '
@ - . —

What are the values of A and B?

Answer: A =
25.  Study the figure below carefully.
(@) Name a line parallel to AG.
(b) Name a line perpendicular to AB.
B F
G
NIV /
C =
Answer: (a) AG [/
(b)AB L

y s
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26. Timothy started his homework and finished it at the time shown below.
How long did he take to complete his homework?

Answer, min

27. The figure below is made up of identical rectangles.
Two of the rectangles are shaded.

- 3
How many more rectangles must be shaded so that — of the figure is
shaded?

4

Answer:

13
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28.

Form the greatest 4-digit number using the clues given below.

e All the digits are different
e The digit in the tens place is the greatest odd number
e The digits in the hundreds and ones place add up to 12

What is the number?

Answer:

29.

A total of 264 cars and vans are parked in a car park.
The cars are 3 times as many as the vans.
How many vans are in the car park?

Answer:

. 30.

A shirt and 3 pants cost $69. 3 shirts and 3 pants cost $99
How much does a shirt cost?

Answer: §

14
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31.  The bar graph shows the number of paper hearts made by five children.
Lily
Ray
Yanni
Joseph Pl
Daniel
I 1] L) L] l
40
Number of Paper Hearts Made
(a) Which two children made the same number of paper hearts?
(b) Who made 8 more paper hearts than Ray?
Answer: (a) and
(b)
32, There are 4 times as many girls as boys in a library.

There are 108 more girls than boys.
How many boys are there in the library?

Answer:

15
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33.  Study the pattern below carefully.

YN (D (o) ~\
(cee) [ecoe ee| (@oe
= 0| | 299|906
o coe||loee

@ e e

_ J L J & __
Pattern 1 Pattem 2 Pattern 3 Pattern 4

How many marbles will there be in Pattern 87

Answer:

34. MrWong and his family reached Marina Barrage at 3.30 p.m.
They spent 2 h 15 min exploring the place and had a picnic there.
They then spent 1 h 45 min flying their kites before geing home.
What time did they leave Marina Barrage?

Answer: p.m.

16 Z 4

Need a home tutor? Visit smiletutor.sg




35.

6 men and 4 women sat at each table during a charity dinner.
60 more men than women attended the dinner.

All the tables were fully occupied.

How many tables were there altogether?

Answer:;

17
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Section C: 18 marks

For questions 36 to 40, show your working clearly in the space below each question
and write your answers in the spaces provided. The number of marks available ns
shown at the end of each question or part-question.

36. Fammer Joe picked 8427 strawberries. Working Column
He picked 5000 fewer mangoes than strawberries.

{a) How many mangoes did Farmer Joe pick?

(b) Farmer Joe packed 9 mangoes into each box.
How many mangoes were not packed into the boxes?

Answer: (a) (2)

(b) 2)

18
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37. 6 identical glasses can hold as much lemonade as a bottie. Working Column

3 such bottles can hold as much lemonade as a jug.
The capacity of the jug is 1692 ml.

(a) How much lemonade can a bottle hold?

(b) How much lemonade can a glass hold?

Answer: (a) (2)

(b) (2)

19
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38.

‘Ben and Henry had a total of 210 cards at first. Working Column

After Henry gave 35 cards to Ben, Ben had twice as many
cards as Henry.

How many cards did@ Henry have at first?

Answer:

20
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39. Shops A and B sell similar cupcakes. % J Working Column

Shop A Shop B

aa| (698
ae| |
il |

- 4 for $11 6 for $15

Ashley needs 24 cupcakes for a tea party.
She wants to buy from the cheaper shop.

Which shop will she buy the 24 cupcakes from?

{Show your workings clearly in the space below fo support
your answer.)

Answer: Shop

21
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40.  The figure below is made up of 5 identical rectangles. Working Column
? I
F 3
24 cm
v
(a) Find the breadth of one rectangle.
(b) Find the perimeter of the figure.
Answer: (a) (2)
(b) (2)
End of Booklet B
4

22
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EXAM PAPER 2018 (P3)
SCHOOL : MARIS STELLA
SUBJECT : MATHEMATICS

ANSWER SHEET

TERM  :SA2
ORDER CALL :
Q1 Q2 Q3 Q4 Qs Q6 Q7 Q8 Q9 Qio
1 3 3 4 4 2 1 4 4 4
Qli Q12 Qi3 Qil4 Qis Qile Q17
2 3 1 1 2 2 3
18)$6077 19)380m| 20)1/3 21) .
3l
22)4 23)A:9  B:1 24)A:25  B:150 _
25)a)DE  b)AG 26)1h35min  27)7 28)8795 N
29)66 30)515 31)a)Ray and Joseph b)Daniel
32)36 33)25 34)7.30 p.m. 35)30

36)a)8427 — 5000 = 3427

b)3427 <+ 9 =380 R7 (ANS: 7)
37) a)1692 <+ 3 =564ml

b)564 + 6= 94ml

38)210 + 3 =70
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70 + 35 =105
39)ShopA:24 - 4=6
$11 x 6 = 566
" ShopB:24 - 6=4
$15 x4 =560
ANS:B

40) a)24 =+ 3 =8cm
b)8 x4 =32
96 + 32 = 128cm
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Answer all questions.

Name: )
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Section A -

Questions 1 1o 4 carry 1 mark each.

Questions 5 to 16 cairy 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the oval (1, 2, 3 or 4) on the Optical Answer

Sheet.

{28 marks}

1

o iB)

in 9 087. what does the digit 8 stand for?

1

8

(2) 80
8 000

(4)

What is the mass of the bunch of grapes shown above?

(1)
(2)
(3)
(4)

What time is one hour before 7:30p.m?

(1)
2)
)
(4)

200 g
205 g
250 ¢g
300 g

Half past 8 in the moming
Half past 6 in the evening
Half past 8 in the morning

Half past 8 in the evening -

(Go on to the next page)
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What is the missing number in the blank?

(1) 24
2y 21
3 3
@ 7

Which one of the following is the same as 3 thousands, 12 hundreds and 5
tens el . , . A
(1 3 017

(2) 3125

(3) 4125

(4) 4250

Find the number in the box.

55 R 2

s

(1) 332
(2) 331
(3) 330
(4) 328

Zaki had 3 258 marbles. He had 1 408 fewer marbles than Joseph.
Find the total number of marbles they had.

() 1850
2) 4666
(3) 5108
(4) 7924

{Go on to the next page)
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4

Refer to the graph to answer questions 8 and 9.
The graph below shows the number of 30¢ stamps bought by 4 children.

Chris H

|
g
B
E Hiroshi [
6 1FCS
5
¢ Devi PRI,
£
0
0 4 8 12 16 20
- Number of Stamps :

8 Which of the following children bought at 10 stamps each?

(1) Hiroshi and Chris
{2) Hiroshi and Devi
(3) Mandy and Hiroshi
(4) Mandy and Devi

9  How much more did RBiroshi pay for his stamps Chris?
(1) $0.860
2y $1.80

3) $2.00
4) $2.40

{Go on to the next page)
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10

11

5

How many of the marked angies is/ are acute angle(s)?

)
2

(3)
@

B N S

Complete the number pattern below.

4 985, 4 860,4 935,

M
(2
(3)
(4)

4 900
4 905
4 910

4915

, 4885

{Go on to the next page)
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12  Square ABCD is made up of 2 identical rectangles.
What fraction of the Square ABCD below is shaded?

Give your answer in the simplest form.

A B

()
)

3

oI Blw NS B

(4)

13 After buying 7 pencils, Christina had $6.20 left.
Each pencil was sold at $2 each. How much money did she have at first?

(1) $4.20
2) $14.00
(3) $11.20
(4) $20.20

14 Which of the following is the greatest in volume?

() 720m¢

2 7200mt
) 7t2mi
4y 7t20mt

{Go on to the next page)
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15

@

16

The figure below is made up of identical squares.

-

What is the area of the figure?

(M

t1am

7 cm?

aem?
12em?
16 cm?

Manish has 86 pens. Jonas has twice as many pens as Manish.
Menry has three times as many pens as Manish. How many pens do the three

boys have altogether?

O
2
3
4)

172
258
430
516

Go on to BookletB
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Section B

Questions 17 to 22 carry 1 mark each.

Questions 23 fo 34 camry 2 marks each.

White your answers in the spaces provided,

For questions which require units, give your answers in the units stated. (30 marks)

17 3847=3000+] ? +7

What is the missing number in the box?

Ans:

18  What is the smallest 4-digit number that can be formed with these digits? . .

5 4 0 9

Ans:

19 At a funfair, there were 233 children, 210 men and 187 women.
How many fewer children than aduits were there at the funfair?

Ans.

20 Suzy had $59.75. She spent $12.30 on a pencil case. How much money had
Suzy left?

Ans:

{Go on to the next page)
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3

21 What fraction-of the figure below is shaded?
Give your answer in the simplest form.

-

T ow

v

|

N

N\
A\

. Ans:
. 22 Findthe sumof7 642 and 351.
Ans:
23 A total of 228 pears are divided equally into 4 bags.
" 'How many pears are there in each bag?
Ans:

24  Arrange the following numbers from the greatest to the smallest.

3685 5863 6 538 5683
Ans. , , »
(greatest} (smallest)
{Go on to the next page)
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‘Number of Books Collected

The graph below shows the number of books collected at a charity organisation from
January to April. Study it carefully and answer question 25.

January Februa March April

Months

25 The total number of books coliected in two months is 60.

Which are the two months?

Ans: ~and

430 on to the next page)
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27

28

28

* - 220 = 1020
whatis < > 2

Ans:

A music class started at 9 o'clock in the mornmg Lt Iasted for 90 mmutes

At what nme did the class end?"

Ans: _am.

The sum of two numbers is 50. The difference between the numbers is 18
What is the smaller number?

Ans’

Arrange the following fractions from the smallest to the greatest.

5 8

1
3612

Ans: , ,
{smallest) (greatest)

{Go on to the next page)
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30

31

The figure below is made up of two identical rectangles.
What is the perimeter of the figure?

Ans: _ _ cm.

Using a set-square and a ruler, draw a line parallel to XY passing through the
Poimt Z

{(Go on to the next page)
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32  The Tan family started their hike at Point A and ended their-hike-at-Point C.
How far did they hike from Point Ato C?
Give your answer in kilometres and metres.

Point A PointC
Start | wa'AW/LHd
2 998 m 5006 m

Ans: km m

33 Mrs Lim bought some eags. She baked 8 cakes.
She used 6 eggs to bake each cake and had 4 eggs lefi.
How many eggs did she buy?

34  Mrs Davis wants to buy 34 oranges.
What is the least amount of money she needs to pay for the 34 oranges?

1 orange for $1.
4 oranges for $3.00

Go on to Booklet C
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Section C s .

For questions 35 to 40, show your working clearly and write your answers in the
space provided. The number of marks available is shown in brackets { } at the end
of each question or part-guestion. (22 marks)

35 There are 2 651 vanilla cupcakes at a bakery.
There are 539 more vanilla cupcakes than chocolate cupcakes.

(a) How many chocolate cupcakes are there?

(b) How many cupcakes are there altogether?

Ans: (a) {1]
(b) [2]
{Go on to the next page)
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36 Mrs Lim has two bags of sugar. The first bag has 1542 g of sugar.
After using 157 g of sugar from the bag, there is still 852 g of sugar more
in the first bag than in the second bag.
What is the mass of sugar in the second bag?

Ans: {3}

{Go on {0 the next page)
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1
37 Lucy ate%—of a cake. Her brother ate 55 of the same cake.

(a) What fraction of the cake did they eat in all?
{b) What fraction of the cake was left?

Give both answer in the simplest from.

Ans. {a) [2]
(b) 12}
{Go on to the next page)
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38 Meera took 45 minutes to travel from her home to a supermarket.
She spent 35 more minutes shopping at the supermarket than traveling time

Meera finished shopping at 1;15 p.m

(a) How long did she shop at the supermarket?
( Give your answer in house and minutes )

(b) Atwhat time did she start shopping ?

Ans:  (a) [2}
(b) 12}
(Go on to the next page)
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6

The capacity of a container is 4 680 mi.

% 6 identical jugs can fill a container compietely.
A jug can fill 5 identical cups completely:
(a) What is the capacity of each jug.

(b) What is the capacity of each cup?

Ans:  (a) | [2]
{b) [2]

{Go on to the next page)
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40 Mrs-Rajah-packed a total of 38 kg of flour into 15 bags.
The fiour was packed into bags of 2 kg and 3 kg

How many bags of 2-kg flour and hoe many bags of 3- kg flour were there?

Ans: ___bags of 2-kg fiour

béags of 3-kg flour [4]

End of Paper
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ANSWER KEY

YEAR : 2018

LEVEL : PRIMARY 3

SCHOOL : METHODIST GIRLS' SCHOOL.
SUBJECT : MATHEMATICS

TERM : SAD

BOOKLET A

Q [ [
Q6 [1 Q7
Q113 Q12
Q164

i

| Qu 1 |
1 |2 0151 |

NN
2
SR

013

BOOKLET B

Q17) 840

Q18) 4059

Q19) 159

Q20) 547.75

Q21) °

Q22) 7993

023) 57

(24) 6538 , 5863 , 5683 , 3685
Q25) January and March
Q26) 310

Q27) 10.30a.m.
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Q28) 16

1 8 5
Q293,22

Q30) 58cm

i i i H
e e ey - il 7

Q32) 8km 4m
Q33) 52
Q34) $26

BOOKLET C

Q35a) 2651-539=2112

There are 2112 chocolate cakes.
Q35b) 2651+2112=4763

There are 4763 cupcakes altogether.

Q36) 157+852 = 1009
1542-1009 = 533

The mass of sugar in the second bag is 533g.

2.
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3 1

They ate % of the cake.

1 3 1
Q37b) 1-2=3-2

% of the cake was left.

Q38a) 45+35 =80
80min = 1h20min

3

She spent 1h20min at the supermarket.
Q38b) 1h20min before 1.15p.m. is 11.55a.m.

She started shopping at 11.55a.m.

Q39a) 4680+-6 =780

The capacity of each jug is 780ml.

Q39b) 7805 = 156

The capacity of each cup is 156ml.

Q40) 7 bags of 2-kg flour, 8 bags of 3-kg flour
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o e

NAN HUA PRIMARY SCHOOL
SEMESTRAL ASSESSMENT 2 ~ 2018
PRIMARY THREE

for Questions 1 -~ 15.

MATHEMATICS
INSTRUCTIONS TO CANDIDATES

Write your name, register number and class in the space provided,
Do not turn over the page until you are told to do $O.

Follow all instructions carefully.

Answer all questions.
Shade your answers in the Optical Answer Sheet (OAS) provided

" Marks Obtained

Section Maximum Marks | Actual Marks
A 30
B 30
C 20
Total 80
Name :
Class:Pr 3

Date : 31 October 2018

Duration: 1 h 45 min

Parent’s Signature :
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Section Az Multiple-Choice Questigns{_[zo marks)

Questions 1 to 15 carry 2 marks each. For each question, four options are given.
Only one of them is the correct answer., Make your choice (1, 2, 3 or 4) and shade
the correct oval orrthe Optical Answer Sheet (OAS). -

1. In 8517, the digit ‘5’ stands for

(Y &

(2) 50

(3) 500

(4) 5000 )

2. 5 thousands and 36 hundreds is the same as

(1) 536

(2) 860

(3) 5360

(4) 8600 ¢ )

3. Find the difference between 496 and 57.

(1) 439
(2) 441
(3) 543
(4) 553 _ _ ( )
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Refer to the graph shown below.

How many more people chose drawing than Ilstemng to music as their favourite ho bby’?

Favour_i‘ie Hobby

_ Listening to Music § SELT

Watching Movies |

Hobbies Reading il

Drawing |

ol
»

o 50 100 150 200 250 300 350 400 450 500 550

Number of People
(1) 100
(2y 350
(3) 450
(4) 550 ' ( )

Which of these angles are greater than a right angle?

(1) aandb

{2) bandc

(3) candd _

(4) danda B )
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6.

What is the time shown on the clock below?

&)
(2)
3)
4)

17 minutes to 11
17 minutes past 11
17 minutes to 12

17 minutes past 12

Tirn bought 18 packets of sweets. There were 9 sweets in each packet.

How many sweets did she have In total?

(1)
(2)
&)
(4)

72
92
152
162
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1 .2
8. Addgands.

(1)
(2)
(3)

4

Mtn Wi Mih N

9. Mary started her dance lesson at 2.45 p.m.
Her lesson ended at ended at 5.15 p.m.

What was the duration of her dance lesson?

(1) 1 h30min
{2) 2h30min
(3) 3h30min
(4) 7 h30min
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10. What fraction of the figure is shaded?

11.

(1)

(2)

(3)

(4)

L

Wik

4

The figure below shows 3 identical toy bears on a weighing scate.

What is the mass of each toy bear?

(1)
2)
(3}
4)

600 g

1300 g
1800 g
5400 ¢
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12, What is the smallest 4-digit number that can be formed using all the digits below?

13.

14.

(Each digit can only be used once.)

5 3 8 2

(1M
(2)
3)
(4)

(1
(2)
(3)

2358
2385
2538
2583 ( )

Sally had a container of 324 buttons.

She used 6 buttons and packed the rest equally into 6 boxes.

How many buttons were there in each box?

(1M
(2)
(3)

- (4)

48

53

54

55 ( )
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15. A drink store owner sold 314 bottled drinks Jast week.
She sold 3 times as many boftled drinks this week than last week,

How many more botiled drinks did she sell this week than last week?

(1) 314
(2) 628
(3) 942
(4) 1256 ()
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Section B: Short Answer Questions (30 marks)

Questions 16 to 25 carry 1 mark each. Questions 26 to 35 carry 2 marks each,
For each question, show your working clearly in the space below and write your
answer in the box provided. Give your answer in the unit stated.

16. Write eight thousand and ninety-four in numerals.

17,  Arrange these numbers in order. Begin with the greatest number.
greatest

18.  Alex had 97 coins. He packed them into bags of 8 coins.

He had some coins left. How many coins were left unpacked?
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19.  What is the product of 7 and 367

20. John bought a 2-metre ribbon from a shop.
When he returned home, he used 20 cm of the ribbon.

What was the jength of ribbon that John had left?

cm

21.  Draw a line in the square grid that is paralle! to the line AB,
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22. A numberis 20 tens more than 5045. What is the number?

23. Serene filled a bottle with 360 ml of water.
She needed 2680 mi of water more to fill the boitle completely,
What is the capacity of the boitle?

i

24. 8765 = 8000 + +5

10
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25. Arrange the following boxes, A, B and C in order. Begin with the lightest box.

lightest

26, Look at the shape below.

a) How many angles in the shape are smaller than a right angle ?

b) How many right angles are there in the shape?

11
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27. Seven identical lamp post were placed along a straight road as shown below.
The lamp posts were placed 130 m equally apart.

What was the distance between the 1%t lamp post and the 7 lamp post?
?

[ ut

-
[l t

1 130 m )

--------------------------------

1st 2nd . 7th

28. The library is open from 8 a.m. to 9.30 p.m. daily,
How long is the library open a day?

h min

29. Jane bought a bag. She gave the cashier $100.

She received $57.90 change. How much did the bag cost?

12
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30.

Elaine wanted to fill a 2-litre jug completely with fruit punch,

She poured 520-mj of it into a bottle.

How much fruit purich was left?

Give your answer in millilitres.

13

m|
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31.  Study the bar graph below carefully and answer Questions
The graph shows the number of visiiors to the zoo on & days.

Susan spilled water on it and the scale was smudged as shown beiow,

Number of " . A o’
visitors ) A
'Monday Tuesday Wednesday Thursday Friday

The tfotal number of visitors on Monday and is 2 times the

number of visitors on Friday.

- 14
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32, Look at the advertisement below.
What is the least amount of money Danielle needs to pay for 10 toys?

One toy for $4 o
Three toys for $9

15
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33. Below is the programme for a carnival day.

Event Startsat | Endsat
Holiywood Action 11.35a.m. 1.05p.m.
Fantasy Carpet 1.00p.m. | 215pm.
Water World 1.00p.m. ';1.30 p.m.
4-D Adventure 245pm. | Q33 (b)

a) Bala watched Hollywood Action and left.
How much time did Bala spend at the carnival?

h min

b} Aini finished waiching the Fantasy Carpet and the 4-D Adventure,
She spent a total of 1 h 45 min at the camival.
What time did the 4-D Adventure event end?

p.m.

) 16
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34.  Find the perimeter of Figure A.

7cm

5em
4dem

10cm

Figure A

cin

35. Jeremy had 2 times as many stamps as Keith.
After Jeremy gave Keith 8 stamps, they had the same number of starnps.

How many stamps did Jeremy have at first?

17
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Section C: {5 x 4 marks)

Questions 36 to 40 carry 4 marks each. All number sentences, statements and
workings must be clearly shown. Write your answer in the spaces provided.

36. Joanne has 624 red butfons.
She has 310 fewer green butlons than red butions.

(a) How many green buttons does she have?
{b) How many buttons does she have altogether?

Ans:

b)

18
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37.  Jaime bought a dress and 2 shirts for $32,

A dress cost twice as much as a shirt.

(a) How miuch does a shirt cost?
(b) How much does a dress cost?

Ans:
a)

19
| b}
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38.

Andy had two pieces of cloth, Cloth A and Cloth B,
He cut Cloth A completely into 4 equal pieces, each measuring 8 m.
(4) What was the length of Cloth A?
(b) Cioth B measured 69 m.
He needs 7 m of cloth to make a dress.

How many dresées .can he make with the Cioth B?

Ans:

20 by
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39. Carin has 3 times as many stamps as Daryl.
Emily has 15 stamps fewer than Daryl.
(a) Emily has 20 stamps, how many stamps does Daryl have?

(b) How many stamps does Carin have?

Ans;

a)

21
D)
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40,

Mrs Tan used a 108-cm string to make a frame for a rectangular painting
with a breadth of 9 cm.

a) What is the length of the rectangular painting?
b) What is the area of the reclanguiar painting?

9cm
A rectangular painting
Ansg:
a)
b)
- End of Paper -
22
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ANSWER KEY

YEAR : 2018

LEVEL  : PRIMARY 3

SCHOOL : NAN HUA PRIMARY SCHOOL
SUBJECT : MATHEMATICS

TERM : SAZ
SECTION A
Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10
3 4 1 2 2 2 4 4 2 2
Q11 |Q12 (Q13 1Q14 |Qi5
1 1 1 2 2
SECTION B
Q16) 8094
Q17)7765,7756,7675,7657
greatest
Q18) 7
Q19) 252
Q20) 180 cm
5

Q22) 5245
Q23) 620 ml
Q24) 760
Q25)C , A, B
Lightest

Q26)a) 2
b) 3

Q27)(780m)

1gap =130

6 gaps =130 X 6 = 780
Q28) (13 h 30 min )

Q29) ($42.10)
100 - 57.90 = 42.10

Q30) (1480 ml)
2000 - 520 = 1480

Q31) Thursday
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Q32) ($31)
9x3 =27
27 +4 =31

Q33)a) (1 h 30 min)
b) (2.45 p.m. )

Q34) (26 cm)
S+7+4+10=26

Q35) (32)
8x2=16
16 x 2 = 32

SECTION C
Q36)a) (314)
624-310=314
b) (938)

624 + 314 = 938

Q37)a) ($8)
32+4=8
b) ($16)
8x2=16

Q38)a) (32m)
8x4 =32

b) (9)
69+7=9

Q39)a) (35)
20 +15 = 35
b) (105)
35x 3 =105

Q40)a) (45cm)
108~9-9=90
90 + 2 =45

b) (405 cm?)
45 x 9 = 405

THE END
o R
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NANYANG PRIMARY SCHOOL

SECOND SEMESTRAL EXAMINATION
2018

PRIMARY 3

MATHEMATICS
(BOOKLET A)

Total Duration for Booklets A and B: 1 hour 45 minutes

~ Additional materials: Optical Answer Sheet (OAS)

| INSTRUCTIONS TO PUPILS

1. Do not turn over this page until you are told to do so.
- 2. Follow all instructions carefully.
3. Answer all questions.
4. Shade your answers in the Optical Answer Sheet (OAS) provided.

Name: ( )

Class: Primary 3 ( )
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Questions 1 to 20 carry 2 marks each. For each question, four options are
given. One of them is the correct answer. Make your choice {1, 2, 3 or 4)

and shade your answer on the Optical Answer Sheet. (40 marks)
1. Arrange the following numbers in order, starting from the smallest.
5642 | | 8744 | | 8547

(1) 5642, 8744, 8547
(2) 5642, 8547, 8744
(3) 8547, 8744, 5642

(4) 8744, 8547, 5642

2. Look at the number discs below.

OO 06

What is the value represenied by all the number discs shown?

(1) 3600
() 6030
(3) 6300
(4) 9000

3. Subtract 1974 from 7563.

(1) 5589
2 6411
(3) 6620
(4) 6699
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What is the sum of 8489 and 32107

What is the product of 748 and 672

What is 56 divided by 77

(1} 3279
2) 3699
{3 9279
(4) 9699
(1) 4248
(2) 4488
(3) 4524
(4) 5028
() 6
{2y 7
3 8
4y 9

What is the remainder when 878 is divided by 37

()
@)
@)
)

292

2
&
é
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1
Which of the following is not an equivalent fraction of 1 ?

{1

2}

(3)

4)

Arrange the fractions in order, starting from the smallest to the greatest.

(*)

@

3}

@

SlW N

qil b2

e

aro

Bl

ho| =

oM

M|

| L

M-

LR

T
2

2 3

5 '
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10.  Which one of the following marked angles is a right angle?

()

2}

3) \

(4}
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11.

12.

Study the figure shown in the grid below.

fm
-

1 m

p—

What is the perimeter of the figure?
(1) 9m 2y 15m
(3) 18m 4) 20m

Look at the number cards below.
Each number can only be used once.

Form the smallest 4-digit even number with the given cards.

(1) 9803
(2) 9380
(3) 3008
(4) 3089
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13.

14,

13 5).

Study the number pattern below.

6023 6203 6383 6563 | 2
What is the missing number?
(ty 6763
(2) 6743
(3) 6643
(4) 6581

The number of chickens in a farm is 4 fimes as many as the number of

ducklings.

There are 312 ducklings in the farm.
How many more chickens than ducklings are there in the famm?

(1) 1248
2) 936
(3) 234
“@ 78

Tam and his 7 friends are each able to fold 1 paper crane in 1 day.
What s the smallest number of days for them to fold 672 paper cranes?

(1) 112
) 96
(3) 84
4y 74
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16.

17.

Mr Ng cycles 1965 m from home to his office.

In the evening, he cycles the same distance home.
What is the total distance he cycles daily in kilometres and metres?

(1) 1km965m
2y 3km330m
{(3) 19km65m
(4) 38km30m
Look at the figure below,
vd
r e 7 _
v |
ﬁ« G ?

Name a pair of paraliel lines.

(1)
2)

)
@

AB I CG
CBHED
ACHCB
AC I FE
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18.

19.

The length of a rectangle is 28 em.
The length is 4 fimes as long as #s breadth.
What fs the perimeter of the rectangle?

(1) ti2om
(2) 70cm
(3 35em
(4) 7em

Ahmad has 899 apples.

After throwing away 345 roften apples, he packs the rest of the apples
inlo: bags.

Each bag can contain at most 8 apples.

What is the smallest number of bags that he needs. {o hofd all the rest
of the apples?

¢f) 69
@ 70

(33 155
(4) 156

Ravindran is thinking of a 3-digit number.

It is. an evern number divisible by 5.

The digits ire the hundreds: and tens places are mulfipies of 4.

The digit in the tens place is bigger than the digit in the lhundreds place.
What is the number?

(1} 845
2y 840
(3) 480
(4 120
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NANYANG PRIMARY SCHOOL

SECOND SEMESTRAL EXAMINATIQN
2018

PRIMARY 3

MATHEMATICS
(BOOKLET B)

Total Duration for Booklets A and B: 1 hour 45 minutes

INSTRUCTIONS TO PUPILS

1. Do not turn over this page until you are fold to do so.
2. Follow all instructions carefully.

3. Answer all questions.

4. Write your answers in this booklet.

Name: { )

Class: Primmary 3 { }

Parent’s Signature:
Booklet A | 40
Booklet B 16g |
Total { 100

| Any query on marks awarded should be raised by 5 November 2018. We |
seek your understanding in this matter as any delay in the conﬁrmartlon of
marks will lead to detays in the generation of results.
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Questions 21 to 40 camy 2 marks each. Show your working clearly and write
your amswers in the spaces provided. For questions which require units, give
your answers in the unils stated. (40 marks)

21. Susie baked 6429 cookies.
She gave away 684 cookies and baked another 550 cookies.
How many cookies did she have in the end?

Ans:

22,  What ig the missing number in the box?

L ?] 9

8 24

Ans:

23,  Write 193 minutes in hours and minutes.

Ans : h min

'Need a home tutor?-Visit smiletutor.sg



24.  Aline PQis drawn in the box below.
a) Draw and label line RQ that is perpendicular to line PQ.
b} Draw and label line ST which is parélle.% to line PQ.

i’

Q

25.  Inahall, 63 chairs were aranged in 7 equat rows.
Each chair has 3 balloons tied fo it.
How many balloons are there in each row?

Ans:

26. Happy Shop selis 639 burgers it a day.
Super Shop sells § times as many burgers as Happy Shop in the day.
How many burgers are sold by the two shops aitogether in the day?
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27. A florist has 923 roses.
He packs 4 roses in each bouquet.
How many roses are left unpacked?

Ans:

28. A group of 6 friends shared a packst of swesets.
After each: of them took 27 sweets, there were 31 sweets left.
How many sweets were there in the packef at first?
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1
29, T of the figure below is shaded.
3. :
John wants 12 of the figure to be shaded.

Shade o show T of the figure shaded.

2 1 :
30. _————= |2
! 3 12 ?

What is the missing fraction?
Leave your answer in the simplest form.

Ans:

31. Joshua had $73.30 at first.
He sperd $24.40 on a book and his father gave: hime $17.70.
How much money did he have in the end?

Ans:
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32. Aweighing scale was used to measure the mass of 3 objects.

What is the mass of the lightest object?
Give your answer in kilograams and grams.

33.- A botile contains 950 mi of juice.
Deepti poured 300 mi of juice into: a cup.
She accidentally spilled some juice while pouring.
She then measured the remaining amount of juice in the bottle using a
measuring cup as shown below.

How much juice did she spifi?
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34.  Muthu left for Kuala Lumpur from his house on Satwrday.
He arrived irx Kuala Lumpur at $2.15 p.m.
The journey foek him 4 hours 45 minutes.
What time did he leave his house?
Give your answer in a.m. or p.m.

Ans:

35.  The following figure is made up of 3 identical rectangles.
The breadth of the recfangle is 5 cm.

AP
4

5em
What is the area of the figure?
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36. A teacher conducted a survey with a class of 38 pupils.
He asked everyone in the class about their favourite drinks.
Each pupil chose either apple juice, orange juice or milk.
Below is the graph he created based on the data he collected.
Draw the bar representing the numbear of pupils who Bike to. drink milk.
Favourite Drinks:
16 P
16 oo
14 -
12 - - — —
0 o
L§ 1
Mumberof 8 S
pupifs g .
4 P
N I
2 o
0 ; ] I
Apple Juice  Qrange Juice: Milk
Type of drink
37.  Juliana had some peaches at first.

She used 2313 peaches to make peach pies.

After receiving 546 peaches from heg friend, Juliana had 7425
peaches.

How many peaches did she have at first?
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38.  Nan Yin has $37.60 and his grandfather gave him another $17.50.
He wants to buy the-fan as shown below.
How much more money does he need in order to buy i?

Ans: $

39. A bus left the first stop with the same number of children and adult.
At the second stop, half e aumber of adult got off.
At the thirg stop, 9 adults gof on.
In the end, the tofal mumber of people om the bus was 27.
What was the total number of adults and children when the bus left the
first stop?

Ans:
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The table below shows the number of muffins Mr Tan sold for each
flavour over a weekendé.

Banana Hcméy , Wainut
Number of muffins sold = 35 12 20

Which graph below represenis the correct number of muffins sold for
each flavour?

. A
I} L3 10 5 20
Numbers: of Muffing: Sold:
| Flavour Honey
B : :
Walnet |
20
C
40
Banema
Flavour Honey
B |
Wtk
@ Ll i n 49
Numbers of Mulins: Sold
Ans:
g
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For queslions 41 o 45, show your working clearly and wiile your answers in
the spaces providad. Tha numbar of marks avadabde is shown m brackats | |
al the end of each question or part-guestion. L0 ek )

41.  There were 5570 people who atlended a concert
There were 2200 men.
Thare wars 310 fowss womeasn than man.
The rest of the peopde ware children.

(2} How many men and women wers ther aliogather?

(b} How many childmn were there?

Ans: (a) i2]
{43 [2]

0
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42.

The table below shows the starting time and duration for differant

Now Showing

Adventurer The Identity War
Duration: 131 minutes

My Little Boney

Durafion: 116 minutes.

2,00 p.m.

. 5.00 p.m.

' 10.45 a.m.

- 8.40 p.m.

3.15 p.m.

 6.00 p.m.

2.15 p.m.

9.60 p.m.

' 3.50 p.m.

7.00: p.m,

L 4.30 pm.

1%.15 p.m.

4.30 p.m.

. 7.30 p.m.

A group of friends met at a movie theatre.
The boys wanted ta watch “Adventurer The ldentify War".
The. girls wanted to watch “My Little Boney”.

Both the boys and gifs decided to watch their movies at the same

starting time.

{a) What fime did the girls: finish; their movie?

Ans: {a}

@)

(2

1t
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43.  The graph below shows the number of food trays that 5 classes of
Primary 3 returned during their Values-In-Action (VIA) activity.

Number
of Trays

(a)

(b}

VIA Activity
60

50 4 ; : : |

40 | o

o — < = — M

3A 3B 3c 33D 3E
Class

What was. th(_e totat number of trays returned by the 5 classas?

Class 3F returmmed 20 more trays than Class 38.
Which class retumed the same number of trays as Class 3F7?

Ans:  (a) i2]
(b} (2]

12
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44. A tailor has 3 pieces of ribbon.

(a] The tofat lengfh of the piace of blue ribbon. and the piece of yellow
ribbon is 485 cm.
The piece of blue ribbon is 75 ¢cm longer than the piece of yellow
fibbon.
How lang is the piece of yeltow sibbon?

(b} The piece of red ribbon is 520 cm long.
The tailor wants o cut i info 5 shorter pieces of the same langth.
How long is each shorter piece of red ribbon?

Ans: (a) 21

®) 21

13
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45,

Rahim took part in a spelling competition.

For every correct answer, he was awarded 6 points.
Faor every incomect answer, 3 points were deducied.
After 12 questions, he scored a fotal of 36 points.
How many questions did he answer correctly?

Ans: [4}

End of Paper

14
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ANSWER SHEET

EXAM PAPER 2018 {P3)
SCHOOL : NANYANG
SUBJECT : MATHEMATICS

TERM  :SA2
ORDER CALL :
Qa1 Q2 Q3 Q4 Qs Q6 a7 Qs Q9 Q1o
2 3 1 4 2 3 2 4 1 1
Qi1 Q12 Q13 Q14 Q15 Q16 Q17 Qig Q19 Q20
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RAFFLES GIRLS’ PRIMARY SCHOOL Your
S
SEMESTRAL ASSESSMENT 2 | ooint
2018 80
marks
Parent's
Name: ( ) Class:3( ) Signature
24 October 2018 MATHEMATICS Duration: 1 h 45 min
SECTION A (28 marks)

Questions 1 to 6 carry 1 mark each.

Questions 7 to 17 carry 2 marks each.

For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade your answer (1, 2, 3 or 4) on the OAS
provided.

1. What is the value of digit '5’ in 35297
(1) 5
(2) 50
(3) 500

(4) 5000

2. Express 6040 min km and m.
(1) 6km4m
(2) 6km40m
(3) 60km4 m

(4) 60 km 40 m

Page 1 0of 22
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4
3.  Which of the following fractions is equivalent to o ?

(1)

B | i

Wim

@

3

WiN

1w

(4)

4, 366x6=

(1) 2196
(2) 1896
(3) 1866
(%) 1832

Page 2 of 22
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5. Meiling started her piano lesson in the moming as shown in the clock.

Her lesson ended 45 minuies later.
What time did her lesson end?

( \\\\‘l”f///\

\ /
Sy =
2,18
/ \
\_ /] /1] n\f\ -/
(1) 11.30 a.m.
(2) 11.30 p.m.
(3) 12.15am.
@) 12.15 p.m.
6. 744+ 8 =
(1) 93
(2) 94
(3) 5864
(4) 5952

7. Find the sum of 3488 and 278.

(1) 3656
(2) 3766
(3) 4766
(4) 6268

Page 3 of 22
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5 1
April ate -9- of a pizza. Jane ate -3- of the same pizza.
What fraction of the pizza did they eat altogether?

(1)

@)

(3)
. 2
3

Find the difference between 2827 and 3241.

(1) 414
(2) 586
(3) 1626
(4) 6068

Page 4 of 22
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10. What is the volume of water in the container?

1.

(1) 700 m¢
(2) 800 m¢
(3) 1£400 m¢

(4 12700 m¢
Kitty had 7 bags of beads. Each bag contained 427 beads. How many beads
did she have aitogether?

(1) 61
(2) 68
(3) 2949

(4) 2989

Page 5 of 22
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12. A cup of apple juice cost $4.75.

13.

A cup of orange juice cost $0.90 less than a cup of apple juice.
Cherie bought one cup of apple juice and one cup of orange juice.
How much did she pay?

(1) $3.85
(2) $5.65
(3) $8.60
{4) $10.40

Ali cut a cake into 10 equal pieces.

He ate 3 pieces of the cake and gave some pieces to his sister.
There were 2 pieces left.

What fraction of the cake did he give to his sister?

1 -—
2 —
3 —

7
@ —

Page 6 of 22
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14. Lila woke up at the time shown below.
She took 15 min to wash up and 20 min to take her breakfast
before she left for school.
At what time did she leave for school?

(1) 5.00a.m.
{(2) 5.30 am.
(3) 5.35a.m.

(4) 5.55 am.

15.  Which figure has an angle greater than a right angle?

N Y

Figure W Figure X
Figure Y Figure Z
(1) Figure W
(2) Figure X
(3) FigureY
(4) Figure Z
Page 7 of 22
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16. Jenny baked 836 cookies.
She packed them equally into 8 boxes and had 4 cookies left.

How many cookies did she pack into each box?
(1) 104
(2) 105
(3) 207

{4) 209

17. lan’s living room is 5 m by 4 m.
He covered the living room with a caipet thatis 3 m by 3 m.
What is the area of the room that is not covered by the carpet?

5m

4m
{1) 9m?
(2) 11 m?
(3) 16 m?
(4) 18 m2
Page 8 of 22
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SECTION B ( 32 marks)

Questions 18 to 23 carry 1 mark each.

Questions 24 to 36 carry 2 marks each.

Write your answers in the spaces provided.

For questions which require units, give your answers in the units stated.

All diagrams are not drawn to scafe. Marks will be awarded for relevant working.

18. Write 5048 in words.

16
19. Express 24 252 fraction in its simplest form.

Answer:

20, 3h28min= min

Answer: min

Page 90of 22
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21. 3092 + 1828 =

Answer:
22, 608+4=
Answer;
23. H53Bx9=
Answer:

Page 10 of 22
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24. Find the mass of the school bag below.

Answer: kg g
25. Kelly had 2845 stickers.
She had 1978 more stickers than Helen.
How many stickers did Helen have?
Answer:

Page 11 0f 22
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26. The mass of a watermelon is 2000 g.
The mass of a pineapple is 650 g.
How much lighter is the pineapple than the watermelon?

Answer: g

27. Arrange the following numbers in order, beginning with the smallest,

Answer:

(Smallest)

28. A stall owner packed 4 biue pens and 3 black pens into a box.
He packed 908 boxes aftogether.
How many pens did he pack into the boxes?

Answer;

Page 12 of 22
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28. There are § trees along Hillcrest Road.
The distance between sach tree is the same.
The distance between the 1t and 3™ tree is 250 m.
What is the total distance between the 2M and 6% iree?

1 250 m 3

Answer; m

30. Lily had 8 identical boftles of water,
Each bottle contained 330 mf.

She drank 2 bottles of water. How much water was left?

Answer: mf

Page 13 of 22
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31. The graph shows the number of people who attended a Musical from Monday
to Friday.

People at the Musical
160
140

120 E—
1N

2 100 -—J55 : t

g ot [

5 5

& 80— Ml «F
Y- : e
s 60 ' [y
3 ; —Ja s

¥
g 40 A -.‘5‘ '.-" 46'..
Z el b
T i { F 1
20 Do I‘L "‘»f
: ‘!%fy Ig 22
0 ol m— : . _.
Monday Tuesday Wednesday Thursday

Day of the week

On which day were there 50 fewer people who attended the Musical than on
Thursday?

Answer:;

32. Arrange the following fractions in order, begin ning with the greatest fraction.

2 7 1
9 12 2

Ans: ) ,
(greatest)

Page 14 of 22
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33. Write the letter(s) that have both perpendicular and paraltel lines in them.

AN

Answer:

34. Sarah arranged the tables and chairs that followed a pattemn. The first few
arrangements were shown below.

@ ® & ® @ ®
& @ @ ® @ &
® D 17 ® @& @
1 table 2 tables 3 tables

4 chairs 6 chairs 8 chairs

How many chairs would she use for the arrangement of 8 tables?

Answer;

Page 15 0of 22
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35. Sam and Jane had equal number of marbles at first. Sam bought another 98
marbles and Jane gave away 65 marbles. How many fewer marbles did Jane

have than Sam at the end?

Answer:

36. Fiona started cycling from her home. She cycled for 1h 30 min.
After that, she rested for 10 min and then continued to cycle for 50 min to the
library. She reached the library at 2.10 p.m.
At what time did she leave home?

Answer: a.m.

Page 16 of 22
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SECTION C (20 marks)

For question 37 to 42, show your working clearly in the space provided for
each question and write your answers with suitable units in the spaces
provided. All diagrams are not drawn to scale. Marks will be awarded for
relevant working.

The number of marks available is shown in brackets [ ] at the end of each
question or part-question.
37. Janet had 980 cookies.

She gave away 68 of them and packed the rest into boxes of 8.

a) How many cookies did she pack into the boxes?
b) How many boxes of cookies did she pack?

Answer: a) [1]

b) i2]

Page 17 of 22
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38. A group of 20 people attended an art course. The course fees are shown
below. '

Art Course Fees
Aduit $9
Child $5

The group paid a total of $148.
How many adults attended the course?

Answer; [3]

Page 18 of 22
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39. The graph shows the number of cupcakes baked by 5 children.

Cupcakes baked by 5 children

Eliza
Devi
Carol

Beity

Ali

by S bl et . — i s —
o — S —— P e A i e DA
+

0 20 40 60 80 100 120 140
~ Number of Cupcakes

a) Who baked the most number of cupcakes?

b) How many cupcakes should Ali give to Betty so that both of them wiil have
the same number of cupcakes?

Answer: a) 1

b) 2]

Page 19 of 22
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40.

Jenny wants to buy some hears.

Pears are sold in packets of 5 for $8 or 1 pear for $2.
She has $31.

What is the most number of pears she can buy?

Answer: (3]

Page 20 of 22
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41. Jar A contained 930 beads.
It contained twice as many beads as Jar B,
Jar B contained 189 more beads than Jar C.

a) How many beads did Jar C contain?
b} What was the total number of beads in the 3 jars?

Answer: a} f2]

b) [2]

Page 21 of 22
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42. Mavis cut out 3 equal rectangles from a piece of square paper.
The paper has a perimeter of 48 cm.
What is the perimeter of each rectangle?

]

e T L L L L E T

Answer: [4]

Page 22 of 22
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SCHOOL : RAFFLES GIRLS’ PRIMARY SCHOOL

LEVEL : PRIMARY 3
SUBJECT - MATH
TERM : 2018 SA2
CONTACT :

BOOKLET A

BOOKLET B

Q18) | Five thousand and forty-eight

Q19) |23
Q20) |[1h =60 mins
60 x 3 =180
180 + 28 = 208 min
Q21) | 4920
Q22) (152
Q23) | 4824

Q24) [(2kg¥500g

Q25) | 28451976 =869

Q26) | 2000 - 650 = 1350

Q27) |4268,4628, 4826, 4862
Q28) |4+3=7

908 x 7 = 6356

Q29) [(6-2=4

250 - 2=4

125 x4 =500 m

Q30) [6-2=4

Pg1
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330x4=1320 mi

Q31) | Wednesday
Q32) |712,%,2/8
Q33) |I1,E
Q34) i{8+1=9
9x2=18
Q35) |98 +65=163
Q36) | 11.40 am.
Q37) |a)980-68=912
b)912 -8 =114
Q38) |[20x5=100
148 — 100 = 48
9-5=4
48 -4=12
Q39) | a)Eliza
b)56 + 80 = 136
136 —-2 =68
80-68 =12
Q40) {31 +8=3R7
3x5=15
7+2=3R1
3x1=3
15+3=18
Q41) |[a)B:930 +-2=465
C:465-189 =276
b)A + B + C = 930 + 465 + 276 = 1671
Q42) (48 +-12=4

8x4=32cm

Pg 2
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Rosyth School
Second Semestral Assessment 2018
Mathematics '
Primary 3

Name ' 80

Class : Pr3- Register No. : Duration : 1} 45 min

Date : 30 October 2018 Parent’s Signature

Instructions to Pupils:

Do not open this booklet until you are told to do so.

Follow all instructions carefully.

This paper consists of 3 parts — Sections A, B and C.

For questions 1 to 15 in Section A, shade the correct ovals on the
Optical Answer Sheet (OAS).

5. ANSWER ALL THE QUESTIONS.

hatl <A e

Section Aﬂ 25
Se&ion B 35
.Secfion C - 20
Total : 80
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Section A {25 marks)

Questions 1 to 5 carry 1 mark each. Questions 6 to 15 carry 2 marks each.

For questions 1 1o 15, four options are given, One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval {1,2,30r4)onthe Optlca!
Answer Bheet (OAS) provided.
All diagrams in this paper are not drawn to scale unless otherwise stated.

1. In 2847, the digit 9 is in the

(1)
2
(3)

ones

tens

hundreds

(4) thousands

2. In which of the following numbers does the digit 2 stand for 2000?

(1)
(2)
(3)
(4)

2685
4623

5294

. 7132

3. What is the product of 14 and 77

(0
{2)
(3)
(4)

7
2
78

a8
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3

4. The heigiht of a classroom cupboard is about

(1) 180 cm
2y 180m
(3) 18m 1
(4) 18km
L 4
5.  Sixteen dollars and five cents is the same as
(1 $16.00
2y $16.05
(3) $18.50
{4) $16.55
6. The figures below are drawn on a 1-cm grid.
Which figure has the largest area?
1cm
-+
| ] | T
1cm ! l | ! | f

!
(1)' A
(2) B
3y C
@ D

Lt
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10.

- 7. There are 1357 boys and 1673 girls at'a stadium.

How many children are there altogether?

(1)
(2)
(3)
(4)

316
324
2920

3030

What is the remainder when 765 is divided by 77

{1
(2)
(3)
(4)

1
2
3

4

What is the quotient when 588 is divided by 5?

(M

@

@)
@)

)

(2)
(3)
(4)

111 _ _ o -
114
117

120

5 ribbons have a total length of 2 m. Find the length of each ribbon..

40 cm

400 cm
10m

40 m
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3

Express 4 thousands and 12 tens in numerals.

(1) 412
(2) 4012
(3) 4102 |
4 4120

The total cost of a dining table and 4 chairs is $910. The dining table costs

3 times as much as the chair, Find the cost of the chair.

(1) $130
2) $182
(3) $390

(4) $780

Tim wanted to pack some appies into 7 bags. He put 6 apples into each

bag and had 2 appies left. How many apples did he have at first?

(1) 28
(2) 40
(3) 44

(4) 56
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14, Which of the foI}Owi'rfg figures is not equivalent to %?

(1)

(2)

15.  Which one of the following fractions has the greatest value?. . .

(1
)
2 2
3
@ 2
4
(4) . 7
T2
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Section B (35 marks) . [ . Do not write
o ' - S : . . in this space
Questions 16 to 20 carry 1 mark each. Questions 21 to 35 carry 2 marks each. :
Show your working clearly in the space below each question and write your answer
in the answer boxes provided. Give your answers in the units stated.

All diagrams in this paper are not drawn to scale unless otherwise stated

16.  Write eight thousand and sixteen in numerals

Answer:
17. 2013+ 3759 =

Answer; |
18. 7003 m—-2000m=

Answer; A

19. Look at the following letters,

Which letter (L, U or V} has two pairs of perpendicular lines?

Answer:

Need a home tutor? Visit smiletutor.sg



20. -Cotnplete the nimber pattern.

3679 , 3689 , 3699 , 7 3719

Answer:

' ~ Do not write

in this space

21, Find the perimeter of the rectangle below.

9m

20 m

Answer: m

22. There are 4 different coins in Adam’s purse. He counted them and found

that he had $1.80 altogether. Fill in the value of the coins in the given circles.

Answer. £ , £ L, L

—

srnalle st
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-Studyr the _graph below and ansv}er QUesﬁbns 24 and 25.

Number of Students in 5 Clagses

8

o]
v

%)
o

Number of Pupils

-
t

Which class has the most number of pupils?

Do not write
in this space

24.
’ . Answer:
" 25, VWhich class has 4 more pupils than Class 3A? .~ - -
Answer: l
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26. Findthe difference between 9000 and 3627. Do not write
' : ' - in this space
Answer:
27. What must be added to 1659 to make 48007
—
Answer; I
28. Jason baked 192 cookies.
He baked 8 times as-many cookies as Daniel.
How many cookies did Daniel bake?
Answer:
2. Arrénée the following fractions in order..Begin with the greatest.
O R
2 k 4 ’ 3
Answer. , .
greatest
10
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30. -Cindy had $147. Judy had $26 more than Cindy. -~ Do not write
How much money do they have in all? tn this space

Answer. %

31. What fraction of the figure is shaded?
Leave your answer in the simplest form.

Answer, l

32. Study the figure below. The fruits weigh 2 kg.
Find the mass of the basket when it is empty.

Answer. P

11

Need a home tutor? Visit smiletutor.sg



33, The figure below is made up of two squares. Find the area of Square B. Do not write
‘ i in this space

7cm

b [
™ Lt

&
h

12 cm

Answer: cm?

34, Draw a line that is paralle} to AB, passing through point C.

N

B

" 35, Study the figure below. _
How many angles inside the figure are less than a right angle?

Answer,

12
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“Section C (20-marks) - - ‘ Do not write
s R _ _ in this space
For guestions 36 to 40, show your working and statements clearly in the space
below each question and write your answers in the bianks provided. The marks for

~ each question or part question are given in the brackets. Show your units clearly.

36. Ken bought 4 tins of paint. Each fin contains 800 mi of paint.
He had 600 mi of paint left after painting his house.
How much paint did he use to paint the house?

Answer: [4} - ‘

Lk
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~ 37.  Sue bought a skirt and a cardigan.

Do not write
if she gave the cashier $100, how much change did she receive? in this space
Skirt Cardigan
$27.9¢ $30
Answer: [4]

14
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38.- The perimeter of a square is 48 m. The breadth of a rectangle is the same | Do notwrite
as the length of the square. What is the perimeter of the rectangle? in this space
) 20m .
square rectangle
Answer: {4}
15
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38,

Chris and James have a total of $1000.
Chrs has $36 more than James.
How rmuch money does James have?

Anawer:

Do mot write
in this space

[#]

pli

-
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Stamp


There are 20 lampposts at an equal distance from one anotﬁe_r in a straight | Donot write

40,
: in thi
line. The distance between the 1% lamppost and 5" lamppost is 12 m. ' Eis space
What is the distance from the 1% lamppost to the last lamppost?
i { l | I I P  _ (5 S {
I ] | 1
4st ond g0 g g : 20m
- > »
Answer; (4]
End of Paper

17
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ANSWER KEY

YEAR : 2018
LEVEL  : PRIMARY 3

SCHOOL : ROSYTH SCHOOL

SUBJECT : MATHEMATICS
TERM : SA2

SECTION A

Q1 |3 Q2 1 Q3 4

Q4

Q6 |1 Q7 4 Q8 2

Q9

3 Q10 |1

Q11 |4 Q12 1 Q13 |3

QM

2 Q15 |3

Q16) 8016
Q17) 5772
Q18) 5003m
Q19) U

© Q20) 3709

Q21) 58m

Q22) $1, 50¢, 20¢, 10¢
Q23) Y, X, Z

Q24) 3B

Q25) 3D

Q26) 5373

Q27) 3141

Q28) 24

Q29)

W
W

1
;E)
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Q30) $320
1

Q31) 7

Q32) 600g

Q33) 25¢cm?

Q34)
A

Q36) 800x4 =3200
3200-600 = 2600
He used 2600ml of paint to paint his house.

Q37) 30.00+27.90 =57.90
100.00-57.90 = 42.10
She received $42.10 change.

Q38) 48+4 =12
20+20+12+12 = 64

The perimeter of the rectangle is 64m.

b
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Q39) 1000-36 =964
9642 =482
James had $482.

Q40) 5 lampposts = 4 gaps
12+4 =3

19x3 =57

The distance between the first lamppost to the last lamppostis 57m.

END
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SINGAPORE CHINESE GIRLS' SCHOOL
SECOND SEMESTRAL ASSESSMENT 2018
PRIMARY 3
MATHEMATICS
BOOKLET A

Name : __ 23 October 2018

Parent’s Signature

Class : Primary3SY/C/GISEI/P

There are 15 questions in this booklet.
SECTION A

Total Time : 1 h 45 min (Booklet A and B)

INSTRUCTIONS TO CANDIDATES
DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO.

FOLLOW ALL INSTRUCTIONS CAREFULLY.

ANSWER ALL QUESTIONS.

CHECK THAT ALL MCQ ANSWERS ARE SHADED CORRECTLY IN THE OAS

This question paper consists of 6 printed pages.
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Section A: { 30 marks )

Questions 1 to 15 carry 2 marks each. For each question, four options are given.
One of them is the correct answer. Make your choice {1, 2, 3 or 4). Shade the
correct oval (1, 2, 3 or 4) on the Optical Answer Sheet.

1.  Whatis five thousand and nineteen written in numerais?

(1)
(2
@)
(4)

519

5019
5190
5198

2. Which of the following is the same as 74037

M
(2)
3
@

700+40+ 3

700 + 40 + 30
7000 + 40 + 3
7000 + 400 + 3

3.  What is the remainder of 156 +~ 87

(1) 1
20 2
3y 3
3 4
4. 2018is ___ less than 5000.
(1) 2829
{2) 2892
(3) 2928
(4) 2982
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5. What fraction of the figure is shaded?

(2)

win

)

2
(4} s

3
6.  Mrs Tan bought a pizza. She ate s of the pizza and gave some to her son,

3
Then she had o left. What fraction of the pizza did she give her son?

5

1
(1) To

6
2) 0

8
(3) Py

9
(4) o
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7.

8.

8.

What time does the clock show?

(1)
(2)
3)
4

10 minutes to 2

50 minutes to 3

10 minutes past 10
50 minutes past 2

A supermarket is open at 8.30 a.m. It is open for 12 h 30 min each day.

What time does the supermarket close each day?

(1)
(2
3
4)

4.00 am.
9.00 a.m.
4,00 p.m.
9.00 p.m.

L.ook at the pictures carefully'. Find the mass of object C.

8}
(2)
(3)
(4)

100 g
500g
300g
6009
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10.  Fili in the blank with the correct number in the number patiern below.

462, 442, 422, 402 ?

() 352
2 372
(3) 382
(4) 392

11.  What is the value of the digit 9 in 19257

() 8
@ 90
(3) 900
(4) 9000

, 362

12. A pail is fitled to the brim with water. All the water in the pail 15 poured into the 2

measuring jugs. What is the capacity of the pail?
(Give your answer in millilitres.)

Pail measuring jugs

(1) 1300 m)
(2) 1325 m
(3) 1350 mA
{4y 1375 mhi
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14.

Wl

(1)

(2)

3)

)

Four 20-cent coins + eight 50-cent coins

(1)
(2)
()
(@)

@lw

$2.20
$2.40
$4.20

$4.80
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The graph below shows the time children go to bed each night.
Study the graph and answer guestion 15 below.

50 ——

40 T

Number

of -
children 30

.....................

8p.m.  9pm. 10p.m. 1lp.m.

Time children go 1o bed at night

15. How many children go to bed after 9 p.m. ?

(1) 25
(2 50
@ 75
@) 90 | v

End of Booklet A
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SINGAPORE CHINESE GIRLS’ SCHOOL

SECOND SEMESTRAL ASSESSMENT 2018

PRIMARY 3
MATHEMATICS
BOOKLET B
Name : (
Class : Primary3SY/C/G/SE/P 23 October 2018
Marks
| attained Max Mark
Bookilet A Section A 30
Section B
Booklet B 30
Section C 20
Total 80

There are 21 guestions in this book
SECTION B and C

Total Time : 1 h 45 min (Booklet A and B)

INSTRUCTIONS TO CANDIDATES
DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO.
FOLLOW ALL INSTRUCTIONS CAREFULLY.
ANSWER ALL QUESTIONS.

This question paper consists of 8 printed pages.
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Section B: { 30 marks )

Questions 16 to 30 carry 2 marks each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units
stated.

16.  Form the smallest 4-digit even number using the numbers below.

Ans:

17.  What are the nurnbers in the boxes below?

i 3

Ans;

1
18.  Which of the following fractions is greater than > ?

I
O |
i
~1 [

Ans:

19.  Find the quotient when 432 is divided by 4.

Ans:

Da not write
I this Gotumn
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20.

Molly left her home at 12.45 p.m.
She reached Orchard Malt at 1.10 p.m.

How long did she take to travel from her home to Orchard Mall?

Do not write
In this column

Ans: minutes

21. Mis a 4-digit number. The digit in the ones place is the smallest odd number.

The digit in the tens place has a value of 40,

The digit in the hundreds place is double the digit in the tens place.
The digit in the thousands place is 5 more than the ones digit.

What number is M?

Ans:

22.  How many angles inside the figure below are smaller than a right angle?
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Do not write
In this columpn

23.  Patricia bought 3 comic books. She gave the cashier $50 and received a
change of $5. How much did each comic boak cost?
Ans: $
24. Vase Kettle
1A 150 mA 3A 25 mA
The kettle contains A mA more than the vase.
Ans: i mi
Ahmad had some money. He bought a plate of chicken rice for $5.50 and a

25.

drink for $1.40. He had 65 cents left. How much did he have at first?

Ans: §
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Do not write
| In this column
26. A movie was 1 h 40 min long. It ended at 3 p.m.
At what time did the movie start?
Ans: ' p.m.
27.  Mrs Lim had 60 hadges: She bought 12 more badges and gave them equally to
each of her 8 nieces. How many badges.did each niece get?
Ans;
28. Draw a line perpendicular to fine AB through point X,
B
LN
X
A
I 6
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Do naot write
In this cojumn

The bar graph below shows the number of pupils in four enrichment classes.
Study the graph and answer questions 29 and 30.

F 3
24—
I e T T T

Number 7
pupils B afiuiaiataiatdal b 7
£ -3 I {igf,

;4.,.(

8 — %
4— é/f
— ; /4

w
=

29. Class 3C has times as many pupils as Class 3A.

Ans

30. When a test was given to all the pupils in the 4 classes, 17 pupils failed.
Find the total number of pupils who passed the test.

Ans:

“

End of Section B

5 é_i
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Do not write

in this column -
Section C: (20 marks) -
Questions 31 to 34 carry 3 marks each. Questions 35 to 36 carry 4 marks each
Show your working clearly and write your answers in the spaces provided.
31. Ata book fair, 1309 books were sold on Saturday and Sunday.
490 books were sold on Sunday.
How many more books were sold on Saturday than on Sunday?
Ans: { 3 marks )
32.  George saved thrice as much money as Hannah.
frene saved twice as much money as Hannah..
They saved $540 altogether.
How much did lrene save?
Ans: { 3 marks )
— 6
6
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Bo not write

In this calumn
33. Miss Tan bought as many mangoes as papayas. Each méngo cost $6 and each
papaya cost $2. She paid $96 for all the fruits.
{(a) How much did she pay for 1 mango and 1 papava?
(b} How many mangoes did she buy?
Ans: a) {1 mark )
b) { 2 marks}
34. Rahim eams $75 every day. Ali earns twice as much as Rahim.
Colin eams 3 times as much as Ali.
How miich do the 3 men eam altogether in one dav?
Ans: ( 3 marks )
6
7
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'35, John spent 1 h 20 min tidying his room. Mary spent 25 minutes less than John to
tidy her room.
a) How much time did Mary spend tidying her room?
b) What was the total time both children took to tidy their rooms?

Ans: () { 2 marks )

{b) (2 marks )

38. There were 342 boys and giris in a schooi hall. After 30 boys left the hall, the
number of girls at the hall was three times the number of the remaining boys.
How many girls were there in the hali?

Ans: (4 marks )

END OF PAPER
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Q21. ERAY

Q22. 5

Q23. $15

Q24. N M
25 $7.55

Q26.
Q27. 8

1.20 p.m

: 2018

LEVEL - PRIMARY 3
SCHOOL  :  SINGAPORE CHINESE GIRLS’ SCHOOL
S T :  MATHEMATICS
TREM ; S

2 4 4 : 1 : ; 3

3
BOOKLET B

- Q16. —
Q17. 2.9
5

Qis. 8
Q19. 168
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- Q28,

B
//’
L/
A
Q29. 2
Q30. 39
Q31. 1309 - 490 = 819
819 — 490 = 329
Ans: 329
Q32. 540 + 6 = 90
90 x 2 =180 .

Ans: $180

Q33. a) 6+2=8
b) 96+8=12
Ans:a) $8
b) 12
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Q34. 75 x 2 =150
150 x 3 = 450
450 + 150 + 75 = 675

Ans: $675

Q35. a)
b)

Ans: a)
b)

80 -25 =55

80 + 55 = 135

135 min = 2 h 15 min
55 min

2 h 15 min

Q36. 342 - 30 = 312
312 +4 =178
78 x 3 = 234

Ans: 234

S

END OF PAPER
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2018 PRIMARY 3 SEMESTRAL ASSESSMENT 2

Name: ( ) Date: 24 October 2018
Class: Primary 3 { ) Time: 8.00 a.m.-2.00 a.m.
Parent's Signature: ' Marks: / 50
MATHEMATICS
PAPER 1

(Booklet A and Booklet B)

INSTRUCTIONS TO CANDIDATES

Write your name, class.and register number.

Do not turn over this page until you are told to doso. |

1
2
3. Follow dll instructions carefully.
4
5

Answer all questions. '| Booklet A 10 |
The duration for Paper 1 is 1 hour. Booklet B 10
Paper 2 30

—
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Paper 1 Booklet A

Multiple Choice Queslions

Questions 1 to 10 carry 1 mark each.

For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). SRR

shade the correct oval (1, 2, 3 or 4) on the Opfical Answer Sheet. (10 marks}

1

The value of the digit § in 5920 7

(1)
{2)
(3)
(4)

9

90
900
9000

What is the difference between 9733 and 250 7

(1)
(2}
(3)
{4)

: 1
Which of the following does not have the same value as > ?

(1)
(2)

(3)

“w .

Slo Slw ®1 NIV

9483
9523
2583
9983

2
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Which of the following fractions is the greatest?

UNE
. R
(3) %
4 =

The fime now is 3.20 p.m. What time was it 25 minutes ago?

1} 220pm.
23  255p.m.
(3 325pm.
(4}  3.45p.m.

i
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é. Study the fines below carefully. Which fine is paraliel to XY?

S W Y

1y PQ
(2) RS
3) Ut
(4) VW

7. What is the mass of the bag of rice?

(2) 266 g '-
(3) 2300g
(4) 26009

"
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8.

The figure below is made up of a rectangle and q triangle.

Find the perimeter of the figure.

By

{2)

(3}
{4)

10 em’
10cm
34 cm
43 cm
50 cm
57 cm

The figure below is made up of 7 idenfical squares. Find the areq of

13)

the figure.

(n 175 cmz2

2 e
250m7

(4} 80 cm?2

-5cm
-

-
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10.

The graph shows the number of watermelons a fruit seller sold at a

| funfcur

| Fruit Seller A |

| Fruit Sefler B

Fruit Seller G-

Fruit Seller D.

®
® @

Each

=

stands for 4 watermelons.

Fruits Sellers B, C and D sold

(1) 56
(2) 48
(3 14
(4 12

watermelons altogether.
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Paper 1 Booklet B
Short Answer Questions

Questions 11 to 20 canry 1 mark each, Write your answers in the boxes
provided. For questions which require units, give your answersin the units
stated. : o {10 marks})

11. What is the missing nurrib'e'r' ih:tﬁé' box’? .
2 8 5 2
+ 46 0 [

8 9 2 3

12. Mr Wong bought two shirls,
He gave the cashier $140 and received $3.40 as change.

Which two shirts did he buy?

and
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13.  Mark wants to shade % of the figure below. How many more squares
must be shaded? ' '

14. Edwin studied from 3.10 p.m. to 4.55 p.m. How long did he study?

h min

15. Is the angle below greater or smaller than a r_ight angle?

than o righf angle

-

Need a home tutor? Visit smiletutor.sg



_Ekpress-your answer in the simplest form.

17. 4 similar cylinders are placed on the balance scale below.
What is the mass of one cylinder?

s

18. How many faces does a cube have? S - -

faces

—c

Need a home tutor? Visit smiletutor.sg



Study the graph carefully and answer questions 19 cmd 20.

19. Fandi, Sundram and David ran a total of 20 rounds oround a runnmg
frack. Sundram ran the greatest number of rounds ' '

Complete the picture grc:ph by f:limg |n ihe nqmes Sundram cmd
Fandi : , : J

Q3

RIS
N

¢ |0

David

Each @’stand's for 2 rounds.

20.  How many fewer rounds did David complete than Sundram?

rounds

End of Paper
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2018 PRIMARY 3 SEMESTRAL ASSESSMENT 2

Name: Date: 24 October 2018

Class: Primary 3 { )

Parent’s Signature:

MATHEMATICS
PAPER 2

30

- INSTRUCTIONS TO CANDIDATES

1.  Write your name, class and register number.

Do not turn over this page until you are ’foid fo do so.
Follow all instructions carefully

Answer all questions.

S

Show your working clearly as marks are awarded for comrect
working.

6.  The duration for Paper 2 is 1 hour.

-—
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Questions 1 to 10 cany 3 marks each. Show your working ciearly in the space
provided for each guestion and write your answers in the spaces provided.
For quesfions which require units, give your answers in the units sfcfed (30 :
marks}) . o

1. = “Kassim collected 2639 marbies.
- He collected 456 fewer marbles than-Jeremy. -
_ (a) How many marbles did Jeremy collsct?

{b) How many marbles did they collect altogether?

{a} Jeremy collected marbies.

{b)They collected marbles aliogether.

Ans: a)

b)

2. Samantha's mother is 30 years older than her.
Their total age is 56 years.

- How oid is Samdn’rha?

Samantha is years old.

Ans:
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There was an equat number of students in Group A and Group B at
first. After 16 studenis'feff-Gron A fp‘ join GroUp B, f_here were three
times as many ‘studens. in ‘Group B’ as in Group A. How many

students were there in éach group af first?

There were students in each group at first.

Ans:

The {otal cost of 2 Adult a_nd 2 Child tickets to the zoo was $1146.
An adult ticket costs $10 more than a child ficket.
Find the cost of 1 child ficket.

1 child ticket costs

Ans:
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5. Joanne paid $200 for a gold chain.
She paid for it with 16 $10 notes and some $5 notes,

She used 35 notes.

Ans:

6.  Thelength of a school field is 2 fimes its breadth,
‘ The perimeter of thé school field is 132 m.
What is the length of the field?

The length of the fieldis

Ans:

-
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7. The graph below shows the number of stamps collected by some

boys. -

70 T

e T - -

60

50

Number
of stamps 40

collectied
30

20

10

Harmry Liam Malik Lovls

{a) ~ Louis collecied 25 stamps.

Draw the bar to show the number of stamps Louis collected.
{b) Who collected twice as many stamps as Hamry?
(c} How many more sic"'m ps than Louis did Malik coliect?

o (b) ___ coliected twice as many stamps as Harry. _- "
{c} Malik collected more stamps. |

Ans: [b)
{c)

-—

Need a home tutor? Visit smiletutor.sg



8. There are 8 flag poles placed at equal distance apart.

What is the distance between the first and fifth flag pole?

. The distance between the first and fifih fiag pole is _

Ans:

——
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9. Four identical rectangles were used to form a square.

The perimeter of the square is 48 m.

Rectangle Square

{a} Find the length of one side of the square.

(b} Find the perimeter of one rectangle.

(a} The length of oﬁe side of the square is

. _(.b'l)":‘Tl';\éi périmeter.of one rectangle is

Ans: {Q)

: {b)

-
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10.  Study the pattern shown,

SN o o e 2 o

B ] | &
ﬁgure 1 Figure 2 Figure 3 i Figure 4
a} Complete the table.
Figure 1 2 3 4
Number of squares 5 13

b) Draw and colour the Figure § in the square grid below.

c) How many squares is Figure 10 made up of?

Ans: (c) e

End of Paper 2
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ANSWER KEY

YEAR : 2018
LEVEL : PRIMARY 3

SCHOOL : TAO NANSCHOOL - - .
SUBJECT : MATHEMATICS (PAPER 1)

TERM : SA2

BOOKLET A

Q1 |3 Q2 1 Q3 1 Q4 3 Q5 |2
Q6 |4 Q7 4 Q8 2 Q9 1 Q10 {2
BOOKLET B

Ql1)7

Q12) Shirt A and Shirt C

Q13) 6 more squares

Q14) 1h45min )
Q15) greater than a right angie_
Qi6); =
Q17)180g . o

Q18) 6 faces |

-Q19) Sundram , Fandi .
| QZD) 10 rounds | %

-
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ANSWER KEY

YEAR  :2018
LEVEL  : PRIMARY 3

SCHOOL :TAONANSCHOOL

- SUBJECT : MATHEMATICS (PAPER 2)

" TERM  :SA2

Q1a) 2639+456 = 3095
Jeremy collected 3095 marbles.
Q1b) 3095+2639 = 5734

They collected 5734 marbles altogether.

Q2) 56-30 =26
26+2=13

Samantha is 13 years old.

Q3)16x2=32 .

There were 32 students in each group at first.

Q4) 10x2 =20
11620 5 95 el
96:4=24

1 child ticket costs $24.

-—
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Q5 16 x10 = 160
200—-160 =40
40+-5=8 .
ANS: 8

Q6 4+2=06
132 +-6 =22
22xx =44

ANS: 44m

Q7 (a)

(b) Liam
(c) 40—-25=15
ANS: 15

i
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Stamp


Q8)8-1=7.

112+7 =16

a-1=4

164 = 64

- The distance betwien the first and fifth flag pole is 64m.-

Q9a) 48+4 =12

The length of one side of the square is 12Zm. 3
09b) 12+4=3

12+3+12+3 = 30

The perimeter of one reectangle is 30m.

Q10a) 9,17
Q010b) b

Q10c¢) 41 squares

—
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